CIZER

—

Technical Manual

CL-S621, CL-S621C
& CL-S631

Thermal Transfer Barcode & Label Printer

CITIZEN SYSTEMS JAPAN CO.,LTD.

JM74991-00F



CITIZEN is a registered trade mark of CITIZEN WATCH CO., LTD., Japan.
CITIZEN es una marca registrada de CITIZEN WATCH CO., LTD., Japoén.
Copyright © 2010 by CITIZEN SYSTEMS JAPAN CO., LTD.

CL-S621, CL-S621C & CL-S631 ii



CHAPTER 1

CHAPTER 2

CHAPTER 3

CHAPTER 4

CHAPTER 5

CHAPTER 6

APPENDICES

SPECIFICATIONS

OPERATING PRINCIPLE

DISASSEMBLYAND IVIAINTENANCE

TROUBLESHOOTING

PARTS I_ISTS

CIRCUIT DIAGRAMS

iii CL-S621, CL-S621C & CL-S631



Safety Precautions

To prevent personal injury or property damage, the following shall be strictly observed.
The degree of possible injury and damage due to incorrect use/maintenance or improperly
following instructions is described below.

) Indicates a situation which, if not observed and handled properly, could
Warning , S
result in death or serious injury.
. Indicates a situation which, if not observed and handled properly, could
Caution o
result in injury or property damage.

A - This is a mark to call attention to the reader.

AWarning

- Before starting disassembly/reassembly or mechanical adjustment, be sure to
disconnect the power cord from the power source.

- Do not replace a fuse with the power switch turned on.

- When replacing a fuse, use the same rating and type since it is provided to prevent
fire and damage to the “Unit, Power Supply”.

ACaution

- Do not disassemble/reassemble or adjust the machine, if it functions properly.
Particularly, do not loosen screws on any component, unless necessary.

- After completing an inspection and before turning on the power, be sure to check that
there is no abnormality.

- Never try to print without media.

- Check that the media is properly set.

- Do not lay anything on the cover or lean against it during maintenance or while the
printer is in operation.

- During maintenance, be careful not to leave parts or screws unattached or loose
inside the printer.

- When handling a printed circuit board, do not use gloves, etc., which can easily
cause static electricity. Since ICs, such as CPU, RAM and ROM, might be destroyed
by static electricity, do not touch lead wires or windows unnecessarily.

- Do not put the printed circuit boards directly on the printer or on the floor.

- When disassembling or reassembling, check wires for any damage and do not pinch
or damage them. Also, run wires as they were.

CL-S621, CL-S621C & CL-S631 iv



Cuapter 1
SPECIFICATIONS

1-1 CL-S621, CL-S621C & CL-S631



1-1.
1-2.

1-4.

CHAPTER 1 SPECIFICATIONS
TABLE OF CONTENTS

General Specifications

.................................................................................................. 1-3
Printable AFa ........ it 1-8
Printing POSItION ACCUIACY.........coiiiiiiiiie e 1-9
AdJUSEADIE SENSOIS ... .ot e e e e e e e e e eaaaaa 1-10

CL-S621, CL-S621C & CL-S631 1-2



1-1. General Specifications

1-1. General Specifications

Printing
Printing method Thermal transfer/Direct thermal
Resolution Main scanning line density:
203 dots/inch (8 dots/mm) (CL-S621/S621C)
300 dots/inch (11.8 dots/mm) (CL-S631)
Sub-scanning line density:
203 dots/inch (8 dots/mm) (CL-S621/S621C)
300 dots/inch (11.8 dots/mm) (CL-S631)
Head 864 dots (effective dots: 832 dots) (CL-S621/S621C)
Head 1275 dots (effective dots: 1240 dots) (CL-S631)
Max. print width 104 mm (CL-S621/S621C) 4.1 inch
105 mm (CL-S631)
Max. print length 812.8 mm 32 inch
Print density Print density is adjustable with software

Printing speed setting | [For CL-S621/S621C]

6, 5, 4, 3 or 2 inches per second (Direct thermal)

4, 3 or 2 inches per second (Thermal transfer)

* 4, 3 or 2 inches per second when the optional peeler is used.
[For CL-S631]

4, 3 or 2 inches per second

Print mode
Batch mode Normal printing (single or multiple sheets)
Tear off mode Feeds back media to the tear-off position after printing is completed.
Cut mode *' Prints while cutting at designated sheet units.
The following two kinds of cut mode operations are available.
 Back feed
* Cut through
(Cut through refers to stopping present printing to cut the previous
label when it reaches the cut position. After cutting, printing restarts
but a gap may be created at the seam of the printing at this time.)
Peel mode*’ Peels labels from the liners after printing them.
Media
Types of media Roll, fanfold

(continuous media, die-cuts, continuous tags, paper or tickets)
Recommended media | Thermal transfer: label media (RPR-W Ricoh)
Direct thermal media: label media (150LA-1 Ricoh),

tag media (TB2EQV, Mitsubishi Paper)

Max. media width 118.0 mm 4.65"
Min. media width 19.5 mm 0.77"
Min. label width 19.5 mm 0.77"

*1: Options can be separately purchased.

1-3 CL-S621, CL-S621C & CL-S631



1-1.

CL-S621, CL-S621C & CL-S631

General Specifications

Media (continued)

paper tube

Min. label pitch*? 6.35 mm 0.25"
Max. media thickness | 0.254 mm 0.01"
Max. media length 812.8 mm 32"
Min. media length 6.35 mm 0.25"
Min. media thickness | 0.0635 mm 0.0025"
On-board roll media Max. external diameter: 127mm 5"
diameter Media core: 25.4 to 76mm 1to0 3"
Ribbon

Recommended ribbon | B110A Ricoh

Max. ribbon width 114.0 mm 4.50"
Min. ribbon width 25.4 mm 1.00"
Max. ribbon length 360.0 m 1,181 ft
Max. roll diameter 74.0 mm 2.90"
Inner diameter of the | 25.4 £ 0.25 mm 1.00 £ 0.01"

Ribbon end detection

Ribbon out detection by a tension sensor

Bar code

For Datamax® emulation**

One-dimension

*Code 30f9 +UPC-A
* EAN-8 (JAN-8)

» Case Code
* Telepen «ZIP

* UPC-E
* Interleaved 2 of 5
* HIBC (Modulus 43-used code 3 of 9)
* Int 2 of 5 (Modulus 10-used Interleaved 2 of 5)
+ UPC 2DIG ADD

* UCC/EAN 128
+ UCC/EAN128 Random Weight

« EAN-13 (JAN-13)

» Code 128
» Codabar (NW-7)
* Plessey

+ UPC 5DIG ADD « Code 93

+ UCC/EAN128 (for K-MART)

* FIM

Two-dimension

« UPS Maxi Code
* RSS

- PDF-417

« Data Matrix

* QR Code -« Aztec

. x4

For Zebra® emulation

One-dimension

e Code 11
» Code 93

* Interleaved 2 of 5
* Code 128

« UPC/EAN Extensions

e Code 39
*« EAN-13
« Standard 2 of 5 « ANSI CODABAR

* UPC-A + POSTNET

* EAN-8
* Industrial 2 of 5
* LOGMARS -« MSI
* Planet

* UPC-E

* Plessey

Two-dimension

* Code 49 +PDF-417
* Micro PDF-417

« Data Matrix

* CODA BLOCK
* QR Code

« UPS Maxi Code
+RSS «TLC39

*2: When a media pitch of less than 1" is used, set the "Small Media Adjustment" setting in the

"Page Setup" menu to "ON".
*3: Datamax” is a registered trademark of Datamax Bar Code Products Corporation.
*4: Zebra® is a registered trade mark of Zebra Technologies Corporation.

1-4




1-1. General Specifications

Font

For Datamax® emulation**
1. Seven kinds of fixed pitch font
Overseas, English fonts and European fonts
2. OCR fonts
OCR-A**, OCR-B*®
3. Proportional fonts
CG Triumvirate smooth font
CG Triumvirate Bold smooth font
(6, 8,10, 12, 14, 18, 24, 30, 36, 48 points: CL-S621/S621C)
(4,5,6, 8,10, 12, 14, 18, 24, 30, 36, 48 points: CL-S631)
» Character set: Conforms with code page 850 standards
4. TrueType™ rasterizer *°
5. Chinese fonts (For CL-S621C)
GB18030-2000, 15x16 dots, 24x24 dots
For Zebra® emulation**
1. Five kinds of fixed pitch font
Overseas, English fonts and European fonts
2. OCR fonts
OCR-A**, OCR-B*
3. Proportional font
CG Triumvirate Condensed Bold
4. True type™ rasterizer*®

Symbol set

PC866U Ukraina, PC Cyrillic, ISO 60 Danish/Norwegian, DeskTop,
ISO 8859/1 Latin 1, ISO 8859/2 Latin 2, ISO 8859/9 Latin 5, ISO
8859/10 Latin 6, ISO 8859/7 Latin/Greek, ISO 8859/15 Latin 9, ISO
8859/5 Latin/Cyrillic, ISO 69: French, ISO 21: German, ISO 15:
Italian, Legal, Math-8, Macintosh, Math, PC-858 Multilingual,
Microsoft Publishing, PC-8, Code Page 437, PC-8 D/N, Code Page
437N, PC-852 Latin 2, PC-851 Latin/Greek, PC-862 Latin/Hebrew, Pi
Font, PC-850 Multilingual, PC-864 Latin/Arabic, PC-8 TK, Code Page
437T, PC-1004, PC-775 Baltic, Non-UGL, Generic Pi Font, Roman-8,
Roman-9, ISO 17: Spanish, ISO 11: Swedish, Symbol, PS Text, ISO
4: United Kingdom, ISO 6: ASCII, Ventura International, Ventura
Math, Ventura US, Windows 3.1 Latin 1, Wingdings, Windows 3.1
Latin 2, Windows 3.1 Baltic (Laty, Lith), Windows 3.0 Latin 1,
Windows Latin/Cyrillic, Windows 3.1 Latin 5
*5: The OCR font may have a low recognition rate according to the reader.
*6: It is equipped with UFST™ and TrueType™ rasterizer that are licensed from Agfa Corporation.

TrueType™ is a trademark of Apple Computer.

UFST™ is a trademark of Agfa Corporation.

1-5 CL-S621, CL-S621C & CL-S631



1-1.

General Specifications

Control language

Conforms to Datamax® programming language*® and Zebra®
programming language**

Outline of electronic devices

CPU 32-bit RISC CPU
ROM Standard equipment: FLASH ROM 4MByte (User area: 1MByte)
For CL-S621C and CL-S621 (Korea version):
FLASH ROM 12MByte (User area: 4MByte)
RAM [For Datamax® emulation]

Standard equipment: SDRAM 16MByte (User area: 1MByte)
For CL-S621C and CL-S621 (Korea version):
SDRAM 16MByte (User area: 4MByte)
[For Zebra® emulation]
Standard equipment: SDRAM 16MByte (User area: 4MByte)

Media detection sensors

Transparent sensor

Detects media gap between labels, notches on tags, and media out

Reflective sensor

Detects reflective mark on back of media and media out

Label peeling sensor *'

Communication interfaces

Serial

2400 4800 9600 19200 38400 57600 115200 bps

USB

FULL Speed USB1.1

Communication interface options

Parallel

IEEE1284 (Compatible, Nibble, ECP mode)

Network

Ethernet interface

Indications and switches

LED

POWER, PRINT, CONDITION, ERROR

Buzzer

Alarms, errors, etc.

Operating panel keys

PAUSE, FEED, STOP, MODE/REPEAT

Head-up detection
sensor

Detects head open.

Power switch

Turns power on and off.

Power supply

120V version

120V (-10%+6%), 2.5A, 60Hz (U.S.A., Canada)

UL60950-1, CSA No. 950, FCC Part 15 Subpart B (Class A)

220V version

220V-240V (-10%+6%), 1.2A, 50/60Hz (Europe)

EN60950-1, EN55022 (Class A), EN55024, EN61000-3-2,
EN61000-3-3

Power consumption (max. value)

120V version

64W (operating at 12.5% printing duty), 10W (standby) (CL-S621)
66W (operating at 12.5% printing duty), 10W (standby) (CL-S631)

220V version

64W (operating at 12.5% printing duty), 10W (standby)
(CL-S621/S621C)
67W (operating at 12.5% printing duty), 10W (standby) (CL-S631)

CL-S621, CL-S621C & CL-S631

1-6




1-1. General Specifications

Others
Environment Operating temperature conditions:

Operating temp. 0 to 40°C, humidity 30 to 80%, condensation free
(Conditions: ventilation, and natural convection)
Storage temperature conditions
Temp. -20 to 60°C, humidity 5 to 85%
(Conditions: ventilation, and natural convection)

80 85
2
x40 °
>
:-§ —
E g
T
T
30
5
0 5 35 40 -20 60
Temperature °C Temperature °C
[ Operating assurance temperature [ Storage assurance
@@ Printing assurance temperature temperature

[Operating and printing assurance condition] [Storage assurance condition]
External dimensions | Approx. 231 (W) X 289 (D) X 263 (H) mm

9.1 (W)X 11.4 (D) X10.3 (H)"

Weight Approx. 4.9 kg (10.8 Ib.)

Accessories Test label media, Test ribbon, CD-ROM (User's Manual), Quick start

guide, Head cleaner, Power cord, Media holder bar and Media holder
guide, Ribbon holder, Paper core

Option Auto-cutter unit, Peeler unit, Parallel I/F board, Ethernet I/F board

1-7 CL-S621, CL-S621C & CL-S631



1-2. Printable Area

1-2. Printable Area

The printable area of the printer is as follows:

When media is set to the printer, it must be aligned with the media guide at the left of the printing
mechanism. Though the available maximum media width is 118 mm (4.65"), there are unprintable
areas on both sides: 2.5 mm (0.10") width is on the left side and 11.5 mm (0.45") (for
CL-S621/S621C)/ 10.5 mm (0.41”) (for CL-S631) width on the right side.

The left side unprintable area applies for any size media.

Media guide

Maximum media width: 118 mm (4.65")

Unprintable area

1
d i
W Lepd
I
1
I
I

Printable area

»la »lg »
] Vl‘ Vl‘ L}

2.5mm (0.10")

Reference end

Direction of media feed

\

MODEL H R
104.0 mm 11.5 mm
CL-S621/S621C (4.09) (0.45)
105.0 mm 10.5 mm
L- 1
CL-S63 (4.13") (0.417)

CL-S621, CL-S621C & CL-S631 1-8



1-3. Printing Position Accuracy

1-3. Printing Position Accuracy

By default, the printing start position is 2.5 mm (0.10") from the left end of the media and 1 mm
(0.04") backward the leading edge of the label, U-shaped notch, or black mark.

2.5 mm (0.10") is the necessary value to avoid printing in the unprintable area as mentioned in 1-2
"Printable Area".

The printing start position will deviate from the ideal position as follows:

’ Maximum media width: 118 mm (4.65")

Y.

Printable area

100 + 2 mm**
(39.4 + 0.08")

2.5+ 1 mm*
(0.10 £ 0.04")

Actual printing start position*’

;;
o |
S v |
S :
e b t
- i Ideal printing start position 1+ 2 mm*
' : (0.04 £0.08")
2.5 mm

(0.10™)
5 Direction of media feed

Reference edge
(Paper guide)

*1: Actual printing start position. May deviates from the ideal one in the indicated range.

*2: Deviation of vertical positioning when printing position is set to 0.

*3: Deviation of horizontal positioning when printing position is set to 0.

*4: Deviation of vertical printing position when 100 mm is specified from the printing start
position.

1-9 CL-S621, CL-S621C & CL-S631



1-4. Adjustable Sensors

1-4. Adjustable Sensors

There are two media sensors; the upper sensor (transparent sensor) and the bottom sensor
(reflective sensor). The upper sensor is used to detect the labels on the liner or the U-shaped
notches of tag. The bottom sensor is used to detect the black marks on tag. Also, both sensors are
used to detect media end.

The mechanical adjustable range of both sensors is equal and they are adjustable independently.
When both sensors are moved to the left end or the right end (center of the printing mechanism),
both sensors coincide for detecting notch or label.

For details about the media sensors, refer to “2-1-3 Label/Tag Detection Mechanism".

Media guide Center
! -0.2t0 57.9 mm

' (-0.01 to 2.28") K

1

| Moveable range of sensors | i

25mm i H R .
(0.10M ) o . !
Maximum media width: 118 mm (4.65") .

' Direction of media feed

MODEL H R
104.0 mm 11.5 mm
L-S621/S621
CL-S621/5621C (4.097) (0.45”)
105.0 mm 10.5 mm
L- 1
CL-S63 (4.13") (0.417)

CL-S621, CL-S621C & CL-S631 1-10



CHAPTER 2

OPERATING PRINCIPLES

2-1 CL-S621, CL-S621C & CL-S631



2-1.

2-2.

CHAPTER 2 OPERATING PRINCIPLES
TABLE OF CONTENTS

Operation of Each MeChaniSM .........ccooiiiiiiiiicic e
2-1-1. Locations and Functions of Motors, Sensors and Thermal Head ......................
(1) “Unit, Ribbon” section...........cccoioiiiiiiiicic e,

(2)  Printing SECHON ......coi i

2-1-2. Media Feed MeChaniSm ..........ooooiiiiiiii e
2-1-3. Label/Tag Detection MechaniSm............coooiiiiiiiiiiiiii e
2-1-4. Printing and Ribbon Feed MechaniSm ...
2-1-5. Print Head Up/Down Detection Mechanism .............cccccoveeeiiiiiiiiieiiicie e,
2-1-6. Head Balance Adjustment Mechanism .................euuuiiiiiiiiiiiiiiiiiiieee
2-1-7. Media Offset Adjustment MechanisSm.............cccuiiiiiiiiiiiiii e
Operation of Control PartS ...........uuiiiiiiiiic e
2-2-1. Configuration of Printer............ooi e
(1) Filter & power supply SECHION ........cooomiiiiiii e

(2)  MaIN PCB.... ..t

(B)  Operation PANEL........ccce i

(4) Thermal print head.........coviiiiiii e

(B)  SBNSOIS. ..ttt a e

(S T, (o TR

(7)  Serial I/F (RS-232C)....ceiiiiiiiiiiiiiiieiiieeieieieeeeeeeeeeeeeeeeeeeaeeeeeeeeeensesesessnsnnnnnnes

(8) USB (Universal Serial BuS) I/F .........covviuiiiiiiei e

(9) Parallel I/F (IEEE1284) (OPtion).....cccuueiiiiiiieeiiiiiiiiieeeee e

(10) Ethernet I/F (OPtion) ......eeeeiiieieeeeeeee e

2-2-2. Operation of Control UNit...........coouiiiiiiiiie e
(1) BIOCK diagram ........oooiiiiiiiiieiei e

02 T 1Y/ (=T 0 T YA 4 T T o IR

(B)  SBNSOIS. ..ttt a e

(3-1)  Head Up SENSOI .......eii i e

(3-2) Transparent sensor and reflective sensor............ccccccceeeeieeeeniennn,

(3-3)  Tension SenSOr F/R ...

(3-4) Head temperature SENSOr.........ccoiiieeiiiiiiiccee e

(3-5) PF motor temperature SENSOr..........cooiiiiiiiiiiiiee e

(3-6) Ribbon motor temperature Sensor...........cccceviiieiiiiiiiiiie e,

(4)  DIIVEIS et e e e e e

(4-1)  PF MO0 AriVEI ...t

(4-2) Ribbon motor driver............couvuiiiiiiiie e

(4-3)  Head driVer.......cceeiieieeeiee e

(4-4)  BUZZEIN AlIVEN ..o

(4-5)  Fan driVEr ..cccooiieeeee e

() I @ 1 1= o] o U TR

(5-1)  +3.3V/H1.5V CIrCUIt ...

(5-2)  RESEt CIFCUIL ..

(5-3)  ClOCK CIFCUIL......coviiiiei e

CL-S621, CL-S621C & CL-S631 2-2



(5-4)  OPE-PANE CIFCUIL .....eeiiiiee ettt e e 2-34

(5-5)  USB I/F control CirCUIt...........uueueeiiiieeiiiiiieeeee e 2-34

2-3. Operation PanEl.............ciii i 2-35
2-3-1. EXEEIrNAl VIBW ...ttt e e e e e e e e e e eeeees 2-35
L T £ G2 V= S RUT 2-35

(2)  LEDS .. e 2-35

2-3-2. Operation using the KEYS .......ccooiiiiiiiiii e 2-36
(1) Normal Operation............couuuiiiiii i e 2-36

(1-1)  Sensor adjustment MOde............coeeiiiiiiiiiiiiiiiiee e 2-36

(1-2)  Menu setting Mode..........ooooviiiiiii e 2-37

(2)  TESEMOTE ...t 2-38

(2-1)  Self print MO .ccvvvei i 2-38

(2-2)  Hex dump MOE .......cooiiiiiiiiiiieiiee e 2-39

(3) Factory/Service MOUE ..........oeeuiiiiiiiiiiiiieei e 2-39

(B-1)  GENEIAl ... 2-39

(3-2) How to enter the Factory/Service Mode............ccooiiiiiiiiiniieennnn. 2-40

(3-3) Factory/Service Mode menu table ............ccccoooovviiiiiiiiiiiieeeece, 2-46

S [ | (= 3 - Vo - 2-51
2-4-1. Serial INterface ........oooiiiii e 2-51
L S o 1= e o= 4[] 1= ST 2-51

(2) Signal line and pin a@sSigNMENT.............ueiiiiiiiiiiiii e 2-51

() ProtOCOL... ..o 2-52

2-4-2. USB INTEIACE ....uuuiiiiiiiiiiii s 2-53
L S o 1= T o= 4[] 1= ST 2-53

(2) Signal line and pin arrangement.............ccouiiiiiiiiiiiiiieaa e 2-53

2-4-3. Parallel Interface (OPtioN)........coiiiiiiiiieiiie e 2-53
L S o 1= o (o= 4[] 1= SRR 2-53

(2) Signal line and pin a@sSigNMENT.............uuiiiiiiiiiiiiieee e 2-54

(3) Parallel port status signals when an error OCCUrs ..............covvvvvceeieeeeeeennnn, 2-54

(4) Compatible timing specification ...............ccceiiiiiiiiiiiii e 2-55

DT o 1Y =T S 10 o] o] Y2 PPN 2-57
2-5-1. BIOCK diagrami........ccoooiiiiiii e 2-57
2-5-2. Block A (Noise filter circuit and rush current preventing circuit).................c....... 2-60
2-5-3. Block B (Current smoothing CirCuit)............ccovveiiiiiiiiicic e, 2-60
2-5-4. Block C (Converter and driver CIrCUIt) ...........oocuuiiiiiiiieiiiiiiiieeee e 2-60
(1) Converter CirCUIL.........coiiiiiicee e e 2-60

(2)  DIIVEE CIFCUIL ....eeeeeeiiee ettt e e e e e e 2-61

2-5-5. BIOCK D (OULPUL CIFCUIL).....eeeeeiieieiiiiiiie e 2-62
2-5-6. BIlock E (Control CIFCUIL) ........cceeiiiiiiiiie e 2-62

2-3 CL-S621, CL-S621C & CL-S631



2-1. Operation of Each Mechanism

2-1. Operation of Each Mechanism

This printer is a thermal transfer barcode & printer comprised of the following mechanisms:
media feed, ribbon feed, label/tag detection, print head up/down detection, head balance
adjustment and media thickness adjustment.

This section describes the operation of each of these mechanisms.

2-1-1. Locations and Functions of Motors, Sensors and Thermal Head

This printer has the following motors, sensors and thermal head.

(1) “Unit, Ribbon” section

Part name Description
Ribbon Motor F This motor takes up ribbon. A thermistor is attached to the side
(Front side) surface of this motor to detect the motor temperature.
Ribbon Motor R This motor gives back tension to ribbon.
(Rear side)
Tension Sensor F This sensor is a photointerrupter which detects if appropriate tension
(Front side) is given to the take-up side ribbon or not.
It also detects a ribbon-running error.
Tension Sensor R This sensor is a photointerrupter which detects if appropriate tension
(Rear side) is given to the supply side ribbon or not.
It also detects the ribbon end status.

Ribbon Motor R

Ribbon Motor F
Tension Sensor R

Tension Sensor F

CL-S621, CL-S621C & CL-S631 2-4



(2) Printing section

2-1. Operation of Each Mechanism

Part name

Description

PF Motor

This motor feeds media. A thermistor is attached to the side surface of this
motor to detect the motor temperature.

Head Up Sensor

This sensor is a photointerrupter to detect the print head position; up or
down.

Transparent Sensor
(Upper sensor)

This sensor is a photo sensor to detect the labels stuck on liner or
U-shaped notches on tag. It also detects the media end.

Reflective Sensor
(Bottom sensor)

This sensor is a photo sensor to detect the black marks on tag. It also
detects the media end.

Thermal Head

It consists of a head driver and thermal elements. Thermal elements are
heated to make printing on media. The thermal head incorporates a
thermistor to detect the thermal head temperature.

Thermal head

Transparent sensor ‘

Reflective sensor

~

—1/.

Head up sensor and
protrusion

A
,

PF motor

2-5 CL-S621, CL-S621C & CL-S631



2-1. Operation of Each Mechanism

2-1-2. Media Feed Mechanism

The major components of the media feed mechanism are:
(a) SA, Motor
(b) SA, Platen
(c) Gear train

By setting the head block to the down position, media is pushed against the “SA, Platen” by the
“SA, Head".

As the “SA, Motor” (stepping motor) turns counterclockwise viewing from the right side of the
printer, the “SA, Platen” turns counterclockwise via the gear train (“Gear PF1”, “Gear PF2” and
“Gear, PF Idle”) and media is fed forward by the friction force produced between the “SA, Platen”
and the “SA, Head”.

When the “SA, Motor” turns clockwise, media is fed backwards.
One step of the “SA, Motor” feeds media by 1/16 mm (0.0025").

Thermal Elements -
SA, Head
o
. h —
/©~\ O - SA, Motor (a)
SA, Platen (b) Z \ D
) \ Media
Gear, PF Idle (c) " “Motor Gear (c)
Gear, PF2 (c) Gear, PF1 (c)

[Right side view]

CL-S621, CL-S621C & CL-S631 2-6



2-1. Operation of Each Mechanism

2-1-3. Label/Tag Detection Mechanism

The major components of the label/tag detection mechanism are:
(a) Movable reflective sensor (Bottom sensor)
(b) Movable transparent sensor (Upper sensor)

There are two movable sensors, the reflective sensor (bottom sensor) and the transparent sensor
(upper sensor). As shown in the figure blow, the reflective sensor has two LEDs and one
phototransistor. The reflective sensor is used to detect black marks at the back of tag. On the other
hand, the transparent sensor is a phototransistor that will receive the transparent light from the
LEDs through the media. The transparent sensor is used to detect labels on liner or U-shaped
notches of tag. Both reflective and transparent sensors are used to detect the media end.

Aligning the sensors for label paper or tag with U-shaped notches:

For label paper, both reflective and transparent sensors should be manually set at the center of
label. For tags with U-shaped notches, both sensors should be manually aligned with the U-shaped
notch. In both cases, the arrow mark of the transparent sensor should be aligned with the right side
mark of the reflective sensor.

Aligning the reflective sensor for tag with black marks:
For tag with black marks, the reflective sensor alone should be aligned with the black mark. In this
case, the left side mark should be aligned with the black mark.

[For label paper/tag with U-shaped notches]

T ® Photo- Transparent
transistor Sensor

Phototransistor

LEDs
N\ Reflective
8 Sensor
Q
Q
%
Q e

2-7 CL-S621, CL-S621C & CL-S631



2-1. Operation of Each Mechanism

Detecting labels: (Media Sensor menu: “See Through”)

For detecting label, both reflective sensor and transparent sensor are used. Label paper passes
between both sensors. The light emitted from the LEDs of the reflective sensor passes through the
liner (base part of label paper) where no label is stuck on it, and the light reaches the transparent
sensor. Accordingly, the phototransistor of the transparent sensor turns ON. Meanwhile, in the
label part, the light is blocked by label and does not reach the phototransistor. So, the
phototransistor turns OFF. By sensing the output of the transparent sensor, the CPU on the Main
PCB can detect the label leading edge for printing.

Detecting U-shaped notches of tag: (Media Sensor menu: “See Through”)

For detecting U-shaped notches of tag, both reflective sensor and transparent sensor are used.
The U-shaped notches are detected in the same way as the label mentioned above, except that
the light is directly falls on the transparent sensor through the notch.

Detecting black marks on tag: (Media Sensor menu: “Reflect”)

For detecting black marks on tag, only the reflective sensor is used. Light emitted from the LEDs is
reflected by the tag (at other than the black mark) and reaches the phototransistor of the reflective
sensor. At the black mark, the light is not reflected. The CPU on the Main PCB detects the black
mark by sensing the output of the reflective sensor.

Label Tag
U-shaped
La/bel Foteh Black mark
Label gap — s
Media
Liner e
Transparent and Reflective sensors Reflective sensor
Transparent sensor
] ]
Sensor to be _ A
used Medw::: ——— Media
LEDs LEDs
Reflective sensor Reflective sensor
Media Sensor
menu See Trough Reflect

CL-S621, CL-S621C & CL-S631 2-8



2-1. Operation of Each Mechanism

Detecting continuous media: (Media Sensor menu: “None”)
For detecting continuous media, only the reflective sensor is used. In this case, only media end is
detected by the reflective sensor.

LED light amount control:

According to the media selected by the Media Sensor menu (“See Through”, “Reflect”, or “None”),
the amount of light is well controlled to detect the label/U-shaped notch, black mark, or continuous
media. The amount of light is as follows (the largest amount is for “See Through):

 Continuous media (None) < Black mark (Reflect) < Label/U-shaped notch (See Through)

2-9 CL-S621, CL-S621C & CL-S631



2-1. Operation of Each Mechanism

2-1-4. Printing and Ribbon Feed Mechanism

The major components of the printing and ribbon feed mechanism are:

(a) SA, Head (d) SA, Ribbon Tension Shaft F/R
(b) SA, Ribbon Motor F/R (e) SA, Tension Sensor (Front/Rear)
(c) Ribbon gear train

Ink ribbon is set to the printer using the ribbon holders. Ribbon is supplied from the supply reel and
is taken up by the take-up reel with adequate ribbon tension, via the “SA, Ribbon Tension Shaft
F/R”. The “SA, Ribbon Tension Shaft F/R” is always pushed outward by the internal springs, and,
when ribbon slacks, it moves outward. When ribbon tightens, it moves inward. (Refer to the figures
on the later pages.)

The same tension sensor is installed on the take-up and supply sides. The tension sensor on the
take-up side is used to detect the position of the “SA, Ribbon Tension Shaft F”, i.e. the ribbon
tension on the take-up side. While, the tension sensor on the supply side is used to detect the
position of the “SA, Ribbon Tension Shaft R”, i.e. the ribbon tension on the supply side.

The tension sensor on the take-up side is also used to detect a ribbon running condition, and that
on the supply side is used to detect the ribbon end.

On the take-up side, the Ribbon Motor F turns to take up ribbon. On the supply side, the Ribbon
Motor R turns to supply ribbon, while applying adequate back tension to ribbon to eliminate ribbon
slack.

Printing:
When printing with ink ribbon, ink on the ribbon is melted by the heated thermal element of the “SA,
Head” and is transferred on the media surface.

Taking up Ribbon:

Ribbon will be taken up on the take-up side as follows:

(1) As media is fed, ribbon is also fed by the friction force produced between media and the “SA,
Head”.

(2) Ribbon slacks and the tension sensor on the take-up side turns OFF as the “SA, Ribbon
Tension Shaft F” is pushed outward.

(3) The Ribbon Motor F starts to turn and ribbon is taken up.

(4) Ribbon tightens and the tension sensor on the take-up side turns ON. Then, the Ribbon Motor
F stops.

Supplying Ribbon:

On the supply side, the Ribbon Motor R turns to supply ribbon, while applying adequate back
tension. In the same way as on the take-up side, the tension sensor on the supply side detects the
ribbon tension to keep the ribbon tension constant. However, when printing is made and ribbon is
fed, the tension sensor on the supply side turns ON since ribbon is tightened at this time.

CL-S621, CL-S621C & CL-S631 2-10



2-1. Operation of Each Mechanism

Reel Drive Mechanism:

Though the ribbon holders are directly installed in the reels, ribbon is connected to the reels via the
spring mechanism of the ribbon holders. This means that ribbon is taken up via the spring
mechanism when the Ribbon Motor F/R turns.

On the take-up side, the Ribbon Motor F turns in the clockwise direction viewing from the right side
of the printer, the “Gear 5F, Ribbon” (take-up reel) turns in the counterclockwise direction via the
Ribbon Gears 1, 2, 3 and 4, and ribbon is taken up.

On the supply side, the rotational direction of the Ribbon Motor R differs depending on the ribbon
winding type to be used. In the case of the outside-wound ribbon as shown in the following figure,
the Ribbon Motor R turns in the counterclockwise direction, the “Gear 5R, Ribbon” (supply reel)
turns in the clockwise direction via the “Gear 1, Ribbon”, “Gear 2, Ribbon”, “Gear 3, Ribbon” and
“Gear 4, Ribbon”, and ribbon is supplied.

Taku-up Side Supply Side

Gear 5F, Ribbon  Ribbon Motor R
Gear 1, Ribbon

/

Ribbon Motor F

Gear 5R, Ribbon

Gear 1, Ribbon

Gear 2, Ribbon

Gear 3, Ribbon

SA, Ribbon Tension P7%
Shaft F ; Gear 3, Ribbon

Platen —
; SA, Ribbon Tension
Media — Shaft R

2-11 CL-S621, CL-S621C & CL-S631



2-1. Operation of Each Mechanism

Detecting Ribbon Tension (Tension Sensors):

The same tension sensor is installed on the take-up and supply sides. Since the operation is the
same on both sides, the take-up side operation is explained here:

When ribbon is taken up, it tightens and the “SA, Ribbon Tension Shaft F” is pushed inward (in the
direction of “A”). At this time, the claw “C” of the “SA, Ribbon Tension Shaft F” is inserted into the
photointerrupter of the “SA, Tension Sensor”, and the photointerrupter turns OFF.

When printing starts, ribbon is fed forward together with media and it slacks. At this time, the “SA,
Ribbon Tension Shaft F” is moved outward (in the direction of “B”) by the spring (“D”) force, and
the claw “C” comes off the photointerrupter. So, the photointerrupter turns ON and the Ribbon
Motor F starts to turn to take up ribbon. Then, the claw “C” is inserted into the photointerrupter
again, and the Ribbon Motor F stops.

This cycle is repeated and constant tension is applied to ribbon.

On the supply side, when printing starts, ribbon is tightened contrary to the take-up side, and the
tension sensor turns ON. Then, the Ribbon Motor R turns to supply ribbon.

D Springs

Tension Adjustment
Knob (Front)

[Right side view]

SA, Ribbon SA, Tension Sensor
Tension Shaft F  (Photointerrupter)

Ribbon

Ribbon

Tension Adjustment
Knob (Rear)

Tension Adjustment Mechanism:

To apply adequate ribbon tension, you can change the spring (“D”) force as follows:

- Ribbon Tension Adjustment Knob F/R (for users)
Changes the spring force. The spring force is adjustable in 3 steps. As you move the knob
toward the ¥ mark, the spring force becomes stronger .

- Tension Adjustment Screw (for service personnel)
Can finely adjust the spring position. For details, refer to “3-6-3 Ribbon Tension Adjustment”.

CL-S621, CL-S621C & CL-S631 2-12



2-1. Operation of Each Mechanism

2-1-5. Print Head Up/Down Detection Mechanism

The component of the print head up/down detection mechanism is as follows:
(a) Head up sensor
(b) Protrusion that engages in the sensor

The print head up/down detection mechanism detects the up (open)/down (close) status of the
head block.

When the head block is in the up position, the protrusion “A” is disengaged from the head up
sensor. At this time, the head up sensor turns ON and “Low” level is output from the head up
sensor.

While, the head block is in the down position, the protrusion “A” is engaged in the head up sensor.
At this time, the head up sensor turns OFF and “High” level is output from the head up sensor.
The CPU on the Main PCB detects up or down position of the head block by sensing the output of
the head up sensor.

Head Block Head Block "Up" position
/ .
~ Photo
A \H Interrupter

A
SA, Head Up Sensor PCB
Head Block "Down" position
S Photo
A s Interrupter
Head Up Sensor
(SA, Head Up Sensor PCB) SA, Head Up Sensor PCB

2-13 CL-S621, CL-S621C & CL-S631



2-1. Operation of Each Mechanism

2-1-6. Head Balance Adjustment Mechanism

The major components of the head balance adjustment mechanism are:
(a) Lever, Head Balance (c) Spring, Head L/R
(b) Cam, Head Balance

The head balance adjustment mechanism is used to eliminate uneven printing density on media.
The head balance adjustment is accomplished by changing the right side head pressure according
to media width to be used. To adjust, the blue Media width adjustment dial (“Cam, Head Balance”)
is used. When narrow width media is used, the dial should be set toward “0” to give weaker
pressure. When wide width media is used, it should be set toward “9” to give stronger pressure.
When narrow media is used (need to give weak pressure):

The “Spring, Head L” and “Spring, Head R” act to press the “SA, Head” against the “SA, Platen”. If
the same pressure is given by both springs, since no media exists on the right side of the “SA,
Head”, the “SA, Head” will slant to the right, resulting in uneven printing density. The part “A” of the
“Lever, Head Balance” is pushed against the cam part by the “Spring, Head R” and it moves up
step by step as the Media width adjustment dial is turned toward “0”. As it moves up, the “Spring,
Head R” is pressed with weaker force by the “Lever, Head Balance”, and the right side pressure
against the “SA, Head” is decreased, resulting in even printing density. You need to align the dial
number according to the media width to be used. (Smaller number for narrower media)

When wide media is used (need to give strong pressure):

The same principle applies to wide media. However, in this case, the Media width adjustment dial
should be turned toward “9”. Then the part “A” of the “Lever, Head Balance” moves down to apply
stronger pressure to the “SA, Head”. (Larger number for wider media)

| For narrow media |

Taward
Spring, Head L Spring, Head R Z@

(Fixed) = (Movable) =
) 4

Lever, Head \h\:; I -
Balance
SA, Head Cam, Head Balance
T A (Media Width Adjustment
Ribbon j Dial)

Media (Narrow width) SA, Platen

For wide media |

Taward "9"

R I
SA, Head
Ribbon ﬁ

Media (Wide width)

CL-S621, CL-S621C & CL-S631 2-14



2-1. Operation of Each Mechanism

2-1-7. Media Offset Adjustment Mechanism

The major components of the media thickness adjustment mechanism are:
(a) Bracket, Head
(b) SA, Head Adjust (Includes Head adjust lever and Media thickness adjustment dial.)

According to the softness of media, the thermal element position is displaced from the optimum
position. The head offset adjustment mechanism is used to correct this by moving the “SA, Head”
back and forth a little. By performing the head adjustment properly, optimum printing quality is
available. (When shipping, the Media thickness adjustment dial is set to “1”.)

When soft media is used (thin thermal paper, label paper, etc.):

When soft media is used, the optimum position of the thermal elements will be nearly right above
the center of the “SA, Platen”. This position will be set when the Media thickness adjustment dial is
set to “1”.

When hard media is used (tag paper):

When hard media is used, the optimum position of the thermal elements will shift toward the left a
little from the center of the “SA, Platen”, viewing from the right side of the “SA, Platen”. As the
optimum position varies according to the hardness of media, it is necessary to adjust the Media
thickness adjustment dial from "1" to the greater number for the optimum position.

As the Media thickness adjustment dial turns, the Head adjust lever also turns around the
supporting point. At this time, as the end "A" of the “Bracket, Head” is inserted into the Head adjust
lever, the “Bracket, Head” moves up and down. Note that the “Bracket, Head” turns around both
“Bushing, Head” on both sides. When the Media thickness adjustment dial is set to the larger
number, the end "A" of the Head Bracket lowers more. At this time, the thermal element position
shifts to the left from the center of the “SA, Platen”, viewing from the right side of the “SA, Platen”.

| For soft media | . SA, Head Holder (Fiz\ed) (Head Adjust Lever)
! ‘ 0 A \ Media Thickness Adjustment Dial

Bracket, Head

Supporting
Thermal elements point

Ribbon —— N SA, Head

Media lE :
™ SA, Platen TN

| For hard media |

Supporting & ‘
point 5

2-15 CL-S621, CL-S621C & CL-S631



2-2. Qperation of Control Parts

2-2. Operation of Control Parts

2-2-1. Configuration of Printer

The following shows major configuration blocks.

[Main PCB]
Operation Panel Serial I/F | -
[Ope-pane PCB] (RS-232C)[F "I Host
Serial I/F |_ _[| (PC)
(USB) "
Thermal Print Head |
(Head Temp. Sensor) D N
1 (Options) !
| pmmmmmmmsmsmsesmseeeseeees
Parallel I/F | 1 . Parallel I/F !
Head Up Sensor > PR arallie I
(IEEE1284) |~ : [Centro PCB] !
Transparent Sensor : ._'.'.'.'.'.'.'.'.'.'.'.'.'.'.'.'.'.'.'.'.'.'.'.'.'.'.'.'; !
| Ethernet I/F PCB I
Reflective Sensor L
Tension Sensor F/R :-(-O-pt-io-n-s)- _______ !
| rescccccccccccccnna. 1
1 » Cutter !
PF Motor < oo
L P
Ribbon Motor F/R |_ L Reeler
[Ribbon PCB] | — 1 T
+5V, +24V
AC Inlet & »| Filter & Power Supply
Power Switch [Power Supply PCB]

Maijor functions of individual components are described below:

(1) Filter & power supply section
Consists of a fuse, a filter circuit to eliminate external electric noise, and a switching type
regulator to transform an AC input to +5V DC and +24V DC outputs required to drive the
printer.

(2) Main PCB
Controls the entire operations of the printer. It consists of CPU, ROM, RAM, Custom IC, driver
circuits, etc.

(3) Operation panel

A panel used to indicate the operating status of the printer and to set specifications. It consists
of 4 keys and 4 LEDs.

CL-S621, CL-S621C & CL-S631 2-16



(4)

(5

(6)

(7)

(8)

(9)

2-2. Operation of Control Parts

Thermal print head

The thermal print head has the following thermal elements. It also has the print head driver
circuit.

* 864 dots for CL-S621/S621C

*» 1275 dots for CL-S631

Sensors
The following 7 sensors are used:
Sensor name Description
Head Up Sensor Photointerrupter.
Transparent Sensor Photo sensor using the phototransistor.
Reflective Sensor Photo sensor consisting of 2 LEDs and 1
phototransistor.
Tension Sensor (Front/Rear) Photo sensor using the photointerrupter. Located on the
front and rear of the “Unit, Ribbon”.
Head Temperature Sensor Thermistor incorporated in the print head.
PF Motor Temperature Sensor Thermistor attached to the PF Motor.
Ribbon Motor Temperature Sensor | Thermistor attached to the Ribbon Motor F.

Motor
Three motors are used. The PF Motor is a stepping motor to feed media. The Ribbon Motor F
and Ribbon Motor R are stepping motors to take up and supply ribbon, respectively.

Serial I/F (RS-232C)
This is a circuit to transmit and receive serial data between the printer and the host.
Serial I/F, USB I/F or Parallel I/F (Option) is automatically selected when data is received.

USB (Universal Serial Bus) I/F

This is a circuit to transmit and receive serial data between the printer and the host using the
USB.

Serial I/F, USB I/F or Parallel I/F (Option) is automatically selected when data is received.

Parallel I/F (IEEE1284) (Option)

This is the parallel I/F to transmit and receive parallel data between the printer and the host. It
supports Centronics Compatible mode, NIBBLE mode and ECP mode.

Parallel I/F, serial I/F, or USB I/F is automatically selected when data is received.

(10) Ethernet I/F (Option)

This is a circuit which supports Ethernet protocol. LAN connection is possible.

2-17 CL-S621, CL-S621C & CL-S631



2-2. Operation of Control Parts

2-2-2. Operation of Control Unit

(1) Block diagram
The following descriptions are for major functions of the components.

(Option) Auto Cutter

'_ DC MOTOR

| Cutter Motor .
Driver

AC Inlet & Power Switch
Flilter & Power Supply

Cutter Position
Sensor

(Option) Peeler MAIN PCB
Peel Sensor }
CPU _RS232C RS232C
Driver/Reciever
UPD703111AGM-13-UEU-A
Head Up Sensor 128MHz USB 11
Paper Sensor
(Trans./Ref.)
Control / C.G.

F-ROM(32Mbits)

@ X

1

| CL-S621 (KOREA, JAPAN) :
__1 CL-S621C (CHINA) :
|
1
I

Thermal Head
Temp. Sensor

PF Motor
Temp. Sensor

| CL-8631 (KOREA, JAPAN)
| F-ROM(64Mbits)
L

S-DRAM (128Mbits)

Operation Panel
(SWx4 / LEDx3)

Gate Array

UPD65946GJ-165-3EB-A

Thermal Print
Head

Stepping Motor

X IEEE1284
Driver

Paper Feed Motor
Transciever

1
1
1
!

CL-S621, CL-S621C & CL-S631

(Option)
Interface Board

IEEE1284

Ethernet I/F

Ribbon Tension

Sensor x 2

Stepping Motor
Driver x 2

Ribbon Motor x 2

RIBBON PCB




(a)

(b)

(c)

(d)

(e)

(f)

(9)

(h)

(i)

2-2. Operation of Control Parts

CPU

The CPU is a microprocessor with 32-bit architecture. The clock fed to the CPU is 16 MHz.
The CPU internally multiplies this 16 MHz by 8 times and uses 128 MHz clock. The CPU
includes cache memory, RAMs, DMA controller, serial I/F, USB function controller, A/D
converter, etc.

Flash ROM
A flash ROM of 32M bits (4M bytes) that stores the firmware and CG (character generator)

SDRAM (Synchronous dynamic RAM)
A SDRAM of 128M bits (16M bytes) that is used as working area, input buffer and
download buffer

Custom IC
The custom IC incorporates a control circuit for the interface 1/0O port, motors, print head,
etc.

Head control
This is a circuit to control the thermal head driver incorporated in the thermal head. It also
checks if a thermal element of the thermal head is faulty.

PF motor driver
This is a circuit to drive the PF Motor. The PF Motor is a stepping motor.

Ribbon motor driver
This is a circuit to drive the Ribbon Motor F and Ribbon Motor R. These motors are
stepping motors.

Buzzer
The buzzer is driven when an alarm, etc. occurs.

Fan

Cooling fan for the ribbon motor. When the temperature of the Ribbon Motor F (take-up
side motor) exceeds a certain value, this fan starts to work.

2-19 CL-S621, CL-S621C & CL-S631



2-2. Operation of Control Parts

(2) Memory map

0000000H

001FFFFH

0100000H

0103FFFH
0104000H

0105FFFH
0106000H

0107FFFH
0108000H

010FFFFH
0110000H

028FFFFH
0290000H

03DFFFFH
03E0000H

04DFFFFH
04E0000H

04EFFFFH
04F0000H

04FFFFFH

0800000H

OFFFFFFH

4000000H

40FFFFFH

C000000H

C3FFFFFH
C400000H

C7FFFFFH

FFFBOOOH

FFFEFFFH
FFFFO00H

FFFFFFFH

CL-S621, CL-S621C & CL-S631

Command RAM
(Built-in CPU)

Boot Loader (1)

Setting Information
(User Settings)

Setting Information
(Factory-set Settings)

Boot Loader (2)

Firmware (Datamax)

Firmware (Zebra)

Downloading area (1MByte)
(CSA, CSE)

Service Information (for backup)

Service Information

Firmware (about 400K bytes)

Receiving Buffer (16K bytes x 3)*

Command Buffer (128K bytes)
Others

I/0

Downloading area (4MByte)
(CHINA, KOREA, JAPAN)

Chinese/Korean Fonts (4MByte)
(CHINA, KOREA, JAPAN)

Data RAM (Built-in CPU)

/O (Built-in CPU)

2-20

1
J
|

CPU

Flash ROM
4MBytes

S-DRAM
16MBytes

*: 16K bytes for each I/F
(USB, IEEE1284 and Serial)

Custom IC

Flash ROM
8MBytes

CPU



2-2. Operation of Control Parts

(3) Sensors
(3-1) Head up sensor
The head up sensor is used to detect the head position (up or down). This sensor uses a
photointerrupter.)

When the head block is closed (in the down position), the protrusion “A” of the head block is
engaged in the head up sensor, and the light emitted from the LED of the photointerrupter is
blocked by the protrusion “A”. Thus, the phototransistor turns OFF, and pin 117 (HDUSENS) of
U1A (CPU) goes to "High" level.

When the head block is opened (in the up position), the protrusion “A” is disengaged from the
head up sensor, and the light emitted from the LED reaches the phototransistor. Thus, the
phototransistor turns ON and pin 117 (HDUSENS) of U1A (CPU) goes to "Low" level.

+33V  +3.3V |
U1A i
Js Head Up Sensor
—CPU R78 R77 J,]_ ;_ ''''''''''''' 1
17 T31 R79 o |
PDH3 HDUSENS 73! i | I3
3| T x|
1 T T |
P
* [Head Up Sensor PCB] |
Head Up:  Low . | L. —_
Head Down: High [Main PCB] |
Head Block Head Block "Up" position
/ .
~ Photo
A\H Interrupter

A
SA, Head Up Sensor PCB
Head Block "Down" position
£ Photo
A s Interrupter
Head Up Sensor
(SA, Head Up Sensor PCB) SA, Head Up Sensor PCB

2-21 CL-S621, CL-S621C & CL-S631



2-2. Qperation of Control Parts

(3-2) Transparent sensor and reflective sensor
The transparent sensor is used to detect the label stuck on liner and the U-shaped notch on
tag. On the other hand, the reflective sensor is used to detect the black mark printed on the
bottom surface of tag. Both sensors are also used to detect the media end.
The upper side transparent sensor is the phototransistor, and the lower side reflective sensor
consists of 2 LEDs and 1 phototransistor. Media passes between these sensors.

Transparent sensor (used for detecting the label or U-shaped notch):

When the liner without label stuck on it passes between both sensors, the light emitted from
the LEDs reaches the transparent sensor, passing through the liner. Thus, the transparent
sensor (phototransistor) conducts and the voltage corresponding to the amount of light is
applied to pin 5 (TRAMON) of U1A (CPU).

Meanwhile, when the liner with the label stuck on it passes between both sensors, the light is
blocked by the label and the transparent sensor (phototransistor) turns OFF. Thus, pin 5
(TRAMON) of U1A (CPU) goes "Low" level. From these levels, U1A (CPU) can detect the
leading edge (arrival) of the label on liner.

When media runs out, the light directly falls on the transparent sensor and media end is
detected. In this case, pin 5 of U1A (CPU) will go "High" level.

When the transparent sensor is conducted, the voltage at pin 5 (TRAMON) varies depending
on the characteristics of the light receiving element (phototransistor) of the transparent sensor
and other factors. To solve this problem, U11 (Custom IC) outputs TSNSCTLO (pin 99) and
TSNSCTL1 (pin 100) signals to turn ON/OFF (connect/disconnect) R71 and R72 (voltage
dividing resistors) to minimize the difference in level at pin5 (TRAMON).

The current flowing into the LEDs is determined by the data sent from the CPU to the
digital-to-analog converter (U4). The digital-to-analog converter converts the data received
from the CPU and outputs resoultant level at pin 2. The base current of the transistor Q7 is
determined by this level. This means that the current flowing into the LEDs is also determined
by this level. In the actual control, the CPU changes data (LED current) to keep the level at pin
5 of CPU constant.

CL-S621, CL-S621C & CL-S631 2-22



2-2. Operation of Control Parts

Reflective sensor (used for detecting the black mark on tag):

When tag with black marks is used, light is reflected by the tag. In the place where no black
mark is there, the phototransistor of the reflective sensor conducts and the voltage
corresponding to the amount of light is applied to pin 6 (REFMON) of U1A (CPU).

When the light falls on the black mark, no light is reflected. In this case, the lower
phototransistor turns OFF and pin 6 of UTA (CPU) will go “Low” level.

When media runs out, the light is not reflected and no light falls on the reflective sensor. In this
case, pin 6 of CPU will go “Low” level and media end is detected.

When the reflective sensor is conducted, the voltage at pin 6 (REFMON) varies depending on
the characteristics of the light receiving element (phototransistor) of the reflective sensor and
other factors. To solve this problem, U1A (CPU) outputs RSNSCTLO (pin 176) and RSNSCTLA1
(pin 175) signals to turn ON/OFF (connect/disconnect) R74 and R75 (voltage dividing
resistors) to minimize the difference in level at pin6 (REFMON).

As to the current control of the LEDs, the operation is the same as for the transparent sensor
mentioned above.

U11 Custom IC T152
199 R71
TSNSCTLO

PFCNT1
proNT2[100_T*33 TsNscTL1 , R72 |
Transparent Sensor
i &) Nty Sy
U1A +3.3V 1 | P |
CPU R69 7251
5 T91 %D4 U188 +|5 Ay 2 H
ANIQ o < 3| |
7| TRAMON 1 -6 R73 | 5] :
Transparent sensor ;;070 BA2904 7;_ . I
output sensing terminal | L. _ii____.
R68 :
+3.3V — W 5 | § ;\ Media
VieA_13 R70 7253 0| AR
6 793 D5 1 + A 1 r——'——w—|
ANITREFMON | |2 R76 5V o |2 | 14 |
/ c71 2
Reflective sensor output ; BA2904 3| I H
sensing terminal 1 51 |
Q13 41, |
DTCH14EM 5 |
176 RSNSCTLO T63 i
P72 u‘g R75 T | [Reflective Sensor PCB] |
- — i — . —  —  —
765 Reflective S
P73 175 RSNSCTL1 3 . " Vv Q14 | eflective Sensor
Ly DTC114EM |
u4 R63 ” |
D/A Converter
From % DI A o, R64 3 (JI7A T245 |
UTACPU | 225228 L f ok Bp—W—" 1 R65 i
DACLD 8 |1 c67 2 & |
x BA2904 25C5658 |
BH2219 Cesi f R67 :
[Main PCB] |

2-23 CL-S621, CL-S621C & CL-S631



2-2. Qperation of Control Parts

(3-3) Tension Sensor F/R
The Tension Sensor F is used to detect the ribbon tension on the take-up side (front side) as
well as ribbon running. While, the Tension Sensor R is used to detect the ribbon tension on the
supply side (rear side) as well as the ribbon end. These sensors are photointerrupters.

Tension Sensor F:

The Tension Sensor F is used to keep the ribbon tension on the take-up side constant. When
printing starts, ribbon is fed and take-up side ribbon slacks. Then, the claw of the “SA, Ribbon
Tension Shaft F” comes off the photointerrupter on the Tension Sensor PCB and the
photointerrupter turns ON. Thus, pin 97 (SENS_A) of U11 (Custom IC) goes "High" level. Then,
U1A (CPU) drives the Ribbon Motor F to take up ribbon. As a result, ribbon tightens and the
claw is inserted into the photointerrupter. Thus, pin 97 (SENS_A) of U11 (Custom IC) goes
"Low" level. Then, U1A (CPU) stops the Ribbon Motor F. During printing, this cycle is repeated
and constant ribbon tension is maintained.

The LED (D901) on the tension sensor lights when ribbon slacks (the claw of the “SA, Ribbon
Tension Shaft F” comes off the photointerrupter and the photointerrupter turns ON). The LED
goes out when ribbon tightens.

If ribbon is not correctly fed during printing, the ON/OFF state of the photointerrupter on the
Tension Sensor F becomes improper. Thus, the CPU can detect a ribbon running error.

Tension Sensor R:

The Tension Sensor R is used to keep the ribbon tension on the supply side constant. When
printing starts, ribbon is fed and supply side ribbon tightens. Then, the claw of the “SA, Ribbon
Tension Shaft R” is inserted into the photointerrupter on the Tension Sensor PCB and the
photointerrupter turns OFF. Thus, pin 98 (SENS_B) of U11 (Custom IC) goes "Low" level. Then,
U1A (CPU) drives the Ribbon Motor R to supply ribbon. As a result, ribbon slacks and the claw
comes off the photointerrupter. Thus, pin 98 (SENS_B) of U11 (Custom IC) goes "High" level.
Then, U1A (CPU) stops the Ribbon Motor R. During printing, this cycle is repeated and
constant ribbon tension is maintained.

In the same way as for Tension Sensor F, the LED (D901) on the tension sensor lights when
ribbon slacks and goes out when ribbon tightens.

When ribbon runs out, the ON/OFF state of the photointerrupter on the Tension Sensor R
becomes unchangeable. Thus, the CPU can detect the ribbon end.

CL-S621, CL-S621C & CL-S631 2-24



2-2. Operation of Control Parts

. sav aw | _._._Tekewpsde
» | | T sroa] |ONRL_, a4y _i
Custom IC J12 | !J702 UT02A R705 K F\A’ngm Tension Sensor |
97 SENS_A [9]17| R706 60<1 2|2 €901 :
PN e senss |10|18] { T Loms [35] cooa] L IEI Y| Poot |
PM3 o+t-o c718 o+o !
_ B LT M |
i | 1{>¢6 | | D901  Rooz +33V |
| i || = |
H | 1 1 [Tension Sensor PCB]
|| | L |
| | | Supply side
H J704 } g |
| | L [ 1] cnoot |
| i 2|2 o :
i l (Same as above circuit) (C?;E (Same as above circuit) l
| ak |
! | [Tension Sensor PCB] |
[Main PCB] | i [Ribbon PCB] [Ce——— ]

(3-4) Head temperature sensor
The head temperature sensor is used to detect the temperature of the thermal head. This
sensor is a thermistor incorporated in the “SA, Head”. Since the resistance of the thermistor
changes according to the temperature change, the voltage at pin 7 of UTA (CPU) changes
accordingly. The CPU senses the voltage at pin 7 to detect the head temperature. According to
the temperature of the print head, the CPU controls the printing pulse width applied to the
thermal elements to keep the printing density constant.

U1A
CPU

ANI2

" HoTmP R7

R43

J 3J_

Thermal Head

I C45

+3.3V
?_ HDTHM1 13
HDTHM2 |21 D
\J \l
R44 Head Temp.
5,6,8,11,12 Thermistor
20,22 N
Rl
[Main PCB] |

Printing operation when the head temperature rises:
If the head temperature reaches 70°C (158°F), printing stops after printing the current label. In
this case, PRINT LED and CONDITION LED simultaneously blink on the operation panel.
When the temperature of the “SA, Head” falls below 60°C (140°F), LEDs stop blinking and
printing will be resumed.

Printing

Printing

60°C
(140°F)

<«

Stops
Printing (Stops)
70°C
(Stop) (158°F)

2-25

CL-S621, CL-S621C & CL-S631



2-2. Qperation of Control Parts

(3-5) PF motor temperature sensor
The motor temperature sensor is used to detect the temperature of the PF motor. This sensor
is a thermistor bonded to the PF motor. Since the resistance of the thermistor changes
according to the temperature change, the voltage at pin 8 of U1A (CPU) changes accordingly.
The CPU senses the voltage at pin 8 to detect the motor temperature.

U1A Therrrlistor
CPU
+3.3V-o- [ 4,% PF Motor
6
A3 |&_MOTTMP 6

‘ T
|
|

C62 R53

[Main PCB]

Printing operation when motor temperature rises:

When the temperature of the motor rises above 95°C (203°F), printing speed is reduced to
avoid overheating. If it reaches 105°C (221°F), the motor stops after printing the current label.
In this case, PRINT LED and CONDITION LED alternately blink on the operation panel.
When the temperature of the motor falls below 90°C (194°F), LEDs stop blink and printing will

be resumed.
(Stops)
Normal speed Normal speed Low speed
90°C 95°C » 105°C
Normal speed | (194°F) (Stop) (203°F) (Stop) (221°F)

CL-S621, CL-S621C & CL-S631 2-26



2-2. Operation of Control Parts

(3-6) Ribbon motor temperature sensor
The ribbon motor temperature sensor is used to detect the temperature of the Ribbon Motor F
on the take-up side. This sensor is a thermistor bonded to the Ribbon Motor F. Since the
resistance of the thermistor changes according to the temperature change, the voltage at pin
11 (RBTMP) of U1A (CPU) changes accordingly. The CPU senses the voltage at pin 11 to
detect the ribbon motor temperature.

N
U1A J702 J701
CPU J12 I I

B I
BV |19 5 Ribbon Motor F
11 RBTMP R96 2|20 6 (Take-up Side)
ANI6 M— ‘5

VVy O
iceg wa | I _I
= |

Thermistor

RN

[Main PCB] [Ribbon PCBT |

Printing operation at ribbon motor temperature rise:

When the temperature of the Ribbon Motor F reaches 85°C (185°F), the ribbon motor stops
after printing the current label. In this case, PRINT LED and CONDITION LED alternately blink
on the operation panel.

When the temperature of the Ribbon Motor F falls below 80°C (176°F), LEDs stop blink and
printing resumes.

(Stops)
Normal speed Normal speed
» 80°C > 85°C
Normal speed | (176°F) (Stop) (185°F)

2-27 CL-S621, CL-S621C & CL-S631



2-2. Qperation of Control Parts

(4) Drivers
(4-1) PF motor driver

This is a driving circuit to drive the PF motor (stepping motor).
The following illustration shows a simplified circuit.
The PF motor is driven by the bipolar constant current chopper method.
The exciting method for the motor is the 1st-2nd phase method.
The power to the PF motor is supplied by turning ON the FET Q5. This is accomplished by
activating the monostable multivibrator U14A. When U14A is triggered, Q6 turns ON and Q5
turns ON.
The exciting method is determined by PFMS1 and PFMS2 signals sent from U11 (Custom IC).
The rotational direction of the PF motor is determined by PFDIR signal and the PF motor
rotates when a pulse (PFCLK) is input to STEP (pin 14 of U15).
The digital-to-analog converter (U4) is used to control the PF motor current. Its output is
controlled by the data sent from the CPU (U1A).

PF motor forcible stop function by circuitry:

The CPU monitors the temperature of the PF motor and stops the PF motor if its temperature
reaches 105°C (221°F), as mentioned in “(3-4) Motor temperature sensor”. In addition to this
function, for further safety measures, a circuitry is provided to forcibly stop the PF motor if its
temperature exceeds over 105°C (221°F). When the temperature reaches to a predetermined
level, ENABLE (pin 2) of U15 becomes “Low” level and the outputs from U15 are disabled.

Low: Turns on Q5 to supply

U14A power to the PF motor. +24V |
Monostable R46 -
Multivibrator Q5 |
T230 R47 PH634
From U1A CPU—TCEK 1,12 a3 e oo |
rom —SrAan 5 W
From U11 Custom Ic —FON_ 2,1 Lyy! Q6
-0 DTC114EM VMT |
From RESET circuit —"PRESET 3 = T
T224
74VHC123 ¥ |
u1s
Motor Driver J_‘M
19 21 1 PF Motor
VBB OUT1A
24,1 \/BB2 18 2| ¢
From U11 PFMS1 8,| \is1 ouUT1B °
Cusom(Cl PEMS2__ Slyso  ouraa®? ™
1 4
From UTACPU \ _PFDIR 17 ngREP ouT28B
Motor current control 2 |——M— +3.3V (E 5
—>d ENABLE o
U4 _4_3 Thermistor
DIA Converter peyvioToy Rz 7236 15 —
Erom DACDAT 6 DI A |- A —1 . REF |
DACCLK 7 1 1
U1ACPU [M» ck B l
I A4984SES-T
BH2219 33V R59 Ro8 |
HAH
R57 R60 |
U16A
1 + 2 |
3 R61 T235
HPC393GR = :E |
0627L R53 3 |
%Mi
R62 .
[Main PCB] |

CL-S621, CL-S621C & CL-S631 2-28



2-2. Operation of Control Parts

(4-2) Ribbon motor driver

This is a driving circuit to drive the Ribbon Motor F and Ribbon Motor R (stepping motors). The
Ribbon Motor F is used to take up ribbon and the Ribbon Motor R is used to supply ribbon.

The Ribbon Motor F/R is driven by the STEP_A/B signal sent from the CPU (U1A). The
rotational direction of the motor is determined by the DIR_A/B signal sent from the custom IC
(U11). The strength of PF motor excitation (strong and weak) is switched by the PDOWN
signal sent from the CPU (U1A).

The motor drive circuits for the Ribbon Motor F and Ribbon Motor R are the same.

Ribbon motor forcible stop function by circuitry:

The CPU monitors the temperature of the Ribbon Motor F and stops it if its temperature
reaches a certain level, as mentioned in “(3-6) Ribbon motor temperature sensor”. In addition
to this function, for further safety measures, a circuitry is provided to forcibly stop the ribbon
motors if the temperature exceeds over 105°C (221°F). When the temperature reaches to a
predetermined level, RBTMP (pin 7) of U16B becomes “Low” level and the supply power to the
ribbon motors is shut down.

U148 +24V
Monostable L |
Multivibrator
R701
o o ooz, |1 i
701
RIBTRG 10| Q | | T e Rro2 P340 |
11 |=—— | | u@ Q702 |
nRESET ——|CLR L - DTC114EM u7o1 J701 | Ribbon Motor F
74VHC123 s2| | 702 Motor Driver L (Takerup Sice)
U1 ___ 19 21
Custom IC RBTMP | 8]16] VMOTON 57| VBB OUT1A °
95 DIR_A 3;1@1 DIR_A DIR 17 VBB2 ouT1B 18
PMO STEP 147| PIR 22 |2 @
STEP_A [ 4|12|STEP A | STEP OUT2A
= 1 1
o1 |98 bRB | 5|'3|oRB +3.3V ouT2B
STEP B | 8|14| |STEP B ]
U1A =>1-010 = R708 R707 15
cPU 7115] |PDOWN | PDOWN T W REF
O MW _L .
122 T Ll rrooz c719 |
D24 [ 7 I
126 i
D28 | | Q703 |
D25 123 PDOWN L DTC114EM :
| | 4705 | Ribbon Motor R
DIR (Supply Side)
+3.3V | | STEP 3
P U704 4
+3,3V R93 R92 | | PDOWN o
W H (Same as above circuit) 2
R91 R94i | | 1
U16B _-15
< R95 | |
RBTVP -8+ MW—<RBTMP :
| l [Ribbon PCB] H
WPC393GR R
S| [Main PCB] |

R98

2-29 CL-S621, CL-S621C & CL-S631



2-2. Qperation of Control Parts

(4-3) Head driver
The head driver is incorporated in the “SA, Head".
During printing, pin 116 (HDVON) of U11 (Custom IC) goes to "High" level, and Q2 and Q1 turn
ON. Thus +24V is supplied to the thermal head (“SA, Head”).
The print data is sent from the Custom IC (U11) to the head driver to select the thermal
elements to be heated. The data is sent via HDATA1-HDATA3, HDSTB, HDCLK and HDLTH
lines (pins 113, 111, 110, 108, 115 and 107 of U11).
According to the print data received, the thermal head heats the thermal elements to print dots
on thermal transfer paper. The width of heating pulse will be changed according to the head
temperature to keep the printing density constant.

u11 Head power supply monitor: Not used.
Custom IC +24V
———— Head supply voltage ON/OFF R33 O +3 3V U1A
WA CPU
T206 R34 [
116 T;GG 1 My rg__J\ ) T211 R35 R36 799
HDVON NG ANI4
HDVON Q2 Q1 VHEADMON
DTC114EM 25J661 ;C43
+5.0V
o> D3 X +3.3V
T208 D2
T167 4 m} R38 7210 R39 T101
17 < et N AA 10
HCVON HGVON W Q4 o3 Wy _L HEADRES ANI5
DTC114EM
c DTA114EM C44l
) VHD Thermal element abnormality
Thermal element abnormality check ON check
When driving: +24V | — |F___
When checking: +5V +5.0v
raav LoD |13
HDTHM1 |19 |
g1§A VHD 1-4,23-26
utrer
11 HD1  T164 5 1 HDDAT3 | 10
HDATA1 11;3' HD2 T763 4 1A1 > 1Y1 1Z HDDAT?2 | 14
HDATAZ |y o™iy THeZ g |1A2> V2], HDDAT1 | 17 Thermal
HDATA3 109 HD4 T761 1A3 > 1Y3 o Head
12
A 06, nHDSTB T390 1? WYy HDSTB | 15
HDSTB = :D . Ti6s 2A1 > 2Y1 e R42 nHDCLK 16
HDCLK pres C 7159 11: 2A2 > 2Y2 ; AW 22 ©
OOLTH nHDLAT 13 o OA3 > 2Y3 : nHDLAT
—2A4 > 2Y4 | BT
18
+2d2G |
77 74VHCT244 Main PCE] I
ain

CL-S621, CL-S621C & CL-S631

2-30




Thermal resistance check:
When the printer is turned ON, the thermal resistance check is conducted. If any fault is found,
it is memorized and, when the printer is turned ON next time, the CONDITION LED and
ERROR LED alternately blink on the operation panel.

2-2. Operation of Control Parts

During the thermal resistance check, pin 117 (HCVON) of U11 (Custom IC) goes to "High" level,
and Q4 and Q3 turn ON. Thus, +5V is supplied to the thermal head, instead of +24V.

The following is a simplified circuitry under checking, where Q3 turns ON and a thermal
element "R" is selected. At the point "A", the voltage divided by R38 and R is developed. The
CPU monitors this voltage at pin 10 (HEADRES), and check if the voltage is out of the
allowable range or not. (For example, if R is open, the voltage at point “A” will be about +3.3V.)
Each thermal element is successively checked in this way.

+5V

T
?QS

+3.3V
% R38

A%
—WW

HEADRES

% R | Thermal head
77'7

R: Resistance of a thermal element

U1A
CPU

ANI5

(4-4) Buzzer driver

This circuit drives the buzzer.
To sound the buzzer, the CPU outputs a pulse from pin 171 (BUZZER). The transistor Q10
turns ON and OFF, and the buzzer sounds.

+24V
_O_
U1A BZ1 <> %RSG
CPU _
K T275
73 — -
p77 17 v wek 1 Q10
BUZZER L;;E DTC114EM
[Main PCB]
2-31 CL-S621, CL-S621C & CL-S631



2-2. Qperation of Control Parts

(4-5) Fan driver

This circuit drives the ribbon motor cooling fan.

When pin 130 (FANCTL) is set to “Low” level, Q11 turns ON and the fan is driven.
The fan is driven according to the Ribbon Motor F temperature detected by the ribbon motor

temperature sensor.

When the temperature is under 45°C (113°F), the fan is not driven.
When the temperature exceeds 45°C (113°F) during ribbon motor running, the fan starts to

turn.

If the temperature is 70°C (158°F) or more after the ribbon motor is stopped, the fan is kept
turned until the temperature falls below 70°C (158°F).

+5V J13!

[ S

¥V U706
U1A | J702 Ribbon Motor Fan
CPU Q1 J12 1
E— 3LNO02C _._I +5V D701 5
R99 11 19| FANOUT 2 FAN
D30 130 FANCTL W /I\ o1 L|_| |_
! ! [Ribbon PCB] |
I
[Main PCB] |

(5) Other circuits
(5-1) +3.3V/+1.5V circuit

The Main PCB receives +5V and +24V from the “Unit, Power Supply”. +5V and +24V are used
for control circuits and driver circuits, respectively.

U19 and U20 are the regulator ICs to produce +3.3V and +1.5V from +5V.
+3.3V is used for various logic circuits, while +1.5V is supplied to the CPU (U1A) only.

+3.3V Regulator
D6

! +5V
1
Jg9 r u19 -
1 T260 +5V T261 +3.3V
S| T26s | Yvin vout |2 E 43,3V
2 T264 + _L " _L
F © C77 C78 9 C79 c80
rom 3 7J7 ; oD I
Power 2 7J7_
Supply | 6 AX6630-330DA
Unit 5
g T267 +24V +1.5V Regulator
° > +24V >
é ks
: v 2 1262 +1.5V
H 6|V Q113 > +1.5V
> STB 02 L g4
l 3IN vss|2
: [Main PCB] c83 I
l T BH15MA3WHFV

CL-S621, CL-S621C & CL-S631

2-32



2-2. Operation of Control Parts

(5-2) Reset circuit

This circuit performs the system reset.

When power is turned ON, +3.3V gradually increases from 0V. When the voltage at pin 5
(+3.3V) of U3 reaches approx. at 2.8 V, U3 is activated and then the RESET signal changes
from "Low" to "High" level.

While the RESET signal is “Low”, the CPU (U1A) is reset.

The CPU outputs the nGRESET signal to reset the Custom IC (U11) and other ICs.

+1.5 V is supplied to the CPU. If +1.5 V is shut down, nRESET 14 signal changes to “Low” level
and all circuits including U1A (CPU) and U11 (Custom IC) are instantly reset.

Power ON U1A
+ U3 L : Reset
+3.3V T+33V 3.3V Voltage Detector _ CPU
' ! — 5 4 T8\ RESET 28
+1.5V _/ VDD  VOUuT v RESET RESET
o — c3
; T :23 MR 1 nGRESET T47 p5o
. E VSS Cd ml 23
RESET H i c4 R6
Pin 4 of U3 i NJU7705F3-28A I U11
L \ ) Custom IC
u12
Reset J 4 T204 26
2|_/|‘ RESET
+3.3V
u21 L »nRESET
1oV Voltage Detector R80
4 VDD VouT 1 7263 RESET15 nGRESET
g SUB 3
GND cT __|_
c82
7  BU4213FVE l

(5-3) Clock circuit

Crystal oscillator X1 oscillates a 16 MHz clock. This clock is send to the CPU (U1A) and the
CPU generates a 128 MHz internal clock and 64 MHz clock.

The 64MHz clock is fed to the Custom IC (U11).

Oscillator X2 oscillates a 48 MHz clock used for USB I/F control. It starts oscillation when
UCLKON signal (pin 77) is output from the CPU to X2.

U1A
16MHz cPY
X1 T 164 Bus Clock
System Clock ID! ¥ X1 (64MHz) | U1
(16MHz) R1z 1o 165 Custom IC
A4 X2
_ 4 =
2 I c I PCD1(88 R14 | TN7 119
CLKIN
+3.3V X2 BUSCLK
- Clock Generator
4 3 R3 T15 459
Clock for USB VDD out ¥ P10 ™ L >BUSCLK
1 2
o ? e o
PCT7

[Main PCB]

2-33 CL-S621, CL-S621C & CL-S631



2-2. Qperation of Control Parts

(5-4) Ope-pane circuit

The ope-pane circuit consists of 4 LEDs and 4 switches.
Each LED is directly driven by the Custom IC (U11) and each switch signal is input to the

Custom IC (U11). (The following shows the simplified circuit diagram.)
Il 2
+3.3V J7 D301 74
-0 1 \33y rJ7—|<1—Wv— POWER ON| (Green)
2 ' 1
O D302 |—|<1—Wv— PRINT | (Green)
PRTLED _[3 »
CNDLED |4 D303 —K+—W——1 |CONDITION| (Orange)
ERRLED |5 D304 77
o K—w— [ERROR] (Red
FEEDSW |6 S . (Red)
To/From N W301
U11 Custom IC PAUSESW | 7 < SW302 ! FEED
STOPSW |8 O—+ |PAUSE
MODESW _| g SW303 55 | [sTop
|
9 SW304 554  [MODE/REPEAT
11
O 77T
_ 12
[Main PCB] -I— [Ope-pane PCB]

(5-5) USB I/F control circuit
The USB control circuit interfaces with the USB (Universal Serial Bus).
NAND gates (U26A, U26B and U26C) and transistor Q12 consist of a USB connection
detecting circuit. When USB connector is connected to the printer, pin 1 of J16 (USBVCC) is
set to “High” level. The detection circuit detects this level and output a UBINTP pulse to the
CPU to inform of the USB connection.

USB connection detecting circuit

i
+3.3V m,\d Q12
U1A DTA114EM |
CPU R112 U26A .
155 ysgoN T18 3 1323 High when USB |
P11 ‘ f<> R113 connector is connected. §
u26C |
121 UBINTP T40, g ~—9 T234 T325 R114 R115 / '
D23 (n] = v M A |
JL 10 |—| U26B J—c102 i
T R119 | 116
usBvCC [1
161 T26 2
UDM UDM Ak W R116 DM 2| a e
upp 160, , UDP o wR117 pp |3
R118 USBLGND| 4
SG|5
IS
[Main PCB] |
CL-S621, CL-S621C & CL-S631 2-34



2-3. Operation Panel

2-3. Operation Panel

Operation panel is located on the left/front side of the printer.
Operation panel consists of 4 keys and 4 LEDs, which perform to set the condition of the printer
and indicate the operating condition.

O PoweER

[T PRINT
[] conDpITION

B ERROR

PAUSE FEED STOP

Inigl

MODE/REPEAT

1

2-3-1. External view

(1)

(2)

Keys
There are 4 keys, [MODE/REPEAT], [PAUSE], [FEED] and [STOP]. The function name on the
key is selected when the key is pressed.

LEDs

There are 4 LEDs, POWER, PRINT, CONDITION and ERROR. The LEDs light up or blink to
indicate printer status, setting modes, or error conditions.

POWER LED lights up when power is turned on. (green)

PRINT LED lights up when the printer is ready to print (on-line state). (green) It is also used in
Menu Setting mode and Sensor Adjustment mode.

CONDITION LED lights up in Menu Setting mode or Sensor Adjustment mode. (orange)
ERROR LED lights or blinks when error occurs. (red)

(To indicate an error, PRINT and CONDITION LEDs will be also used.)

2-35 CL-S621, CL-S621C & CL-S631



2-3. Operation Panel

2-3-2. Operation using the keys

The following explains the normal operation and test operation accessible by pressing and holding
the keys while turning ON the power.
In this manual, pressing and holding the key while turning the power ON is described as follows:

[Key name] + [Key name] + | [POWER]

Example: [MODE] + [POWER] (to enter menu setting mode)

(1) Normal operation
The following two operations are available.

Operation Description Remarks
[PAUSE] + [FEED] + [STOP] | Enters sensor adjustment See (1-1). For details, see
+ [POWER] mode. the User's Manual.
[MODE] + [POWER] Enters menu setting mode. See (1-2). For details, see
the User's Manual.

(1-1) Sensor adjustment mode
According to media to be used, you need to perform the sensor adjustment.
The following shows the rough description how to adjust the sensor. For details, refer to the
User’s manual.
Before performing the sensor adjustment, select the Media Sensor menu (“See Through”,
“Reflect”, or “None”) according to media to be used. See “(1-2) Menu setting mode” on the next

page.
Media Sensor menu Media
See Through Label paper or tag with U-shaped notches
Reflect Tag with black marks
None Continuous media

All operations are made with the key.
1. Entering the sensor adjustment mode ([PAUSE] + [FEED] + [STOP] + [POWER])

2. Selecting the sensor to be used (either the transparent sensor or reflective sensor)
Transparent sensor: Label paper, Tag with U-shaped notches
Reflective sensor: Tag with black marks

3. Positioning of the sensor(s) against media

4. Sensitivity adjustment using actual media to be used

CL-S621, CL-S621C & CL-S631 2-36



(1-2) Menu setting mode

2-3. Operation Panel

Set the menu according to your requirements. The following shows the menu settings print
sample. To enter this mode, while pressing and holding the [MODE] key, turn ON the power.

(IMODE] + [POWER]) For details, refer to the User’s Manual.

Machine Information
Model Number 1 CL-S631
Boot Version XX
ROM Version ! DRXXXXXX
ROM Date(DD/MM//YY) : XX/XX/XX
ROMCheck Sum T XXXX
Head Check :OK
Print Counter 1 0002.2km
Service Counter 1 0002.2km
Cut Counter 10
Sensor Monitor 12.78V
Option Interface : None
Current Menu Settings
[Global Config Menul
Config Set 01
[PageSetup Menul
Print Speed 1 4IPS
Print Darkness 110
Darkness Adjust 100
Print Method ! Thermal Transfer
Ribbon Winding : Outside
Continuous Media Length :4.00 inch
Vertical Position 10.00 inch
Horizontal Shift 1 0.00 inch
Vertical Image Shift 10.00 inch
Media Sensor : See Through
Small Media Adjustment : Off
Small Media Length 1 1.00 inch
Symbol Set ' PM
[System Setup Menul]
Sensor Level 115V
Paper End Level 12.80V
Error Reporting ! On Printing
Buzzer Select :On
Metric/Inch *Inch
Max Media Length :10.00 inch
Settings Lock 1 Off
Keyboard Lock 1 Off
Control Code :STD
Emulation Select : DM4
Emulation Auto Detect :On
[After Print Menul
AutoConfigure :On
Function Select : Tear
Cutter Action : Backfeed
Paper Position :0.00 inch
Mode/Repeat Key : Disabled
[Interface Menul
RS-232C Baud rate 19600
RS-232C Parity : None
RS-232C Length : 8 bit
RS-232C Stop bit : 1 bit
RS-232C X-ON *Yes
IEEE1284 :On
USB Device Class : Printer
USB VCOM Protocol : Auto
2-37

CL-S621, CL-S621C & CL-S631



2-3. Operation Panel

(2) Test mode
The following test modes are available.

Operation Description Remarks
[FEED] + [POWER] Enters self print mode See (2-1).
[STOP] + [POWER] Enters hex dump mode See (2-2).

(2-1) Self print mode
You can check the printing quality by printing the self
print pattern.

For label (prints 2 labels):

1. While pressing and holding the [FEED] key, turn
on the power.

2. When the PRINT LED blinks slowly (later, it will
blink rapidly), release the [FEED] key.

The printer enters self print mode. The
label is fed, self test printing is made for two
labels, and then printing stops.

3. To repeat printing, press the [FEED] key again.
To exit self print mode, turn off the power.

For continuous media:

1. While pressing and holding the [FEED] key, turn
on the power.

2. The PRINT LED will blink slowly. When it changes
to rapid blink, release the [FEED] key.
The printer enters self print mode and self test
printing is made.

3. To repeat printing, press the [FEED] key again.
To exit self print mode, turn off the power.

CL-S621, CL-S621C & CL-S631 2-38

[Print pattern in self print mode]

ARTTARCARIR R

R O

8 l,\:k 3C! abeoe1234
10pt ABCDEabede 234
12pt ABCDEabcde1234
14pt ABCDEabcde1234

18pt ABCDabcde1234

TEST
PRINT

AU

—

T 11 T T 1T

.

—

\

Media feed direction




2-3. Operation Panel

(2-2) Hex dump mode
You can print the data in the receive buffer in the hexadecimal form.

For label:

1. While pressing and holding the [STOP] key, turn on the power.

2. When the PRINT LED blinks slowly (later, it will blink rapidly), release the [STOP] key.
The printer enters hex dump mode and hex dump printing starts.
To exit hex dump mode, turn off the power.

For continuous media:

1.  While pressing and holding the [STOP] key, turn on the power.

2. The PRINT LED will blink slowly. When it changes to rapid blink, release the [STOP] key.
The printer enters hex dump mode and hex dump printing starts.
To exit hex dump mode, turn off the power.

[Dump list example]

DUMP LIST

02 4030 31 30 30 0D02 60 30 30 32 300D 02 4C .M0100..c0020..L
44 3131 0D31 30 30 30 30 30 3030 3030 31 30 D11.100000000010

30 3031 3031323334 35363738393A3B3C 0010123456789:;<

(3) Factory/Service mode

Operation Description Remarks
All keys + [POWER] Enters factory mode and service mode

(3-1) General
Factory mode and Service mode are available for maintenance.
Factory mode:
You can change the factory-set items such as logical shift of the sensor or head, and double
heat (printing the same dot twice).

Note:
* In Factory mode, DO NOT change the factory-set values unless you need it, since
there are essential items related to printing accuracy, etc.

Service mode:
You can perform checks such as “head check “and “counter print” to print the total print length
since the printer is firstly used.

2-39 CL-S621, CL-S621C & CL-S631



2-3. Operation Panel

(3-2) How to enter the Factory/Service Mode

How to enter Factory/Service mode differs from the “user menu setup mode” operation.

However, once you have entered Factory/Service mode, the basic operation is the same as
that for the “user menu setup mode” explained in the User’s manual.
The Factory/Service mode menu appears at the top of the user menus as follows:

All keys + POWER

Top menus
A

v

Do you want to change the menu

settings? Yes=(PAUSE) No=(STOP) [PAU:SE (Yes)]

A 4
Do you want to print the current menu

L p To print
settings? Yes=(PAUSE) No=(STOP) [PAUSE (Yes)]

[ : Different operation from the “user menu setup mode”

\ 4

Factory Mode menu

Service Mode menu

Global config menu
Page Setup menu
System Setup menu
After Print menu
Interface menu

Added

> VuePrint
menu
system

The menu operation principle is the same as for the “user menu setup mode” operation. The

keys to be used and the functions are as follow:

Yes / Select / Save

Next digit
MODE/REPEAT
Exit the current menu or the EI
VuePrint menu system

PAUSE FEED STOP

o 1ol b

CL-S621, CL-S621C & CL-S631 2-40

— No / Next item / Increase item



[Menu settings print sample in Factory/Service mode]

Machine Information

Model Number
Boot Version
ROM Version
ROM Date(DD/MM//YY)
ROMCheck Sum
Head Check
Print Counter
Service Counter
Cut Counter
Sensor Monitor
Option Interface

: CL-S631
XX

: DRXXXXXX
$ XX/XX/XX
: XXXX
10K

1 0002.2km
1 0002.2km
:0

12,78V

: None

Factory Mode Settings
Through Sensor Position : 0 dot
Reflect Sensor Position 10 dot
Machine Tear Position 10 dot
Machine Cut Position 10 dot
Machine Peel Position 10 dot
Machine Horizontal Pos. : 8 dots
AutoCal Mode :On

See Through Sensor 0.0V
Reflect Sensor 00V
SeeThrough Sensitivity  : Low
Reflect Sensitivity : Low
Through Cal Level 1230V
Reflect Cal Level 12,10V
SensNone Cal Level 12.06V
Darkness Rate : High
Double Heat Menu 1 Off
PowerOn Head Check :On
Head Check Start Pos. :Dot 1
Head Check Stop Pos. : Dot 848
Head Error Print : No
Max Page Length 1 32 inch
Ribbon Control : Auto
Ribbon End Detection : Quick
Void to TOF 1 Off
Reverse Media Length :0.00 inch
Min Cut Length : Default
Paper End Sensor :On
Paper End Length : Default
Parallel Error Output :On
Auto Online 1 Off
Auto Online Delay 12 sec
Top Form Sensing :On
USB Serial Number 1 Off
Auto Exec Print :On
Config Print Layout ! Standard
Head Clean Message $Off
Print Preference : Darkness
CLPID Mode 1 Off

[Global Config Menu]
Config Set

[PageSetup Menul
Print Speed :

(to be continued)

2-4

Current Menu Setting

4 IPS

1

2-3. Operation Panel

Submenus for maintenance
only

CL-S621, CL-S621C & CL-S631



2-3. Operation Panel

Print Darkness
Darkness Adjust
Print Method
Ribbon Winding

©10

100

! Thermal Transfer
: Outside

Continuous Media Length : 4.00 inch

Vertical Position
Horizontal Shift
Vertical Image Shift
Media Sensor

10.00 inch
10.00 inch
10.00 inch
: See Through

Small Media Adjustment : Off

Small Media Length 1 1.00 inch
Symbol Set :PM
[System Setup Menul]
Sensor Level 115V
Paper End Level 12.80V
Error Reporting ! On Printing
Buzzer Select :On
Metric/Inch * Inch
Max Media Length :10.00 inch
Settings Lock L Off
Keyboard Lock 1 Off
Control Code :STD
Emulation Select : DM4
Emulation Auto Detect :On
[After Print Menul
AutoConfigure :On
Function Select ! Tear
Cutter Action : Backfeed
Paper Position 10.00 inch
Mode/Repeat Key : Disabled
[Interface Menul
RS-232C Baud rate 19600
RS-232C Parity : None
RS-232C Length : 8 bit
RS-232C Stop bit : 1 bit
RS-232C X-ON * Yes
IEEE1284 :On
USB Device Class : Printer
USB VCOM Protocol : Auto
2-42

CL-S621, CL-S621C & CL-S631




2-3. Operation Panel

[Procedure to enter Factory/Service Mode]

1.
2.

Set media.

While pressing and holding all keys, turn on the power. (ALL keys + [POWER]))

The printer enters Factory/Service mode. The PRINT LED and CONDITION LED light up
and the following message is printed on media.

Citizen CL-S631 VuePrint Menu System

The four control panel buttons are used to select different options. Generally:

Yes / Select / Save = PAUSE (P) key
No / Next Item / Increase Item = STOP (S) key
Next Digit =FEED (F) key
Exit to previous menu = MODE (M) key

Do you want to reset this printer to factory settings? Yes=(PAUSE) No=(STOP)

Press the [STOP] key to skip to the next message.
Then, the following message is printed.

Do you want to print the current menu settings? Yes=(PAUSE) No=(STOP)

Press the [STOP] key to skip to the next message.
Then, the following message is printed.

Do you want to change the menu settings? Yes=(PAUSE) No=(STOP)

Press the [PAUSE] key to enter the menu settings mode.
Then, the following top menu is printed.

Do you want to change “Factory Mode Menu” items?
Yes=(PAUSE) No=(STOP) Exit=(MODE)

* To enter the Factory Mode menu, proceed to the next step 6.

* To skip to the next top menu (Service Mode menu), press the [STOP] key. See step 7.

* To return to the previous one, press the [MODE] key.

Press the [PAUSE] key to enter the submenus.

* The following submenus under the Factory Mode menu will be printed as you press the
[PAUSE] key repeatedly.

* For setting each item, see “(3-3)-(a) Factory Mode menu table”, and setting example
“How to change the value in the Factory Mode menu” on page 2-48.

Through Sensor Position ~ +000
Save=(PAUSE) Next Digit=(FEED) Change value=(STOP) Exit=(MODE)

Reflect Sensor Position 1000
Save=(PAUSE) Next Digit=(FEED) Change value=(STOP) Exit=(MODE)
Mach Tear Pos +000

Save=(PAUSE) Next Digit=(FEED) Change value=(STOP) Exit=(MODE)
(to be continued)

2-43 CL-S621, CL-S621C & CL-S631



2-3. Operation Panel

Mach Cut Pos +000

Save=(PAUSE) Next Digit=(FEED) Change value=(STOP)

Mach Peel Pos +000

Save=(PAUSE) Next Digit=(FEED) Change value=(STOP)

Mach Hor Pos +08

Save=(PAUSE) Next Digit=ﬁ7EED) Change value=(STOP)

AutoCal Mode ON
Save=(PAUSE) Change value=(STOP)

SeeThrough Sensor 0.0

Save=(PAUSE) Next Digit=TFEED) Change value=(STOP)

Reflect Sensor 0.0

Save=(PAUSE) Next Digit=@EED) Change value=(STOP)

SeeThrough Sensitivity Low
Save=(PAUSE) Change value=(STOP)

Reflect Sensitivity Low
Save=(PAUSE) Change value=(STOP)

Darkness Rate High
Save=(PAUSE) Change value=(STOP)

Double Heat Menu OFF
Save=(PAUSE) Change value=(STOP)

PowerOn Head Check ON
Save=(PAUSE) Change value=(STOP)

Ribbon End Detection Quick
Save=(PAUSE) Change value=(STOP)

Parallel Error Out ON
Save=(PAUSE) Change value=(STOP)

USB Serial Number OFF
Save=(PAUSE) Change value=(STOP)

Auto Exec Print ON
Save=(PAUSE) Change value=(STOP)

Config Print Layout Standard
Save=(PAUSE) Change value=(STOP)

Print Preference Darkness
Save=(PAUSE) Change value=(STOP)

Exit=(MODE)

Exit=(MODE)

Exit=(MODE)

Exit=(MODE)

Exit=(MODE)

Exit=(MODE)

Exit=(MODE)

Exit=(MODE)

Exit=(MODE)

Exit=(MODE)

Exit=(MODE)

Exit=(MODE)

Exit=(MODE)

Exit=(MODE)

Exit=(MODE)

Exit=(MODE)

Exit=(MODE)

CL-S621, CL-S621C & CL-S631

2-44

Note: In the actual printing, the cursor “»” will be printed instead of “_ (underline)”.




2-3. Operation Panel

7. When the Service Mode Menu message is printed as shown below, press the [PAUSE] key

to enter its submenus.

* The following submenus will be printed successively as you press the [PAUSE] key

repeatedly.

* When you press the [PAUSE] key, check is done and the check result will be printed.
For performing each item, see “(3-3)-(b) Service Mode menu table” and setting example
“How to perform the check in the Service Mode menu” on page 2-50.

Head Check Exec
Yes=(PAUSE) No=(STOP)

ROM Check Exec
Yes=(PAUSE) No=(STOP)
RAM Check Exec
Yes=(PAUSE) No=(STOP)

Print Counter Exec

Yes=(PAUSE) No=(STOP)

Service Counter Exec

Yes=(PAUSE) No=(STOP)

Cutter Counter Exec

Yes=(PAUSE) No=(STOP)

Do you want to change “Service Mode Menu” items?

Yes=(PAUSE) No=(STOP) Exit=(MODE)

Exit=(MODE)
Exit=(MODE)
Exit=(MODE)
Exit=(MODE)
Exit=(MODE)

Exit=(MODE)

Do you want to change “Page Setup Menu” items?
Yes=(PAUSE) No=(STOP) Exit=(MODE)

8. To exit the Factory/Service mode, press the [MODE] key.

2-45

CL-S621, CL-S621C & CL-S631



2-3. Operation Panel

(3-3) Factory/Service Mode menu table

The following table shows the value and description of each submenu under Factory Mode
menu and Service Mode menu.

(a) Factory Mode menu table

*: “+” shows that the object logically moves forward/rightward. “-“ shows that the object
logically moves backward/leftward.

**: For both CL-S621/S621C and CL-S631, 8 dots correspond to 1 mm for each adjustment
value. (Namely, 203 dots correspond to 1”.)

Submenu Name

Adjustable Value
(Default Value)

Description

Through Sensor
Position

-256 to +256 [dots]
(+000 [dots])

Logically shifts the transparent sensor position
back and forth. (-32 to +32 mm, -1.26 to +1.26")

(See Note.)

Reflect Sensor -256 to +256 [dots] | Logically shifts the reflective sensor position back
Position (+000 [dots]) and forth. (-32 to +32 mm, -1.26 to +1.26")

(See Note.)

Mach Tear Pos

-256 to +256 [dots]
(+000 [dots])

Logically shifts the tear off position back and forth.
(-32 to +32 mm, -1.26 to +1.26”)

Mach Cut Pos

-256 to +256 [dots]
(+000 [dots])

Logically shifts the cutting position back and forth.
(-32 to +32 mm, -1.26 to +1.26”) (Optional)

Mach Peel Pos

-256 to +256 [dots]
(+000 [dots])

Logically shifts the peel position back and forth.
(-32 to +32 mm, -1.26 to +1.26”) (Optional)

Mach Hor Pos

-16 to +16 [dots]
(+08 [dots])

Logically shifts the head position back and forth.
(-3 to +1 mm, -0.12 to +0.04")

AutoCal Mode ON, OFF Automatically controls the light amount in each
(ON) Media sensor menu (See Through, Reflect, None).
SeeThrough 0.0t0 3.3 [V] This menu is effective when “AutoCal Mode” is set
Sensor (0.0 [V]) to OFF. The light amount in Media sensor menu
“See Through” can be changed manually.
Larger value emits larger amount of light.
Reflect Sensor 0.0to 3.3 [V] This menu is effective when “AutoCal Mode” is set
(0.0 [V]) to OFF. The light amount in Media Sensor menu

“Reflect” can be changed manually.
Larger value emits larger amount of light.

SeeThrough
Sensitivity

Low, Medium, High
(Low)

This menu is effective when “AutoCal Mode” is set
to OFF. The sensitivity of the transparent sensor
can be changed in 3 levels.

Reflect Sensitivity

Low, Medium, High

This menu is effective when “AutoCal Mode” is set

(Low) to OFF. The sensitivity of the reflective sensor can
be changed in 3 levels.
Darkness Rate High, Low The rate for darkness increase/decrease can be
(High) set.
Double Heat ON, OFF To display the item “Double Heat Menu” in the
Menu (OFF) “PageSetup Menu” or not is selectable.

CL-S621, CL-S621C & CL-S631

2-46




2-3. Operation Panel

Submenu Name Adjustable Value Description
(Default Value)
PowerOn Head ON, OFF To perform the head check at power ON or not is
Check (ON) selectable.
Ribbon End Quick, Normal, Sets the ribbon end detection time.
Detection Slow (Quick)
Parallel Error Out ON, OFF To set the Fault signal to ON or not at the time of
(ON) error occurrence in parallel interface is selectable.
USB Serial ON, OFF To send the serial number to the host when the
Number (OFEF) USB interface is connected to the printer or not is
selectable.
Auto Exec Print ON, OFF To execute the Auto Exec file stored in the printer
(ON) at power ON or not is selectable.
Config Print Standard, Reversed | Print layout type can be selected.
Layout (Standard) Standard: Prints setting items on the left and set

values on the right.
Reversed: Prints set values on the left and setting
items on the right.

Print Preference

Darkness, Speed
(Darkness)

To put the priority on printing density or printing
speed is selectable.

Note: “Through Sensor Position” adjustment and “Reflect Sensor Position” adjustment must
be done after one of the following parts is replaced.
+ SA, Main PCB
* SA, Transparent Sensor PCB
« SA, Reflective Sensor PCB

2-47

CL-S621, CL-S621C & CL-S631



2-3. Operation Panel

How to change the value in the Factory Mode menu

For example, the following shows how to logically move the thermal head position 1 mm
(0.04”) toward the right side. In this case, you should add 8 (dots) to the current value (e.g.
+08).

* Variable range: -16 to +32 dots (default +08 dots) (-2 to +4 mm, -0.08 to +0.16”)

* 8 dots correspond to 1 mm. (203 dots correspond to 17.)

—> ’4—1 mm
N

[N

II__|/

— <¢{-1» t

- =1

>

Head

[Front]

1. Perform steps 1-6 on page 2-43 to enter the Factory Mode menu. See “(b) How to enter
the Factory/Service Mode”.
2. Press the [PAUSE] key until “Mach Hor Pos” submenu is printed.

Do you want to change “Factory Mode Menu” items?
Y es=(PAUSE) No=(STOP) Exit=(MODE)
Through Sensor Position £000
S ave=(PAUSE) Next Digit=(FEED) Change value=(STOP) Exit=(MODE)

Mach Hor Pos 108
':‘:> Save=(PAUSE) Next Digit=(FEED) Change value=(STOP) Exit=(MODE)

Note: In the actual printing, the cursor “” will be printed instead of “_(underline)”.

3. To set the value to 16 (8 plus 8), press the [FEED] key to move the cursor to the next digit
(+08), and then press the [STOP] key once to specify “1”.
Each time you press the key, the value of the current digit with the cursor will scroll (0, 1, 2,
3,4,...,9,0).

4. Next, press the [FEED] key to move the cursor to the next digit (+18).
The changed value is printed.

Mach Hor Pos +18
Save=(PAUSE) Next Digit=(FEED) Change value=(STOP) Exit=(MODE)

5. Press the [STOP] key 8 times to specify “6”.
Each time you press the key, the value will scroll (8, 9, 0, 1, ...., 6).
6. To save the set value, press the [PAUSE] key.
The set value will be printed. Be sure that the new value is “16”, and then press the
[MODE] key to exit the item.
* If the value is not the one you expected, repeat above operation.

Mach Hor Pos +16_
Save=(PAUSE) Next Digit=(FEED) Change value=(STOP) Exit=(MODE)

CL-S621, CL-S621C & CL-S631 2-48



2-3. Operation Panel

(b) Service Mode menu table

Submenu Name Value Description
Head Check None [PAUSE]: Checks the number of defective
thermal elements and prints it. If no defective
thermal element is found, “0” will be printed.
Example: Bad head element: 0 dot(s)
[STOP]: Nothing is printed.
ROM Check None [PAUSE]: Performs ROM checksum test, and
prints the check result (OK or NG) and the
checksum value.
Example: PROGRM ROM OK 4F4E
[STOP]: Nothing is printed.
RAM Check None [PAUSE]: Performs RAM capacity check and
prints the check result.
Example: RAM OK 16384K
[STOP]: Nothing is printed.
Print Counter None [PAUSE]: Prints the total printed length
accumulated from when the printer is firstly
used.
Example: Length 1234.5Km
[STOP]: Nothing is printed.
Service Counter None [PAUSE]: Prints the service counter length in
Km accumulated from when it was reset last
time.
Example: Length 0123.4Km
Clear Service Counter ?
Yes=(PAUSE) No=(STOP)

To clear the service counter, press the
[PAUSE] key again. To quit, press the

[STOP] key.
[STOP]: Nothing is printed.
Cut Counter None [PAUSE]: Prints the cut counter value

accumulated from when it was reset last time.
Example: Count 10
Clear Cut Counter ?
Yes=(PAUSE) No=(STOP)

To clear the cut counter, press the
[PAUSE] key again. To quit, press the
[STOP] key.

[STOP]: Nothing is printed.

2-49 CL-S621, CL-S621C & CL-S631



2-3. Operation Panel

How to perform the check in the Service Mode menu
For example, the following shows how to perform the head check.

1. Perform steps 1-7 on pages 2-43 to 2-45 to enter the Service Mode menu. See “(b) How to
enter the Factory/Service Mode”.
2. Press the [PAUSE] key until “Head Check” submenu is printed.

Do you want to change “Service Mode Menu” items?
Yes=(PAUSE) No=(STOP) Exit=(MODE)

Head Check Exec
: Yes=(PAUSE) No=(STOP) Exit=(MODE)

3. Press the [PAUSE] key to check for head abnormality.
The number of faulty thermal elements is printed.
Example: Bad head element: 0 dot(s)
After printing the check result, the next submenu is automatically printed.

If you press the [STOP] key, nothing is printed.

CL-S621, CL-S621C & CL-S631 2-50



2-4. Interface

2-4. Interface

2-4-1. Serial Interface

(1) Specifications

System Start/stop asynchronous full duplex communication
Signal level RS-232C

Baud rate 2400, 4800, 9600, 19200, 38400, 57600, 115200 bps
Data length 7 bits, 8 bits

Stop bit 1 bit, 2 bits

Parity Odd, even, none

Connector D-SUB JHBY-25S-1A3G 25PIN (JST)

(2) Signal line and pin assignment

Pin No. Signal Signal name Function
Abbr.
1 FG Frame ground Protective grounding
2 TXD Transmit Data Signal line that transmits data from the printer to
the host
3 RXD Receive data Signal line that transmits data from the host to
the printer
4 RTS Request To Send | Pulled up to +12V through 3.3 kQ
5 NC | - Not used
6 DSR Data Set Ready | Signal line that is active when the host can
interface with the printer
7 SGND Signal ground Signal grounding line
817,19 |[NC |- Not used
18 VCC +5V (Factory use only )
20 DTR Data Terminal Signal line that is active when the printer can
Ready interface with the host
21-25 |[NC | - Not used
2-51 CL-S621, CL-S621C & CL-S631



2-4. Interface

(3) Protocol
XON/XOFF system:
Controlled with the data transmission request signal X-ON (11H) code and the data
transmission stop request signal X-OFF (13H) code.

The conditions for the X-ON code output are as follows:
* When the printer is turned from off-line to on-line.
* When the remaining of receive buffer is 1024 bytes or more after sending X-OFF code.

The conditions for the X-OFF code output are as follows:
* When the remainder of receive buffer is 128 bytes or less.
* When the printer is turned from on-line to off-line.

When the media end is detected.

When a printer error occurs.

0 16K bytes 16K

< >l

Received data
<1024 bytes —=
12
X-ON code sending 8 bytes
v
X-OFF code sending
READY/BUSY System:

DTR signal is controlled with READY ("High")/BUSY ("Low") level.

DTR turns to "High (Ready)" in the following conditions:

* When the printer is in on-line mode, and

* When the remaining buffer is 128 bytes or more.
(After DTR becomes "High", DTR retains "High" until the remaining buffer becomes 1024
bytes or less.)

DTR turns to "Low (Busy)" in the following conditions:

* When the printer is in off-line mode.

* When the remaining buffer is less than 128 bytes.
(After DTR becomes "Low", DTR retains "Low" until the remaining buffer becomes 1024
bytes or more.)

CL-S621, CL-S621C & CL-S631 2-52



2-4. Interface

2-4-2. USB Interface

(1) Specifications

Standards Complies with Universal Serial Bus Specification
Transmission speed | Compatible with 12Mbps (full speed) transmission
Receive buffer 16K bytes

Connector DUSB DUSB-BRA42-T11 (DDK)

(2) Signal line and pin arrangement

Pin No. | Signal code Signal Function
1 VBUS USB power | USB power (+5V)
2 D+ Signal line + | + signal line
3 D- Signal line - | - signal line
4 GND GND GND

2-4-3. Parallel Interface (Option)

(1) Specifications

Transmission system | 8-bit parallel data

Receive buffer size 16K bytes

Transmission modes | Compatible mode

It is an asynchronous forward channel mode to send the byte width
data from the host to the printer. The interface line of the data is
operated in accordance with signal line definitions of Centronics.
NIBBLE mode

It is an asynchronous reverse channel mode to send the data from
the printer to the host. In Nibble mode, 4-bit data (half byte) is sent at
a time using the 4 status lines (FAULT, SELECT, PE, and BUSY). To
send one complete byte data, the printer sends 2 nibbles (8 bits in
total) to the host. Nibble mode is usually combined with Compatible
mode to create a complete bi-directional channel.

ECP mode

ECP mode permits bi-directional asynchronous data transmission,
and by means of interlock handshake, it does not require the timing
necessary with Compatible mode.

Signal level IEEE1284 compatible

2-53 CL-S621, CL-S621C & CL-S631



2-4. Interface

(2) Signal line and pin assignment

Pin No. | Signal name I/0 Function in Compatible Mode
1 STROBE Input Strobe signal to read in 8-bit data
2-9 DATAO-7 Input 8-bit parallel signal
10 | ACKNLG Output | 8-bit data request signal
11 BUSY Output | Signal specifying printer busy
12 PERROR Output | Signal specifying media end
13 SELECT Output | Signal specifying if the printer is on-line (printing enabled)
or off-line
14 AUTOFD Input Invalid (ignored)
15 NC - Not used
16 SGND -—- Signal ground
17 FGND -—- Frame ground
18 P.L.H Output | Peripheral logic high (pulled up to +5V at 1KQ)
19-30 | GND - Ground for twisted pair return
31 PRIME Input Printer reset
32 FAULT Output | Signal specifying printer error
33 GND --- Signal ground
34 NC - Not used
35 FUSE - Not used
36 SELECTIN | Input Invalid (ignored)

(3) Parallel port status signals when an error occurs
The following table shows the status signal change when an error occurs.
Under the specifications for this bi-directional parallel interface, the parallel port status signals
when an error occurs are, as shown below, partially processed differently than with Compatible
mode used up till now. When bi-directional parallel interface is on in the setting menu, even if a
printer error has occurred, the BUSY signal line is not active ("H").

Error Compatible mode
Paper end Busy: L>H
PError: L—>H
Selectt H-—>L
Fault: H-oL

end
* Head open
* Other

Error other than paper | Busy: L—>H

PError: L— unchanged
Select: H-—>L
Fault: H-L

Conditions for Busy

* Receive buffer full
* Data being read
* Error

CL-S621, CL-S621C & CL-S631

2-54




(4) Compatible timing specification
[When power is on] (Timing to go on-line)

Power On

\ 4

2-4. Interface

Reset

BUSY

ACK

SELECT

[While receiving data]

Data0~7

Strobe

BUSY

A
Y
A

»
L

A

0.5ps 0.5ps

0.5us

h 4

Note:BUSY goes “High” at the falling edge of Strobe, and data is latched at the leading edge

of Strobe.

2-55

CL-S621, CL-S621C & CL-S631



2-4. Interface

[While receiving PRIME signal]

10~15usec or more

»
»

PRIME

BUSY

Ack

Fault

SELECT

Note:If the PRIME signal width is 10 usec or less, it is not accepted.
BUSY goes to “High” when the PRIME signal is accepted by the printer.

[Timing relationship between BUSY and ACK]

Center

BUSY

i
|
i
ACK !
|
|
f

<
«

About 2 ysec

CL-S621, CL-S621C & CL-S631 2-56



2-5. Power Supply

2-5. Power Supply

The power supply is a frequency-fixed reverse type switching regulator which outputs +5V and

+24V DC. Power supply will be 120V AC type or 220-240V AC type.

2-5-1. Block diagram

The following shows a block diagram for this power supply. For the circuit corresponding blocks A
to E, refer to the circuit diagram on the following pages:

Block A

Noise filter circuit
and rush current
preventing circuit

A 4

Block B
Current
smoothing
circuit

A 4

Block C

Converter and driver—| Output

circuit

Block D

circuit

o

Block E
Control circuit

2-57

CL-S621, CL-S621C & CL-S631



2-5. Power Supply

_— e mm mm = = o= .
32222%%3 |
I o +tO6006 + + +
el (120V type)
| g
|
| anss nse I
S
I 229
Anzz Nes I
l z"ga
o |
I 2L Me 6cd
: i pryeas B
e o e
o i w s | ] 1
I ' v ovd [ 1m ANIBAEY gL I
&) W .8 ] o
8 it
I O @ <z sed
| 1< " A0e LA oz I
o > | . 3 MY —— A
3§N = ey A B3
I §a8“§ 3[ ; II |
£7 R
| ) ) "8
J"l?l\tS II ;,;,As I
l 4nB8 | ASE 020
- | I rrons e |
| P I I ¥20 22 I
I s nees A9l ;;:‘;
ér:‘ I Inz'z me/L bid I
| o R
S 2 @ I I aiid svnzccf:gzu I
Io«'?, B (vaIHsoL)
Is g 5 8 : . :
LG g ©] 8
“Ts : Elon I
| L8% o] 2% - - - =
§ 128 O S
Iﬂ::': JE; g I I
o
§ | | |
| — = -— -
-— - — —— = == == m I R —
e g I
I oo 9| - § I I 4dees | AeST g I
b} " N
iF W R}
I (NQ¥LO3Y) I I 8 C?J
< 2 £OLYIH o o I
I _![_gg vn;\v.aaz Hnol 1 ! Jté/\:c
atisk za o %
I - ddezz M @l ME zzo Mz I
4deery noE9 it AW } ! A
O i W s N I o P |
)
g e o 11 A S
| 8 Yy ° . 11 anzeoe |
02T M W
I 5‘ W (s'n'a'l) . 410 nes ' |
iz I I 219
| zaz s |
L B —
= az
584g(= |
: W - 32358
L1y 9<:E|zln_:"~ I
I (mcaal?g: I I o] d
ol g g
AW » el |
I e A
o o o o o o o o = z".'AQ 418 AEY I
"
| Y _ o5
oce eee i-ezzH  wz'e 4ZZ0 AES I
&y &) 10z 63 6 _ I
U S L 7
3%}
| " (avs) I <C
e e o mm mm = €z10d °
| 7 deect Aese - | X
it R
I A0TT M2/ %02z MZ/| . I Vilid 1€0 o A Q
W M 1 84 (@)
23 oLy - - - - o e Ee e e . —
| ineee AGoz anece ooz | m
2 vy II————————————————————
| o | 2"
8 w w &
| §.18
” of | %
§6 | 1 TR
I 5 < I 9-Z0£88M 9-V0ETSZO N
IS ¥ ¢ AWAL7 4
|1 © B | 8 . L |3 . 5 e .3
— g | 839 Q2R | 23R 575 ~zf : =
| @ | 8 S VE'9L ASZI : <2
enr | % I% ’l\; ¢ ﬁ\'s l

CL-S621, CL-S621C & CL-S631

L



— e - - - - s . o o .

2-5. Power Supply

—
ic1 -
CSOUTI-¢
FB VCC!
REF IS5
RTGND
FAS511P
(Fudl)

8
2
7
1

— o - o o o =
3es00iii I
, 1agagiii (220-240V type)
© —[N™[F0[o[N[o] 2 I
(o}
ML
4n9g AGE
|
Jis)
422 7S 1
2
%ll'$f/l I
’IZ;LMZ 6ed I
ey 010 ASS
=) AT MZ JI“A Ll i |
L'c; ) I'
(@] M av”’A i I I ANIBAEY  ag) I
le) 128 8 it YW
b 5> 529 sed I
o s || e e
aBuls 5[ z s IENE I
sTR e i
J"l':a:l\£9 " Z’Z I
4nees | ASE ez I
319 I I dnenes et
it Wy
anj; Ace " ¥20 v |
st 4neas| A9L ‘:":‘.
4 | 1ed |
610 T Mess Ld
Wy G
9s 0l " o slis svievrmL I
=33 83z I (vaiHsoL) |
B
® I§ ‘;‘I < :l"::i‘ £ I
8::'3 w é u"§ S§ II I
] ®©Z
% 8% o2 §§ - - = = q
R I I
al8 ~§ © ] I
8::9 P w
g 1
= —_ = _I |
i Ry il B S b e e e = = =
b 3
'WMNE 0 i % = I de;:l: A8sz " gE
(NO¥LO3Y) I 0 cas
= COLMIH
Ssé V1 Agez Hngl I . nee Ase
EME%E » u;{,lu i #
- ddezz ME oL Me I 2z M
el i
o 50 Ovsouecesis | I I oo M
A0zZ M2 22 12y
v W 532 ] | anzzoe
8 1= ch |
- oy i [ rvoses
o 1-gzz 1 4]
2z I —_—s
U
ECR I |
|
|

80

|
l u

W\
FACELIN:-FA)

I
I
I
I
I
I
I
I
I
o I
: I
I
I
I
I
N
;

[ o
it
| p 610
seee neee i—TzH  wz's 4nTz'e AES
I [x] izl 1az 6 [>e]
| anenes € e
— — — — — — — — — — — — i} A
| 19 %Y
(duvHSs)
i — éciad <
I I 7 de;:: 05z " v
I !GZ{IAAI\Z/I ’IGZE.I:\Z/I N V-iid 180 EJ 8
s ol L e e e = = o o = = e
I 4NGEE AGBT Jneee oez |y om
l._=‘§3 z’js:t ll——————————————————-g—l
o
I 3 M T 1% 8
g1 8.8
| . 8<% 312 E| |
o gl 3 |3
| x §2% |1 & |8 I
e 9-zeegsrn 9-+0£7520 oL
O w UJLS ? m . W
=i T W
O I ] I H N >|
I 5 o8 es 518 ols - .3
— 2 | RE 92§ | 228 o7s ~%§ : o8
m 3 3 . | 9 B
| | S = veveL agse : l
=1 b o YT T
IND

2-59 CL-S621, CL-S621C & CL-S631



2-5. Power Supply

2-5-2. Block A (Noise filter circuit and rush current preventing circuit)

The filter circuit consists of the power switch (SW1) the fuse (F1), the X capacitors (C1, C2), the Y
capacitors (C3, C4), the common mode choke coils (L1 and L2), the varistor (Z1), and the
thermistor (R1).

This circuit eliminates switching noise from the power supply to the main power line. Also, it
eliminates noise from the main power line to the power supply to protect the power supply circuit.
The thermistor R1 suppresses the rush current to the power supply circuit at power on. In
continuous operation, the resistance of R1 is reduced as it is heated, reducing the power loss by
R1.

2-5-3. Block B (Current smoothing circuit)

This block consists of the bridge rectifier DS1, the smoothing capacitors C5-1 and C5-2, and
resistors R8 and R10.

<For 120V type>

Half-wave rectification is performed by the bridge rectifier DS1 and the capacitor C5-1 and also by
the bridge rectifier DS1 and the capacitor C5-2. Thus, the DC voltage across R8 and R10 (output
of this circuit) becomes approx. 2.8-time of the AC input voltage. (It will be approx. 320V DC if the
input voltage is 115V AC.) This DC voltage is supplied to the next converter and driver circuit.

The choke coil L3 suppresses high frequency waves to meet the regulations against high
frequency waves.

<For 200-240V type>

Full-wave rectification is performed by the bridge rectifier DS1 and the capacitors C5-1 and C5-2.
The DC output of this circuit will be approx. 1.4-time of the AC input voltage. (It will be approx.
320V DC if the input voltage is 230V AC.) This DC voltage is supplied to the next converter and
driver circuit.

The choke coil L3 suppresses high frequency waves to meet the regulations against high
frequency waves.

2-5-4. Block C (Converter and driver circuit)

(1) Converter circuit
The converter circuit operates with conducting-angle-controlled reverse method with frequency
fixed. The rectified and smoothed voltage (e.g. 320V DC) is converted by the switching
transformer T1 and then supplied to the secondary circuit.

When Q1 is turned ON, 320V DC is applied to the primary winding N1 of T1. At this time, the
voltage is induced in the secondary windings N3 and N4 and energy is charged in T1 since the
energy flow to the secondary output circuit is blocked by the diodes DS2 and DS3.

When Q1 is turned OFF, the energy polarity is reversed and the energy charged in the
secondary windings N3 and N4 is discharged to the secondary output circuit through DS2 and
DS3. Above operation is repeated and the energy is continuously fed to the secondary output
circuit.

CL-S621, CL-S621C & CL-S631 2-60



(2)

2-5. Power Supply

The following circuit reduces the switching noise. So the output noise and the EMI
(electromagnetic interference) noise are suppressed, and the reversal voltage applied to Q1,
DS2 and DS3 is also reduced.

* C13 and R25 connected between drain and source of Q1 /D1, C6, R7 and R5 connected to
the primary winding N1/ C18, C21, R28, FB2 connected to DS3 / C29, C30, R26, FB1
connected to DS2

Driver circuit

The switching FET (Q1) is driven by the control IC (IC1). When power is turned ON, power is
applied to pin 6 (VCC) of IC1 through R3 and R4. Then, the current starts to flow into the
primary winding N2 and voltage is produced there. When the voltage at pin 6 (VCC) reaches
approx. 16V DC, IC1 is activated and a pulse is output from pin 5 (OUT) of IC1 to drive Q1.
When Q1 starts switching, approx. 20-25V DC is supplied from N2 to pin 6 (VCC) of IC1 to
stably activate IC1. During stable oscillation, the switching pulse is continuously output from
pin 5 (OUT) of IC1 to Q1 through R17, R18 and D3. The oscillation frequency is determined by
R12 connected to pin 1 (RT), and the conduction-angle control is made by the control voltage
fed from the secondary circuit to pin 2 (FB) of IC1. The following timing chart shows the control
waveforms at various points.

Pin 2 of IC1 (FB) D
NS N\

Pin 5 of IC1 (OUT)
oV

Vds of Q1

oV

ID of Q1

0A

Secondary current i
flowing into DS2/DS3 0A \|

Vds: Voltage between the drain and source of Q1
Id:  Current flowing in the drain of Q1

2-61 CL-S621, CL-S621C & CL-S631



2-5. Power Supply

2-5-5. Block D (Output circuit)

DS2, C15 and C16 perform half-wave rectification to produce +24V.
DS3 and C19 perform half-wave rectification to produce DC voltage to supply to the +5V regulator
IC (IC31). IC31 produces a stabilized +5V voltage.

2-5-6. Block E (Control circuit)

The shunt regulator (IC32) and photo coupler (PI1) detect the output voltages (+24V and +5V) and
feed the signal back to the primary side. R33, R34, R36 and VR1 are used to detect +24V and +5V
outputs. The voltage produced by these resistors is compared with the reference voltage of 1C32
(2.5V). If there is a difference between both voltages, the current flowing into the photo coupler PI1
is changed. So, the signal fed back to pin 2 (FB) of IC1 in the primary side is also changed. Then,
the conduction-angle for Q1 is changed to stabilize +24V and +5V constant.

<Over current protection circuit>

The over current protection circuit detects the drain current of Q1 to check if power supply circuit is
overloaded or its output is short-circuited. If over current is detected, IC1 cuts off the output signal
from pin 5 (OUT) for protecting power supply circuit.

The drain current (Id) of Q1 is detected by R23, R22, R21 and C11, and input to pin 3 (IS) of IC1.
If the voltage at pin 3 (IS) exceeds the internal reference voltage (0.24V) of IC1, the switching
pulse sent from pin 5 (OUT) is cut off, resulting in lower output voltage.

If over current condition due to overloading or output short-circuit continuous, the voltage at pin 8
(CS) of IC1 increases, and after a certain period of time, the voltage will exceed the internal
reference voltage (8.5V) of IC1. In this case, IC1 is latched to off mode and the output at pin 5
(OUT) is set to “Low” level (off condition). Then, the output voltages (+24V and +5V) is shut off.
To recover the latched state, turn OFF the power and, after a while, turn it ON again.

<Protection circuits in case of abnormality>

In case of abnormality, the power supply circuit automatically stops its operation to avoid smoking
or fire.

When temperature of the power supply raises abnormally, the thermal fuse TF1 opens and the
drive signal to Q1 is cut off. When the output voltage rises, the voltage across the primary winding
N2 also proportionally raises. In this case, the Zener diode ZD1 is turned ON and the voltage
higher than 8.5V is applied to pin 8 (CS) of IC1. Then, IC1 enters latch mode and stops its
operation.

To recover the latched state, turn OFF the power and, after a while, turn it ON again.

If large current flows, the fuse (F1) in the noise filter circuit will be blown out.

CL-S621, CL-S621C & CL-S631 2-62



CHAPTER 3

DisassemsLy ano MAINTENANCE

3-1 CL-S621, CL-S621C & CL-S631



3-1.

3-3.

3-4.
3-5.

CHAPTER 3 DISASSEMBLY AND MAINTENANCE

TABLE OF CONTENTS

MaiNtENANCE PrECAULIONS ......ieiiieeeee ettt et e e e e e eeens
(011 1o o RO PPPR
[0 [ o) Tor= (o] o [

3-3-1
3-3-2
3-3-3
3-3-4

Lubrication frEQUENCY ........eii i e
Types Of IUDFICANT ........eiiiiiiee e
Quantity Of IUDFICANT........coiiiie e
T o T SRR

MaiNteNANCE TOOIS LISt ...eniieiieiie i et e e e e ens
Disassembly, Reassembly and Lubrication ...

3-5-1.
3-5-2.

3-5-3.
3-5-4.
3-5-5.
3-5-6.
3-5-7.
3-5-8.
3-5-9.
3-5-10.
3-5-11.
3-5-12.
3-5-13.
3-5-14.
3-5-15.
3-5-16.

3-5-17.
3-5-18.

3-5-19.
3-5-20.
3-5-21.
3-5-22.
3-5-23.
3-5-24.

“SA, TOP COVEI BASE ...t

“SA, Ribbon Motor F/R” and “SA, Ribbon PCB” .........coouiiieieeeeeeeeeeeeeeee,
“Catch, Ribbon Holder” and “Knob, Ribbon Unit” .........ccooveieieieeeeeeeea
“Unit, Ribbon Sensor F/R” and “SA1, Ribbon Unit Base Plate”.........................
“SA, Ribbon Tension Shaft F” and “SA, Tension Sensor’ ........ccovveeeeeeieeeieanenn..
“SA, Ribbon Tension Shaft R” and “SA, Tension Sensor’..........cccccccuvvvvvviennnnnnn.
Main PCB Block, “Unit, Power Supply” and “Unit, Control Panel” .....................
“SA, MAIN PCBY ...t e e e e e e e e s
“SA, OpPE-Pane PCB ...
“Unit, Mechanism” and Cas@ L .....c.veeiieeee e
“SA, Plalen ... s
U o1 = o LYo | o U R
“SA, Head Up Sensor PCB”, “SA, Transparent Sensor PCB” and

“SA, Transparent Sensor Cable”..............uuceiiiiiiiiiiiicce e
(1) “SA, Head Up Sensor PCB” and “SA, Transparent Sensor PCB” .............
(2) “SA, Transparent Sensor Cable” ..o
“Unit, Head-TT” and “Unit, PR ... .o
RS TN o 1T o
(1) Head SADIOCK ....coeiiiiiiieee e
(2)  “SA, HEAA" ... ————————————————————
“SA, Head Adjust” and “Cam, Head Balance” ...............ccccuuvemmienniniiiiiiiiiininnnns
ST AW 1Y (o] (o sl
“SA, Reflective SENSOr PCB ......cou e

“Lever, Head Lock” and “SA, Main Plate R ........cooieeieee e,
“Frame, Main”, “SA, Main Plate L” and “SA, Plate Peeler” ........cc.ccovveeeeeeiiniian..

3-6.  AdJUSTMENES ...

CL-S621, CL-S621C & CL-S631 3-2



3-6-1.

3-6-2.

3-6-3.
3-6-4.

Transparent/Reflective Sensor Position Adjustment.............cccccceeiiiiiiiiiinenn. 41
(1) Sensor position adjustment (factory mode) ...........cccceeeeiiiiiiiiiiiiiee 41
(2) Sensor sensitivity adjustment (maintenance mode)...........ccccccceeiiieeeinen, 41
(2-1)  Preparation..........c..eeeiiiiieeee e 41
(2-2)  Adjustment proCedures...........ccceeieeeeiiiiiiiiiie e 42
Ribbon Slant Elimination Adjustment ... 46
(1) Ribbon slant elimination adjustment (For user) ............cccooeevviiiieiiieeeeeennn, 46
(1-1)  Ribbon slant elimination adjustment for user (FRONT)................ 47
(1-2) Ribbon slant elimination adjustment for user (REAR)................... 47
(2) Ribbon slant elimination adjustment (For service personnel).................... 48
(2-1)  Tension base adjust cam position adjustment
(For service personnel)........ccccooeeeiiiiiiiieiieeeee e 48
(2-2) Ribbon guide position adjustment in the “SA, Head”
(For service personnel)..........ccooiiiiiiiiiiee e 50
Ribbon Tension Adjustment.............ouiiiii i 53
Maintenance Information - Head Adjust Shim...........ccccoiiiiii 54

3-3 CL-S621, CL-S621C & CL-S631



3-1. Maintenance Precautions

3-1. Maintenance Precautions

— WARNINGS
(1) Before starting disassembly/reassembly or mechanical adjustment, be sure to disconnect

the power cord from the power source.

(2) Do not replace a fuse with the power switch turned on.

(3) The fuse is provided to prevent fire, and damage to the “Unit, Power Supply”.
When replacing it, use the same rating and type.

(4) The main plug on this equipment must be used to disconnect main power.
Please ensure that the socket outlet is installed near the equipment and is easily
accessible.

Observe the following in maintenance work:

— CAUTIONS
(1) Do not disassemble/reassemble or adjust the machine, if it functions properly.

Particularly, do not loosen screws on any component, unless necessary.

(2) After completing an inspection and before turning on the power, be sure to check that there
is no abnormality.

(3) Never try to print without media.

(4) Check that the media is properly set.

(5) Do not lay anything on the cover or lean against it during maintenance or while the printer is
in operation.

(6) During maintenance, be careful not to leave parts or screws unattached or loose inside the
printer.

(7) When handling a printed circuit board, do not use gloves, etc., which can easily cause static
electricity. Since ICs, such as CPU, RAM and ROM, might be destroyed by static electricity,
do not touch lead wires or windows unnecessarily.

(8) Do not put the printed circuit boards directly on the printer or on the floor.

(9) When disassembling or reassembling, check wires for any damage and do not pinch or
damage them. Also, run wires as they were.

CL-S621, CL-S621C & CL-S631 3-4



3-2. Cleaning, 3-3. Lubrication

3-2. Cleaning

Cleaning spots are listed below.

Cleaning Position Description
Cabinet Wipe soiled parts of the printer with a clean dry cloth. Remove bits
of media, etc., using tweezers.
Note: When cleaning, be careful not to scratch the equipment or to
bend parts, etc.

Thermal head Clean the thermal head with the head cleaner only.

Platen Clean the platen with a soft cloth.

Media running surface Wipe off media refuse, etc., on and around the media running
(“SA, Platen”) surface.

Clean inside the printer in accordance with the following:
* Cleaning frequency: Every 6 months or 300 hours of operation. (Whichever comes first)
* Materials: Dry cloth (gauze or soft cloth) and thermal head cleaner

3-3. Lubrication

3-3-1 Lubrication frequency

This is a maintenance-free machine and requires no lubrication under normal use. However,
the machine should be lubricated whenever it is disassembled and reassembled, or when
lubricated parts are cleaned.

The parts to be lubricated are indicated in the disassemble procedure with the mark *.

3-3-2 Types of lubricant

* Floil G-311S (by Kanto Chemical Co., Ltd.)
* Floil G-474C (by Kanto Chemical Co., Ltd.)

3-3-3 Quantity of lubricant

Small quantity.......... b G About 1 drop.
Ordinary quantity .... * % ........ About 3 to 4 drops.
About 0.2 mm thick for grease.
Large quantity.......... *okok o Apply sufficiently.
3-3-4 Bond
Threebond1401B

3-5 CL-S621, CL-S621C & CL-S631



3-4. Maintenance Tools List

3-4. Maintenance Tools List

Maintenance tools shown below are needed when replacing the maintenance parts such as the
“SA, Main PCB”, “SA, Motor”, etc.

Maintenance Tools List

No. Name Q'ty Description Remarks
1 Phillips Screwdriver 1 For 3~4 mm screws
(Length 200 mm)
2 Phillips Screwdriver 1 For 2~3 mm screws
(Length 100 mm)
3 Flat-blade Screwdriver 1 4.3 mm width
(Length 100 mm)
4 Box wrench 1 Box size: 5 mm
5 Tweezers 1
6 Round Nose Pliers 1
7 Cutting Nippers 1
8 Soldering Iron (30W) 1
9 Volt-ohm Meter 1
10 | Spring Gauge 1 5009

CL-S621, CL-S621C & CL-S631 3-6



3-5. Disassembly, Reassembly and Lubrication

3-5. Disassembly, Reassembly and Lubrication

Caution: Forbidden screws on the “Unit, Ribbon”
DO NOT loosen or remove the following 10 screws.
The “SA1, Ribbon Unit Base Plate” consists of three parts, and is assembled with 10
screws. If the “SA1, Ribbon Unit Base Plate” is disassembled, correct ribbon running
cannot be assured. Namely, ribbon slant correction may become impossible within the
adjustable range of the Ribbon Left-Right Balance Adjustment Knobs (Front/Rear).

\
SA1, Ribbon Unit
Base Plate
Five screws
DO NOT LOOSEN.
Five screws
\ DO NOT LOOSEN. /

Ribbon Left-Right Balance Adjustment Knobs (Front/Rear)

3-5-1. “SA, Top Cover Base”

1. Open the “SA, Top Cover Base” and remove it while opening its rear ends as shown in the
figure.
2. Remove the two Ribbon Holders and the Paper Holder block from the printer

SA, Top Cover Base

(Ribbon Holders)

(Paper holder block)

3-7 CL-S621, CL-S621C & CL-S631



3-6. Disassembly, Reassembly and Lubrication

3-5-2. Case U

There are two ways to remove the Case U.

1) Removing the Case U without detaching the “Unit, Ribbon” (Normal way)
Procedure is long, but no adjustment is necessary when reassembling.

2) Removing the Case U after detaching the “Unit, Ribbon”. (Readjustment is necessary.)
You can remove the Case U easily. However,_once the “Unit, Ribbon” is detached, you need to
perform ribbon slant elimination adjustment.

(1) Removing the Case U without detaching the “Unit, Ribbon” (Normal way)

1. Remove the “SA, Top Cover Base”. Refer to “3-5-1 “SA, Top Cover Base™.

2. Remove 4 screws (PH (N), M3x4) and detach the “SA2, Ribbon Unit Fan”, and then
disconnect 1 connector (J706) from the “SA, Ribbon PCB”.
Remove 4 screws (PH (N), M3x4) and detach the “Cover R, Ribbon Unit”.
Remove 1 screw (BH (N), M3x6) and detach the “Cover, Motor”.
Peel off the “Cap, Case U”. It is not reusable.
Remove 1 screw (PHT (PT), M3x14) and detach the “Cover, Connector Case U” Block.
Remove 1 screw (PHT (PT), M3x14) and detach the “Cover, Connector” from the “Cover,
Connector Case U”.
Remove 5 screws (PHT (PT), M3x14).
Release the “Lever, Head Lock” (blue color) to open the “Unit, Head-TT”, and then carefully
detach the Case U Block by lifting it upward.

No ok

© ©

Cap, Casu U
\O ?7 PHT (PT), M3x14
PHT (PT), M3x14 ~_ \

Cover, Motor

Cover R, Ribbon Unit

Lever, Head Lock

CL-S621, CL-S621C & CL-S631 3-8



3-5. Disassembly, Reassembly and Lubrication

10. Remove the “Cover, Front” from the Case U Block.
11. Remove 1 screw (BH (N), M3x6) and 1 nut (M3), and detach the “Damper, Top Cover” from
the Case U upwardly.

), M3x6 —@, Damper, Top Cover

i)

/7

\‘J Nut, M3 (NI)
Cover, Fr

N
,.,@ /Q Label, FCC ICES VCCI-A

Case U 621

Notes on reassembling:

» The “Cap, Case U” cannot be reused once it has been peeled off.

* When assembling the “Damper, Top Cover”, tighten the screw while pushing down the
“Damper, Top Cover”.

3-9 CL-S621, CL-S621C & CL-S631



3-6. Disassembly, Reassembly and Lubrication

(2) Removing the Case U after detaching the “Unit, Ribbon”

Caution: When the “Unit, Ribbon” is removed, you need to recheck if ribbon wrinkles
appear or not. If ribbon wrinkles are found, correct them referring to
“Removing Ribbon Wrinkle” on page 3-51. Normally, adjustment with the
Ribbon Left-Right Balance Adjustment Knobs (Front/Rear) will remove ribbon
wrinkle.

1. Remove the “SA, Top Cover Base”. Refer to “3-5-1 “SA, Top Cover Base™.

2. Remove 2 screws (PH, M3x6) and detach the “Unit, Ribbon” by lifting it upward. At this time,
disconnect 1 connector (J702) from the “SA, Ribbon PCB”.

3. Remove 1 screw (BH (N), M3x6) and detach the “Cover, Motor”.

4. Remove 5 screws (PHT (PT), M3x14).

5. Release the “Lever, Head Lock” (blue color) to open the “Unit, Head-TT”, and then carefully
detach the Case U Block by lifting it upward.

(Ribbon Left-Right Balance
Adjustment Knob (Front))

PHT (PT), M3x14

}ase U Block)
g

Lever, Head Lock

CL-S621, CL-S621C & CL-S631 3-10



3-5. Disassembly, Reassembly and Lubrication

3-5-3. “SA, Fan”

1. Remove the “SA, Top Cover Base” and the “SA2, Ribbon Unit Fan”. Refer to Steps 1 and 2 in
“3-5-2-(1) Removing the Case U without detaching the “Unit, Ribbon” (Normal way)”.

2. Remove 4 screws (BHT (#2), M3x6 (NI)) and 4 washers (3x8x0.5), and detach the two
“Bracket, Ribbon Fan”.

3. Remove the “SA, Fan” and the “Cap, Ribbon Cover” from the “Cover L, Ribbon Unit”.

Cap, Ribbon Cover

Plain, 3x8x0.5

Bracket, Ribbon Fan

BHT (#2), M3x6 (NI)

3-11 CL-S621, CL-S621C & CL-S631



3-6. Disassembly, Reassembly and Lubrication

3-5-4. Ribbon Gears

1. Remove the “SA, Top Cover Base” and the “SA2, Ribbon Unit Fan”. Refer to Steps 1 and 2 in
“3-5-2-(1) Removing the Case U without detaching the “Unit, Ribbon” (Normal way)”.

2. On the front (ribbon take-up) side, remove 1 screw (NO. 0, THF, M2x3 (NI)) and 1 “Plate,
Ribbon Washer”. Then, remove the “SA, Holder R Shaft”, “Spring, Ribbon Return”, and “Gear
5F, Ribbon” in that order.

3. Also on the front side, disengage 1 E-ring and remove the “Gear 2, Ribbon”, “Gear 1, Ribbon”,
“Gear 3, Ribbon”, and “Gear 4, Ribbon” in that order.

4. On the rear (ribbon supply) side, remove 1 screw (No. 0, THF, M2x3 (NI)) and 1 “Plate, Ribbon
Washer”. Then, remove the “SA, Holder R Shaft”, “Spring, Ribbon Return”, and “Gear 5R,
Ribbon” in that order.

5. Also on the rear side, disengage 1 E-ring and remove the “Gear 2, Ribbon”, “Gear 1, Ribbon”,

“Gear 3, Ribbon”, and “Gear 4, Ribbon” in that order.
Gear 5R, Ribbon

Spring, Ribbon Return
FLOIL G-474C
* 7 SA, Holder R Shaft
/,/ @\ / Plate, Ribbon Washer
- ~

TN Gear 4, Ribbon
/R

- q ,.Q
\\\ !(@@ Gear 1, Ribbon VO 0 THF, M2x3 (NI)

Gear 3, Ribbon

\\ N 7
. % Gear 2, Ribbon

X E-Ring, 4
7 7 Gear 5F, Ribbon

@ NO. 0, THF, M2x3 (NI)
/o
Plate, Ribbon Washer

SA, Holder R Shaft
Spring, Ribbon Return

>< — Gear 1, Ribbo

!' Gear 4, Ribbon

Gear 2, Ribbon/ E-Ring, 4
Gear 3, Ribbon

Notes on reassembling:
+ Distinguish the “Gear 5F, Ribbon” from the “Gear 5R, Ribbon”, referring to the following figure.
Gear 5F, Ribbon  Gear

—_

5R, Ribbon

CL-S621, CL-S621C & CL-S631 3-12



3-5. Disassembly, Reassembly and Lubrication

* Assemble the “SA, Holder R Shaft”, the “Spring, Ribbon Return”, and “Gear 5F, Ribbon”/5R as
follows:

Gear 5F, Ribbon/
Gear 5R, Ribbon

» Apply FLOIL G-474C to the parts (gears and shafts) shown by the * marks.

3-5-5. “SA, Ribbon Motor F/R” and “SA, Ribbon PCB”

1. Remove the “SA, Top Cover Base” and the “SA2, Ribbon Unit Fan”. Refer to Steps 1 and 2 in

“3-5-2-(1) Removing the Case U without detaching the “Unit, Ribbon” (Normal way)”.

Disconnect 1 connector (J702) from the “SA, Ribbon PCB”.

Remove 2 screws (PH, M2.6x3), disconnect 1 connector, and detach the “SA, Ribbon Motor

F”.

4. Remove 2 screws (PH, M2.6x3), disconnect 1 connector, and detach the “SA, Ribbon Motor
R".

5. Remove 4 screws (BH, M3x6 (NI)), and detach the “SA, Ribbon PCB” and the Ribbon Board
Insulator.

w N

Insulator, Ribbon Board PH, M2.6x3

SA, Ribbon Motor R

SA, Ribbon Motor F )
SN

SA, Ribbon PCB

3-13 CL-S621, CL-S621C & CL-S631



3-6. Disassembly, Reassembly and Lubrication

Note on reassembling:
* When assembling the “SA, Ribbon Motor F” and the “SA, Ribbon Motor R”, tighten screws while
pushing the motor toward the “Gear 1, Ribbon”.

Gear 1, Ribbon

3-5-6. “Catch, Ribbon Holder” and “Knob, Ribbon Unit”

1. Open the “SA, Top Cover Base”. Refer to “3-5-1 “SA, Top Cover Base™.
2. Remove 4 screws (BH, M3x3 (NI)) and detach the 2 “Catch, Ribbon Holder”.
3. Remove 2 screws (PHT (#2), M3x8 (NI)) and detach the “Knob, Ribbon Unit”.

PHT (#2), M3x8 (NI)

BH, M3x3 (NI)

Knob, Ribbon Unit

CL-S621, CL-S621C & CL-S631 3-14



3-5. Disassembly, Reassembly and Lubrication

3-5-7. “Unit, Ribbon Sensor F/R” and “SA1, Ribbon Unit Base Plate”

Caution:
DO NOT disassemble the “SA1, Ribbon Unit Base Plate” that consists of three parts.
If it is disassembled, correct ribbon running cannot be assured. Namely, ribbon slant
correction may become impossible within the adjustable range of the Ribbon Left-Right
Balance Adjustment Knobs (Front/Rear).

1. Open the “SA, Top Cover Base”. Refer to “3-5-1 “SA, Top Cover Base™.

2. Remove 4 screws (NO.O, TFH, M2x3 (NI)) and detach the “Cover, Ribbon Tension Adjust” on
the front and rear sides.

3. Remove 2 screws (BH, M3x3 (NI)) and detach the “Unit, Ribbon Sensor F”.

4. Remove 2 screws (BH, M3x3 (NI)) and detach the “Unit, Ribbon Sensor R”.

5. Remove 2 screws (PH, M3x6) and detach the “SA1, Ribbon Unit Base Plate” from the “Unit,
Mechanism”.

NO.0, TFH, M2x3 (NI)

Cover, Ribbon Tension Adjust

NO.0, TFH, M2x3 (NI)

SA1, Ribbon Unit Base Plate
DO NOT DISASSEMBLE.

BH, M3x3 (NI)

\%\

(Unit, Ribbon Sensor R)

Note on reassembling:
» When assembling the “Unit, Ribbon Sensor F/R”, perform “3-6-2 Ribbon Slant Elimination
Adjustment” on page 3-46.

3-15 CL-S621, CL-S621C & CL-S631



3-6. Disassembly, Reassembly and Lubrication

3-5-8. “SA, Ribbon Tension Shaft F”’ and “SA, Tension Sensor”

Caution:
DO NOT disassemble the “Cam, Tension Base Adjust” and tension adjust screw (PH,
M1.7x4) unless you need to replace them.

1. Open the “SA, Top Cover Base”. Refer to “3-5-1 “SA, Top Cover Base™.

2. Remove the “Unit, Ribbon Sensor F”. Refer to “3-5-7 “Unit, Ribbon Sensor F/R™.

3. Remove 2 screws (NO.O, TFH (BT), M2x4 (NI)) at both ends, and detach the “SA, Ribbon
Tension Shaft F” and “Bush 2, Ribbon Guide Roller” (2 pcs.).

4. Peel off the “Sheet, Static Eliminator 621” from the “SA, Ribbon Tension Shaft F”.

5. Remove 1 screw (PH (PW), M2x8), and detach the Tension Adjust Lever F Block and “Shaft,
Tension Adjust”.

6. Remove the “SA, Ribbon Sub Adjust Lever F” and “Spring F, Ribbon Tension” (2 pcs.) from the
“SA, Tension Adjust Lever F”.

7. Remove the tension adjust screw (PH, M1.7x4) from the “SA, Tension Adjust Lever F”.
Note: Do not remove this tension adjust screw unless you need to replace it.

8. Remove 2 screws (NO.O, TFH, M2x3 (NI)) and detach the “SA, Tension Sensor”.

9. Remove 1 screw (NO.0O, TFH, M2x3 (NI)), and detach the “Cam, Tension Base Adjust” from the
“SA, Ribbon Sensor Frame F”.
Note: Do not remove the “Cam, Tension Base Adjust”’ unless you need to replace it.

Shaft, Tension Adjust

Cam, Tension Base Adjust‘ ﬁ [

___PH (PW), M2x8

SA, Tension Adjust Lever F

Bush 2, Ribbon /

S
Guide Roller

NO.0, TFH,
M2x3 (NI)

NN g/gﬁggps'%@@ SA, Ribbon Sub
‘ - /ﬁ?ﬁ AdjustLeverF

// e Spring F, Ribbon Tension
’ SA, Ribbon Sensor Frame F

NO.0, TFH (BH),

/M2x4(NI) \% ‘

NO.0, TFH (BH),
. M2x4 (NI)

Sheet, Static Eliminator 621 SA, Ribbon Tension Shaft F Bush 2, Ribbon Guide Roller

CL-S621, CL-S621C & CL-S631 3-16



3-5. Disassembly, Reassembly and Lubrication

Notes on reassembling:

+ Distinguish the “Spring F, Ribbon Tension” (used here) and the “Spring R, Ribbon Tension” (used
in the next “3-5-9 “SA, Ribbon Tension Shaft R™). They look like the same, but the number of
turns differs.

@D:‘):‘)D:‘)])D)DD@DDDDD) 18 turns (Spring F, Ribbon Tension)
(CDUDDDILCVD 0D 20 turns (Spring R, Ribbon Tension)

* When assembling the “Cam, Tension Base Adjust”, adjust its position as shown in the figure to
set it at the mechanical center. Then, perform adjustment according to “3-6-2-(2-1) Tension base
adjust cam position adjustment (For service personnel)” on page 3-48.

* When assembling the tension adjust screw (PH, M1.7x4), perform “3-6-3 Ribbon Tension
Adjustment” on page 3-53.

3-5-9. “SA, Ribbon Tension Shaft R” and “SA, Tension Sensor”

Caution:
DO NOT disassemble the “Cam, Tension Base Adjust” and tension adjust screw (PH,
M1.7x4) unless you need to replace them.

1. Open the “SA, Top Cover Base”. Refer to “3-5-1 “SA, Top Cover Base™.

2. Remove the “Unit, Ribbon Sensor R”. Refer to “3-5-7 “Unit, Ribbon Sensor F/R”.

3. Remove 2 screws (NO.O, TFH (BT), M2x4 (NI)) at both ends, and detach the “SA, Ribbon
Tension Shaft R” and “Bush 2, Ribbon Guide Roller” (2 pcs.).

4. Remove 1 screw (PH (PW), M2x8), and detach the Tension Adjust Lever R Block and “Shaft,
Tension Adjust”.

5. Remove the “SA, Ribbon Sub Adjust Lever R” and “Spring R, Ribbon Tension” (2 pcs.) from the
“SA, Tension Adjust Lever R”.

6. Remove the tension adjust screw (PH, M1.7x4) from the “SA, Tension Adjust Lever R”.
Note: Do not remove this tension adjust screw unless you need to replace it.

7. Remove 2 screws (NO.O, TFH, M2x3 (NI)) and detach the “SA, Tension Sensor”.

8. Remove 1 screw (NO.O, TFH, M2x3 (NI)), and detach the “Cam, Tension Base Adjust” from the
“SA, Ribbon Sensor Frame R”.
Note: Do not remove the “Cam, Tension Base Adjust” unless you need to replace it.

3-17 CL-S621, CL-S621C & CL-S631



3-5. Disassembly, Reassembly and Lubrication

PH (PW), M2x8
\g Shaft, Tension Adjust

/W g( ‘Cam, Tension Base Adjust

NO.0, TFH, )
M2x3 (NI |
1223 (N0 : ~"]_ Bush 2, Ribbon

% / o / S S
) . . &5~ Guide Roller
| ‘ NO.0, TFH (BH),
< | 5/ ‘ )<M2x4 (NI)
" \ \\%% SA, Tension |. ) ‘ ~_
SA, Ribbon Sub Adjust Lever R r@\@?@gnsor i B

Spring R, Ribbon Tension\\\‘\\
SA, Ribbon Sensor Frame R "~

NO.0, TFH (BH),

M2x4 (NI) | N
L’/ ~ SA, Ribbon Tension Shaft R

Bush 2, Ribbon Guide Roller

Notes on reassembling:
+ Distinguish the “Spring R, Ribbon Tension” (used here) from the Ribbon Tension Spring F (used

in “3-5-8 “SA, Ribbon Tension Shaft F’). They look like the same, but the number of turns differs.

@DDDDDDD)DD@DDD@) 18 turns (Spring F, Ribbon Tension)
(CODDDCDDUEDCIMIImY- 20 turns (Spring R, Ribbon Tension)

When assembling the “Cam, Tension Base Adjust”, adjust its position as shown in the figure to
set it at the mechanical center. Then, perform adjustment according to “3-6-2-(2-1) Tension base

adjust cam position adjustment (For service personnel)” on page 3-48.

When assembling the tension adjust screw (PH, M1.7x4), perform “3-6-3 Ribbon Tension

Adjustment” on page 3-53.

CL-S621, CL-S621C & CL-S631 3-18



3-5. Disassembly, Reassembly and Lubrication

3-5-10. Main PCB Block, “Unit, Power Supply” and “Unit, Control Panel”

1. Remove the Case U Block. Refer to “3-5-2 Case U”.
2. Disconnect the following cables from the “SA, Main PCB”.
« J3, J4, J5, J6, J7, J8, J9, J12, J13, J14

To SA, Reflective Sensor PCB
To SA, Transparent Sensor PCB

= I_II_IJ13
J5 J6 D{/To SA, Ribbon Main PCB
J8 | To SA, Head Up Sensor
J3 To SA, Head
SA, Main PCB
J7 D To SA, Ope-pane PCB
J14
J4 To SA, Motor
—‘7 J12 J9
| |
To Unit, Centro PCB (Option) To Unit, Power Supply
Front|:> To SA, Ribbon Main PCB

3. Remove 4 screws (PHT (PT), M3x8), 1 screw (BH, M4x4 (NI)) and 1 washer (EXT. T, 4 (NI)),
and then detach the Main PCB Block upwardly.

4. Remove 3 screws (PHT (PT), M3x8), 1 screw (BH, M4x4 (NI)) and 1 washer (EXT. T, 4 (NI)),
and 1 screw (BH (N), M3x6) and 1 washer (EXT. T, 3 (NI)), disconnect the “SA, Power Cable”,
and detach the “Unit, Power Supply”.

5. Remove the “Unit, Control Panel” upwardly by releasing the hook part.

6. Remove the “Cushion, Ope-pane Cable” and the “Cable, Ope-pane” from the “Unit, Control
Panel”.

7. Remove the “SA, Core” which is attached to the Case L.

3-19 CL-S621, CL-S621C & CL-S631



3-5. Disassembly, Reassembly and Lubrication

PHT (PT), M3x8

Black
(aC)(

Black) (Main PCB Block)

AH, M4x4 (NI) Unit, Power Supply

PHT (PT), M3x8

EXT.T, 4 (NI)

1 EXT.T,3(NI)

\
BH (N), M3x6

T
|

Unit, Control Panel

Cushion, Ope-pane Cable A Cable, Ope-pane

pro"
K? [Front View]

Notes on reassembling:

* When running the Ope-pane Cable, pass it inner side ] — k\
of the case arms “A”. 1/ an e
* When connecting the flexible cables, be sure that the

. ) T ) _ ' Cover, Head Wire
insertion direction is correct. If you insert it reversely, | (Media Guide End)

circuit is not electrically connected.

* When attaching the earth wire of the “Unit, Power EQ/
Supply” to the “Unit, Mechanism”, be sure that the
earth lug is assembled in the horizontal direction as
shown in the figure.

* Media-path left-edge alignment:

Assemble the “Unit, Mechanism” so that the media
guide end of the “Cover, Head Wire” is aligned with
the chassis plate of the Main PCB Block as shown on
the right.

\
N Unit, Mechanism

CL-S621, CL-S621C & CL-S631 3-20



3-5. Disassembly, Reassembly and Lubrication

3-5-11. “SA, Main PCB”
1. Remove the Case U Block. Refer to “3-5-2 Case U”.

2. Remove the Main PCB Block. Refer to “3-5-10 Main PCB Block, “Unit, Power Supply” and
“Unit, Control Panel™.

3. Disconnect the “SA, Centro Cable” from the “SA, Main PCB”.

Remove the “Sheet 2, Main PCB” from the “SA, Main PCB”.

5. Remove 2 lock screws and 4 screws (PHT (ST#3), M3x5), and detach the “SA, Main PCB” and
the “Sheet, Main PCB” from the “Plate, Main PCB 621”.

B

Sheet 2, Main PCB ‘

/@) o
PHT (ST#3), M3x5 , Lock Screw

SA, Main PCB

Sheet, Main PCB

Note on reassembling:
* When the “SA, Main PCB” is replaced with new one, perform the sensor adjustment. Refer to
“3-6-1 Transparent/Reflective Sensor Position Adjustment” on page 3-41.

3-21 CL-S621, CL-S621C & CL-S631



3-6. Disassembly, Reassembly and Lubrication

Note on installation of optional Parallel I/F board (“Unit, Centro PCB”):

1. Remove 2 screws (BHT (ST), M3x5) and 2 washers (EXT. T, 3), and detach the “Plate, Parallel
IF Cover” from the back side of the printer.

2. Take out the free end of the “SA, Centro Cable” from the inside of the printer and connect it to
the optional “Unit, Centro PCB”.

3. Assemble the “Unit, Centro PCB” to the place where the “Plate, Parallel IF Cover” was attached,
with the 2 screws and 2 washers removed in 1.

TN

.

.

BHT (ST), M3x5

@

 EXT.T,3

|
)

- Plate, Parallel IF Cover

Unit, Centro PCB

Sheet 2, Main PCB

SA, Main PCB

Sheet, Main PCB

3-5-12. “SA, Ope-Pane PCB”

1. Remove the Case U Block. Refer to “3-5-2 Case U”.

2. Remove the “Unit, Control Panel”. Refer to “3-5-10 Main PCB Block, “Unit, Power Supply” and
“Unit, Control Panel™.

Remove 3 screws (PHT (PT), M3x6) and detach the “Cover, Ope-pane”.

Remove the “Switch, Key” and the “LED, Window” from the “SA, Ope-Pane PCB”.

B w

PHT (PT), M3x6

LED, Window

Cover, Ope-Pane

CL-S621, CL-S621C & CL-S631 3-22



3-5. Disassembly, Reassembly and Lubrication

3-5-13. “Unit, Mechanism” and Case L

1. Remove the Case U Block. Refer to “3-5-2 Case U”.

2. Remove the Main PCB Block and “Unit, Power Supply”. Refer to “3-5-10 Main PCB Block,
“Unit, Power Supply” and “Unit, Control Panel™.

3. Remove 4 screws (PHT (PT), M3x14) and detach the “Unit, Mechanism”.

Remove the “Sheet, Earth L”, “Sheet, Earth R”, “Plate, Earth” and 2 nuts (M4).

5. Remove the “Cushion, Ope-pane Cover” from the Case L. (The Ope-pane Cover Cushion is
not reusable.)

6. Remove the 2 “Leg, Case L F” and 2 “Leg, Case L R” from the Case L.

B

PHT (PT), M3x14 Sheet, Earth L

L Sheet, Earth R

Cushion, Ope-pane |
Cover

Leg, Case LR

Leg, Case LF
Notes on reassembling:

* The “Cushion, Ope-pane Cover” that was removed in Step 5 is not reusable.
* Run the cables as follows:

Motor cable: Pass through left end (“A”).

Other cables: Pass through the groove “B”.

3-23 CL-S621, CL-S621C & CL-S631



3-5. Disassembly, Reassembly and Lubrication

* Media-path left-edge alignment:
Align the “Unit, Mechanism” so that the media guide end of the “Cover, Head Wire” is aligned

with the chassis plate of the Main PCB Block as shown below (refer to “3-5-10 Main PCB
Block”).

4 | N

: Main PCB Block

%u
= ﬂ ,I/

. |
@ '

| Cover, Head Wire

l ! (Media Guide End)
o |

fL = < | Unit, Mechanism

= E@

i N\

3-5-14. “SA, Platen”

1. Open the “SA, Top Cover Base” and then the “Unit, Head-TT".
2. While pushing the part “A” of the “SA, Platen”, lift the right end a little. (See the arrow “a”.)
Then, remove the “SA, Platen” from the “Unit, Mechanism” by moving it to the right and then lift

it upwardly. (See the arrow “b”.)

Unit, Head -TT

CL-S621, CL-S621C & CL-S631 3-24



3-5. Disassembly, Reassembly and Lubrication

3-5-15. “Unit, Sensor U”

1. Remove the “Unit, Mechanism”. Refer to “3-5-13 “Unit, Mechanism” and Case L".
2. Open the “Unit, Head-TT” and detach the “Unit, Sensor U” to set it free.
3. Remove 4 screws (PH, M2x4), and detach the “Unit, Sensor U”.

Unit, Head-TT

C: Approx. 2.5 cm (1")
(When the Head Block is fully raised.)

Notes on reassembling:

* When assembling the “Unit, Sensor U”, be sure that the protrusions “A” and “B” are securely
engaged with the respective holes as shown in the figure.

* When assembling the “Unit, Sensor U”, be sure that the cable length “C” is approx. 2.5 cm (1)
with the “Unit, Head-TT” fully opened. If it is too long, the cable will be caught when the “Unit,
Head-TT” is closed.

3-25 CL-S621, CL-S621C & CL-S631



3-6. Disassembly, Reassembly and Lubrication

3-5-16. “SA, Head Up Sensor PCB”, “SA, Transparent Sensor PCB” and
“SA, Transparent Sensor Cable”

(1) “SA, Head Up Sensor PCB” and “SA, Transparent Sensor PCB”
1. Remove the “Unit, Sensor U”. Refer to “3-5-15 “Unit, Sensor U™.
2. Remove the bonded “SA, Head Up Sensor PCB” from the “Cover, Head Wire” and
disconnect the “SA, Head Up Sensor Cable”.
3. Remove 1 screw (NO.O PHT (BT#1), M2x3) and detach the “SA, Transparent Sensor PCB”
by disconnecting the “SA, Transparent Sensor Cable”.
SA, Head Up Sensor PCB

SA, Head Up
Sensor Cable @ Cover, Head Wire

2

-~

/< o SA, Transparent
<“ . //\\k . ‘ Sensor Cable
\\\\ - @)% A, Transparent Sensor PCB
\&\@«» ‘ NO.O PHT (BT#1), M2x3
X /
N

Notes on reassembling:

* When the “SA, Transparent Sensor PCB” is replaced with new one, perform the sensor
adjustment. Refer to “3-6-1 Transparent/Reflective Sensor Position Adjustment” on page
3-41.

* When assembling the “SA, Head Up Sensor PCB”, bond it in place.

SA, Head Up Sensor PCB

CL-S621, CL-S621C & CL-S631 3-26



3-5. Disassembly, Reassembly and Lubrication

(2) “SA, Transparent Sensor Cable”

1. Remove the “Unit, Sensor U”. Refer to “3-5-15 “Unit, Sensor U™.

2. Remove the “SA, Transparent Sensor PCB”. Refer to (1) as above.

3. Remove 1 screw (PHT (PT), M2x8) (®) and 1 washer (Plain, 2x5x03), and disengage the
“Unit, Sensor U” body from the “Cover, Head Wire” (@). Then, remove the “Spring, Sensor
Frame” (®).

4. Remove 1 screw (PH, M3x6) (@) and detach the “Cap, Sensor Frame R” (®).

5. Remove the “Cap, Sensor Cable U” (®) to set the “SA, Transparent Sensor Cable” free.

6. Remove 2 screws (PH, M2.6x3) (@) and detach the “Cap, Sensor Frame L” (®).

7. Remove the “Holder, Sensor U” (®) by sliding it to the right and detach the “SA,
Transparent Sensor Cable”.

8. Remove the Plate, Friction SEN U” and “Spring, Friction SEN U” from the “Holder, Sensor
u”.

9. Peel off the “Tape, Sensor Cable U” from the “Frame, Sensor Holder U”.

(7)PH, M2.6x3 (9 Holder, Sensor U
@Cover, Head Wire

Cable U

)

SA, Transparent
Sensor Cable

@Spring, Sensor Frame

<\ //\\\ // Z Sprlng Friction SEN U

Plate, Friction SEN U

(DPHT (PT), M2x8
Plain, 2x5x03

(5)Cap, Sensor Frame R

Notes on reassembling:
+ When assembling the “Spring, Friction SEN U”, securely engage it with the “Holder, Sensor
U” and cover it with the”Plate, Friction SEN U”.

Holder, Sensor U

2D,

[Bottom View]

Plate, Friction SEN U

3-27 CL-S621, CL-S621C & CL-S631



3-6. Disassembly, Reassembly and Lubrication

* When assembling the “SA, Transparent Sensor Cable”, run it as shown below. Be sure that
it passes 2 slits (“A” and “B”), and the free end is hooked on the protrusion and passes the
slit “C”.

SA, Transparent Sensor Cable

Protrusion
Slit "C"
\ ) i

D

Slit "B"

[Bottom View]

* When assembling the “Cap, Sensor Cable U”, be sure that it is securely seated as shown

below: The notched corner should be engaged with the chassis securely.
Cap, Sensor Cable U

1 ’ |||»( T

Tape, Sensor Cable U

SA, Transparent
Sensor Cable

* When assembling the “Holder, Sensor U” - Fixing the spring 2
body on the “Cover, Head Wire”, engage the (Shorter slit) Cable wire for pulling
“Spring, Sensor Frame” as follows. O / O
1) Insert the long end of the spring into the 0 /

shorter slit of the “Cover, Head Wire”. &® 1 @ \

2) Hook a cable wire or similar on the short  \ J
end of the spring, and pull it to lower the
short end of the spring.

3) While pulling the cable wire, assemble
the “Holder, Sensor U” body on the
“Cover, Head Wire”, and then hook the

short end of the spring on the part “D” of
the “Cap, Sensor Frame L”.

Cover, Head Wire

Spring, Sensor Frame

CL-S621, CL-S621C & CL-S631 3-28



3-5. Disassembly, Reassembly and Lubrication

3-5-17. “Unit, Head-TT” and “Unit, PF”

1. Remove the “Unit, Mechanism”. Refer to “3-5-13 “Unit, Mechanism” and Case L".

2. Remove 1 screw (BH (N), M3x3) to detach the “Plate, Cable Guide” (®) from the “Unit,

Head-TT".

Remove 1 screw (PH, M3x6) (@) to detach the earth lug from the frame.

Open the “Unit, Head-TT” and disengage the “Spring, Head Up” (®) and the “Spring 2, Head

Up” (@) from the “Unit, Mechanism”.

Note: Hold the “Unit, Head-TT” as it can fall when the springs are removed.

5. Remove 1 screw (PH (SW+PW), M4x16) and the “Shaft, Head Holder” (®).

Disengage 1 E-ring (4) and detach the “Unit, Head-TT” (®) from the “Unit, PF” Block.

Remove 1 screw (BH (N), M3x6) and detach the “Bracket, Motor Cover” (@) from the “Unit,

PF” Block.

8. Remove 1 screw (BH (N), M3x6) and detach the “Hook, Head Up Spring 2” (®) from the “Unit,
PF”.

(] @/
Open ends of
the spring

@
@PH, M3x6 ‘

®Spring, Head Up ‘
\\% |

@Bracket, Motor -
Cover |

> w

No

Lower side Wire Tie
(Flat side)

——

BH (N), M3x6/®§ A S
**’\

YFLOIL G-311S | Unit, PF

Notes on reassembling:
* When assembling, apply G-311S to the following places shown by the % mark.
A: Hole (front left). Circumference surface of the hole (on both sides) and inside the hole
B: Hole and protrusion (rear left). Circumference surface of the hole (on both sides) and along
the protrusion surface.
C: Along the contacting surface (rear left).
D: 3 surfaces on the “Shaft, Head Holder”.
+ When assembling the “Shaft, Head Holder”, be sure that its assembling direction is correct.

3-29 CL-S621, CL-S621C & CL-S631



3-6. Disassembly, Reassembly and Lubrication

* When assembling the “Spring, Head Up” (thin) and the “Spring 2, Head Up” (thick), first, hook
them on the upper arms (“Unit, Head-TT”), and then on the lower arms (“Unit, PF”).
In this case, hook the “Spring, Head Up” so that its opening ends come outward as shown in the
figure. (This can prevent unwanted noise generation produced when the “Unit, Head-TT” is
opened or closed, though this phenomenon rarely happens.)

~N

Spring, Head Up | Spring 2, Head Up

Thin Thick G

Open ends of the
“Spring, Head Up” =

* When tying the Wire Tie on the lower side (not the Wire Tie on the upper side), wind it so that the
flat surface is inside. (This prevents the cable from being rubbed by the uneven (not flat) surface
when the “Unit, Head-TT” is opened or closed.)

(Not flat)

CL-S621, CL-S621C & CL-S631 3-30



3-5. Disassembly, Reassembly and Lubrication

3-5-18. “SA, Head”

Caution:

» Carefully handle the “SA, Head” when disassembling and reassembling it so as not to
damage the thermal elements of the “SA, Head”. Especially, avoid contacting the
thermal elements with the metal part, etc.

The following shows the normal disassembly procedure of the “SA, Head”. For easier way, refer to
“Tip” on page 3-34.

(1) Head SA block
1. Remove the “Unit, Mechanism”. Refer to “3-5-13 “Unit, Mechanism” and Case L”.

Remove the “Unit, Head-TT". Refer to “3-5-17 “Unit, Head-TT” and “Unit, PF™".

Place the “Unit, Head-TT” upside down as shown in the figure.

Remove 2 screws (PH, M3x6) and detach the “Guide, Head Cable”.

Set the media width adjustment dial and the media thickness adjustment dial to the location

“5” for easier removal.

6. While pressing down the Head SA block, move it forward and then to the left as shown by
the arrows.

7. Disconnect the connector from the Head SA block, remove 2 screws (PH, M3x3 and PH,
M3x6), and detach the “SA, Head Cable”.

o~ 0bN

\‘\

PH, M3x6
~ 7
SA, Head Cable

PH, M3x3
PH, M3x6

Guide, Head Cable

"5"
Cam, Head Balance
(Media Width Adjustment Dial)

Unit, Head-TT

l|5l|
(Media Thickness Adjusment Dial)

3-31 CL-S621, CL-S621C & CL-S631



3-6. Disassembly, Reassembly and Lubrication

Notes on reassembling:

When assembling the Head SA block, follow the next steps:

1. Set the blue dials as follows:

Media width adjustment dial: Location “0” (for easier assembling)
Media thickness adjustment dial: Location “9”

2. Insert the end “A” of the Head SA block into the “SA, Head Adjust” (®) and align its position
as shown in the figure (@). (In this position, the screw “B” of the Head SA block can be
correctly inserted into the slit “C” of the frame. If the screw “B” is not inserted into the slit “C”,
the Head SA block cannot be correctly seated.)

3. While lightly pressing down the Head SA block (®), move it toward the rear to hook its rear
sides on the claws “D” of the frame (®).

4. Set the media width adjustment dial to the location “5” to give tension to the Head SA block.

|
@ |
| |
End A (2) SA, HeadAdjust
L . Cam, Head Balance
Align like this. (Media Width Adjustment Dial)

llgll to ll5ll
(Media Thickness Adjustment Dial)

Screw B

sitC

CL-S621, CL-S621C & CL-S631 3-32



3-5. Disassembly, Reassembly and Lubrication

(2) “SA, Head”
1. Remove the Head SA block. Refer to “(1) Head SA block” as above.
2. Remove 1 screw (BH (N), M3x6) and detach the “SA, Head".
3. Remove 2 “Bushing, Head”, 1 screw (PH, M3x8) and “Guard, Head Connector” from the
“Bracket, Head”.
(The screw (PH, M3x8) is used for alignment purpose and not for mounting.)

§——BH (N), M3x6

Label, Part Number
White Label for CL-S621

Guard, Head Connector

Bracket, Head Bushing, Head

Notes on reassembling:

* When assembling the “SA, Head”, insert its 2 protrusions into the guide holes “E” for
aligning and then fix the “SA, Head” with 1 screw.

+ After assembling the “SA, Head”, clean the surface of the thermal elements with the head
cleaner.

+ After assembling the “SA, Head”, perform test print in self print mode to check the print
quality. (Refer to “2-3-2-(2-1) Self print mode”.) If the print quality is not enough, ribbon
slanting or ribbon wrinkle may occur. In this case, perform “3-6-2 Ribbon Slant Elimination
Adjustment” on page 3-46.

3-33 CL-S621, CL-S621C & CL-S631



3-6. Disassembly, Reassembly and Lubrication

Tip: To remove the “SA, Head” without disassembling the “Unit, Head-TT”
You can remove the “SA, Head” without disassembling the “Unit, Head-TT”. Though, the
normal disassembly procedure is described in (1) “Head SA block” on page 3-31.

1. Raise the “Unit, Head-TT”. (The following figure omits the “Unit, Ribbon”.)
2. Disconnect the connector of the “SA, Head Cable” from the “SA, Head”.
3. Remove 1 screw (BH (N), M3x6) and detach the “SA, Head”.

— 0

SA Head _ | TIII 1| SA, Head Cable

BH (N), M3x6

CL-S621, CL-S621C & CL-S631 3-34



3-5. Disassembly, Reassembly and Lubrication

3-5-19. “SA, Head Adjust” and “Cam, Head Balance”

Remove the “Unit, Mechanism”. Refer to “3-5-13 “Unit, Mechanism” and Case L”.
Remove the “Unit, Head-TT". Refer to “3-5-17 “Unit, Head-TT” and “Unit, PF"*.
Remove the Head SA block. Refer to “3-5-18 (1) Head SA block”.
Remove the “Spring, Head L” (short one) and the “Spring, Head R” (long one).
Remove the “Cam, Head Balance” as follows:
1) Set the “Cam, Head Balance” (media width adjustment dial) to the location “0” and remove
the “Lever, Head Balance”.
2) Remove 1 screw (PH, M3x6), and detach the “Cam, Head Balance” and the “Pivot, Head
Balance Cam”.
6. Remove 1 screw (PH, M3x6), and detach the “SA, Head Adjust”.
Note: The “Shim, Head Adjust” may be inserted for adjusting height, depending on the printer
to be used. It may be inserted at the factory to obtain correct adjustable range of the
Media Thickness Adjustment Dial. (Reference information is written in “3-6-4
Maintenance Information - Head Adjust Shim” on page 3-54.)
If the shim(s) is(are) inserted, assemble it(them) as it was(were).
7. Remove 1 screw (PH, M3x5) and detach the “Holder, Guide Sensor U” from the “SA, Head
Holder Base”.

o kw0~

PH, M3x6
N

May be assembled
in some printers
for height adjustment.

Shim, Head Adjust !

Spring, Head L

(Short) Label 2, Caution Head / Label, Caution Head

Label 7, Caution Head / Label 6, Caution Head

% E/PH, M3x6

ok % FLOIL G-311S
/

. ™~ Pivot, Head Balance Cam

\/

/

~_ . 4~ Cam, Head Balance
(Media Width Adjustment Dial)

.
< \\
Holder, Guide Sensor U

P~ pH. M3x5

SA, Head Holder Base

Note on reassembling:
* When assembling, apply G-311S to the “Pivot, Head Balance Cam” surface.

3-35 CL-S621, CL-S621C & CL-S631



3-6. Disassembly, Reassembly and Lubrication

3-5-20. “SA, Motor”

1. Remove the “Unit, Mechanism”. Refer to “3-5-13 “Unit, Mechanism” and Case L".
2. Remove 2 screws (PH, M3x3), and detach the Motor Block. Then, peel off the “Label 5,
Caution Head” from the “SA, Motor”.

Note on reassembling:
* Once the “Label 5, Caution Head” has been removed, it cannot be reused.

% Label 5, Caution Head

(Unit, PF)

CL-S621, CL-S621C & CL-S631 3-36



3-5. Disassembly, Reassembly and Lubrication

3-5-21. “SA, Reflective Sensor PCB”

1. Remove the “Unit, Mechanism”. Refer to “3-5-13 “Unit, Mechanism” and Case L".

2. By accessing to the connector of the “SA, Reflective Sensor Cable” from the bottom,
disconnect it from the “SA, Reflective Sensor PCB”.

3. Open the “Unit, Head-TT”, remove 1 screw (PH, M3x6), and detach the “Holder, Guide Sensor
L”.

4. Slide the “Guide, Paper Set” to the left (O) and remove the “Shaft, Sensor Guide” in the

direction shown by the arrow (@), together with the “Guide, Paper Set” and “SA, Sensor Holder

L”.

5. Pull out the “Guide, Paper Set” from the “Shaft, Sensor Guide” and remove the “Spring,
Friction PG” and the “Plate, Friction PG”.

6. Pull out the “SA, Sensor Holder L” from the “Shaft, Sensor Guide” and remove the “Spring,
Friction SEN L” and the “Plate, Friction SEN L.

7. Remove 1 screw (NO.O PHT (BT#1), M2x3) and detach the “SA, Reflective Sensor PCB” from
the “SA, Sensor Holder L”.

8. Cut 2 Wire Ties and remove the “SA, Reflective Sensor Cable”.

Spring, Friction SENL  SA  Sensor Holder L
Plate, Friction SEN L \/ ™ s

A, Reflecti NS .
geﬁso(er ggg\(: AN Guide, Paper Set
/ = ! ~ A
Rz SA, Reflective —// [ ] T~ e,
e Sensor PCB 717‘_\/ =/ L ’@

~_

/ /'P@ { \,
\ NO.0 PHT (BT#1), M2x3 [~ ’ g\N Spring, Friction PG
U

/
< T VRN
\\ .- ~ N /> Plate, Friction PG

Shaft, Sensor Guide

Notes on reassembling:

* When the “SA, Reflective Sensor PCB” is replaced with new one, perform the sensor
adjustment. Refer to “3-6-1 Transparent/Reflective Sensor Position Adjustment” on page 3-41.

» Apply Floil G-311S along the groove of the frame as shown.

3-37 CL-S621, CL-S621C & CL-S631



3-6. Disassembly, Reassembly and Lubrication

* Do not assemble the springs and plates wrongly.
Spring, Friction PG: Large (approx. 7 mm in length)
Spring, Friction SEN L: Small (approx. 5 mm in length)
Plate, Friction PG: Wide
Plate, Friction SEN L: Narrow

» Assemble the “Shaft, Sensor Guide” (with the “SA, Sensor Holder L” and the “Guide, Paper Set”),
and align its ends in places. Next, securely assemble the “Holder, Guide Sensor L”. (The groove
“A” of the “Holder, Guide Sensor L” should engage in the frame plate and also the protrusions
should be inserted into the holes “B” on the frame.)

* When assembling the “SA, Reflective Sensor Cable”, bind it with 2 Wire Ties as shown in the
figure.

3-5-22. Gears

1. Remove the “Unit, Mechanism”. Refer to “3-5-13 “Unit, Mechanism” and Case L".

2. Remove the “Unit, PF”. Refer to “3-5-17 “Unit, Head-TT” and “Unit, PF”“.

3. Remove the “SA, Motor”. Refer to “3-5-20 “SA, Motor™*.
Tip: You can remove the gears without removing the “Unit, PF” and the “SA, Motor”.

4. Pull out the “Gear, PF2” by releasing its lock, and then pull out the “Gear, PF1” and the “Gear,
PF Idle”.

% FLOIL G-311S

Notes on reassembling:
* Apply Floil G-311S to each gear shaft (3 shafts) and to each gear surfaces.
* The “Gear, PF Idle” has no directionality, but other gears have.

CL-S621, CL-S621C & CL-S631 3-38



3-5. Disassembly, Reassembly and Lubrication

3-5-23. “Lever, Head Lock” and “SA, Main Plate R”

1. Remove the “Unit, Mechanism”. Refer to “3-5-13 “Unit, Mechanism” and Case L".

2. Remove 2 screws (BH (N), M3x6), 2 washers (EXT. T, 3 (NI)) and 1 screw (PH, M3x6), and
detach the Main Plate R Block.

3. Disengage 1 E-Ring and detach the “Lever, Head Lock” and the “Spring, Head Lock” from the
“SA, Main Plate R”.

-
Spring, Head Lock (@\
E-Ring, 2.5
Lever, Head Lock

Note on reassembling:

* When assembling the “Lever, Head Lock”, hook the “Spring, Head Lock” as shown. (One end is
inserted into the groove of the “Lever, Head Lock” and the other end into the hole.) Also, the
“Lever, Head Lock” should be assembled on the “SA, Main Plate R” as shown in the figure.

Lever, Head Lock

3-39 CL-S621, CL-S621C & CL-S631



3-6. Disassembly, Reassembly and Lubrication

3-5-24. “Frame, Main”, “SA, Main Plate L” and “SA, Plate Peeler”

1. Remove the “Unit, Mechanism”. Refer to “3-5-13 “Unit, Mechanism” and Case L".

2. Remove the “Unit, PF”. Refer to “3-5-17 “Unit, Head-TT” and “Unit, PF”“.

3. Remove the “SA, Motor”. Refer to “3-5-20 “SA, Motor™.

4. Remove the “Shaft, Sensor Guide” (with the “SA, Sensor Holder L” and the “Guide, Paper Set”).
Refer to steps 1 to 4 in “3-5-21 “SA, Reflective Sensor PCB™.

5. Remove 3 gears. Refer to “3-5-22 Gears”.

6. Remove the Main Plate R Block. Refer to steps 1 and 2 in “3-5-23 “Lever, Head Lock” and “SA,
Main Plate R™.

7. Remove 2 screws (BH (N), M3x6), 2 washers (EXT. T, 3 (NI)) and 1 screw (NO.O, PH (#1),
M2.6x6), and detach the “Frame, Main”.

8. Remove 1 screw (BH (N), M3x6) and 1 washer (EXT. T, 3 (NI)), and detach the “SA, Plate
Peeler” from the “SA, Main Plate L”.

NO.0, PH (#1), M2.6x6

BH (N), M3x6 \@&

\% o el

EXT. T, 3 (Nl)?’

SA, Main Plate L

Frame, Main

EXT. T, 3 (NI)
BH (N), M3x6
o

Note on reassembling:

* Media-path left-edge alignment when assembling the “SA, Align.
Plate Peeler”: / Main PCB Block
When assembling the “SA, Plate Peeler”, align the arrow (Media Guide End)
mark on the “SA, Plate Peeler” with the media contacting .

B o 4 — Cover, Hefs_\d Wire
surface of the “Cover, Head Wire” as shown. (Media Guide End)
Also, when you stick a new Mark Label, align its arrow mark !
with the media contacting surface of the “Cover, Head Wire”.

(When assembling the “Unit, Mechanism”, the media guide ’ﬂj%

end of the “Cover, Head Wire” should be aligned with the !
chassis plate of the Main PCB Block (as explained in “3-5-13 ./ '~ SA PlatePeeler
“Unit, Mechanism™). Then, the media-path left-edges are

aligned on the basis of the Mark Label.

CL-S621, CL-S621C & CL-S631 3-40



3-6. Adjustments

3-6. Adjustments

3-6-1. Transparent/Reflective Sensor Position Adjustment

When you replace one of the following parts, perform both sensor position adjustment and sensor
sensitivity adjustment.

+ SA, Main PCB

» SA, Transparent Sensor PCB

» SA, Reflective Sensor PCB

(1) Sensor position adjustment (factory mode)
After entering Factory mode, adjust the following submenu items:
* Through Sensor Position
* Reflect Sensor Position
For details, refer to “2-3-2-(3-3)-(a) Factory mode menu table”.

(2) Sensor sensitivity adjustment (maintenance mode)
In this adjustment, since the printer has not a display, PC is used instead.
All operations will be done with the keys on the printer’s control panel.
Communication between the printer and a PC is made through the serial port.

(2-1) Preparation

Before starting adjustment, prepare the following items:

* Media (both label paper and tag) (recommended media or media you use)

* RS-232C serial cable

+ PC which is installed Terminal software such as HyperTerminal and TeraTerm.
Windows normally comes with the HyperTerminal. If the software is not installed, you
need to install it.
Windows® is a registered trademark of Microsoft Corporation in the United States
and/or other countries.

Setting on the PC side:

Make the following settings on the PC beforehand:

1. Connect the RS-232C serial cable between the printer and the PC.

2. On the PC, start the Terminal software.

3 Set the transmission conditions on the Terminal software so that they are identical to
those on the printer side.
Default values of the printer:
* Transmission speed (baud rate): 9,600 bps

* Data length: 8 bits
* Stop bit: 1 bit
* Protocol: XON/XOFF

3-41 CL-S621, CL-S621C & CL-S631



3-6. Adjustments
Key operation on the printer:

PAUSE FEED STOP

UP
. . DOWN
(Nextitem /Increase item) ﬂ Iil B‘ (Previous item / Decrease item)

SELECT
MODE/REPEAT

EXIT E|

(2-2) Adjustment procedures

Caution:
* DO NOT adjust other menus not explained here. They are for factory setup use
and changing them will cause the printer to be defective.

Notes:

* Do not turn OFF the power of the printer until you finish the adjustment. If it is turned
OFF, you need to repeat the adjustment from the beginning.

* The value adjusted here is retained until you change it with the same procedure. Even if
you perform initialization in the “user menu setup mode”, it is not initialized.

1. Turn on the PC and run the Terminal software.

2. While pressing and holding the [MODE], [FEED] and [STOP] key, turn on the power.
(IMODE] + [FEED] + [STOP] + [POWER])

3. The following initial maintenance screen will appear on the PC.

xFactory
Setup

Up:PAUSE Select:FEED Down:STOP Exit:MODE
Settings Terminal mode to ¥T100

[Transparent sensor sensitivity adjustment, Media: Label paper]
4. Press the [FEED] key to select the transparent sensor menu (“Ini Thru Sensor”).

Ini Thru
Sensor

Up:PAUSE Select:FEED Down:STOP Exit:MODE
Settings Terminal mode to Y¥T100

CL-S621, CL-S621C & CL-S631 3-42




5. Peel off the label from liner (base) and set the liner part to

the printer. Be sure that the normal adjustments for
printing are correctly made.

* Media sensor menu: “See Through”

* Sensor positioning:

The upper sensor marker should meet the bottom sensor

marker on the right side.

Tip:

3-6. Adjustments

When you move the upper and bottom
sensors to the right end (center of the printing
mechanism), they match with each other for

“See Through” position. o= ‘III
Also, when you push the “Guide, Paper Set” H H H H[ &5l O

toward them in any poison, they match with

N
I

each other as shown:

Aligned Guide, Paper Set

6. Press the [FEED] key to enter the transparent sensor adjustment mode.

Ini Thru
Exec./No

Settings Terminal mode to ¥T100

Up:PAUSE Select:FEED Down:STOP Exit:MODE

7.Press the [PAUSE] key to move the cursor to “Exec.”.

Ini Thru
Exec./No

Settings Terminal mode to VT100

Up:PAUSE Select:FEED Down:STOP Exit:MODE

8. Press the [FEED] key to perform adjustment.

Liner is automatically fed little by little and adjustment is performed.

During adjustment, the following screen appears.

Now !'!
Excuting

Settings Terlninal mode to ¥T100

Up:PAUSE Select:FEED Down:STOP Exit:MODE

3-43

CL-S621, CL-S621C & CL-S631



3-6. Adjustments

When adjustment is successful, “Finished DAC XXX” is displayed.

Finished
DAC 143

Up:PAUSE Select:FEED Down:STOP Exit:MODE
Settings Terminal mode to VT100

*The value “143” is one of samples.
9. Press any key on the control panel to store the adjusted value.
Proceed to step 10 to perform reflective sensor adjustment.

[When adjustment failed]

When adjustment failed, “Cannot Setup” is displayed.

1) Press any key on the control panel to return to the screen in step 4.

2) Check the mechanical sensor positions, current Media sensor menu setting, label
paper, etc. and try again.

Cannot
Setup

Up:PAUSE Select:FEED Down:STOP Exit:MODE
Settings Terminal mode to ¥T100

[Reflective sensor sensitivity adjustment, Media: Tag]
10.Press the [PAUSE] key to select the reflective sensor menu.
“Ini Refl Sensor” screen will appear.

Ini Thru

Sensor

Up :PAUSE Select:FEED Down:STOP Exit:MODE
Settings Terminal mode to VT100

ﬂ [PAUSE] key

Ini Refl
Sensor

Up:PAUSE Select:FEED Down:STOP Exit:MODE
Settings Terminal mode to Y¥T100

11.Press the [FEED] key to enter the reflective sensor menu.

CL-S621, CL-S621C & CL-S631 3-44



3-6. Adjustments

Reflect
Exec./No

Up:PAUSE Select:FEED Down:STOP Exit:MODE
Settings Terminal mode to ¥T100

12.Set tag with black marks, but avoid placing the black
mark part on the reflective sensor.
If you use continuous tag, set it to the printer.
Be sure that the normal adjustments for printing are
correctly made.
* Media sensor menu: “Reflect”/’None” (for continuous

paper)

» Sensor positioning:
The bottom sensor should meet the black mark position.
(However, avoid black mark.)

Black mark

13.Press the [PAUSE] key to move the cursor to “Exec.”.

14.Press the [FEED] key to perform adjustment.
Tag is automatically fed little by little and adjustment is performed.
During adjustment, “Now!! Executing” appears.
When adjustment is successful, “Finished DAC XXX” is displayed.

Finished
DAC 168

Up:PAUSE Select:FEED Down:STOP Exit:MODE
Settings Terminal mode to VT100

*The value “168” is one of samples.
15.Press any key on the control panel to store the adjusted value.

Then, the screen returns to the one in step 10 and “Ini Refl Sensor” is displayed.
16.Turn OFF the power to terminate the adjustment.

3-45 CL-S621, CL-S621C & CL-S631



3-6. Adjustments

3-6-2. Ribbon Slant Elimination Adjustment

There are two kinds of ribbon slant elimination adjustments: for user and service personnel.
1) For User

* Adjustment with the Ribbon Left-Right Balance Adjustment Knobs (Front/Rear)
2) For Service Personnel

* “Cam, Tension Base Adjust” position adjustment:

* Ribbon guide position adjustment (The ribbon guide is a part of “SA, Head”.)

Note: The general procedure how to remove ribbon wrinkles is explained on page 3-51. Refer to
“Removing Ribbon Wrinkles” on that page.

(1) Ribbon slant elimination adjustment (For user)
As you turn the Ribbon Left-Right Balance Adjustment Knobs (Front/Rear), the knob side (right
side) of the “SA, Ribbon Tension Shaft F” moves back and forth with the eccentric mechanism,
and also, the knob side (right side) of the “SA, Ribbon Tension Shaft R” moves up and down.
With this eccentric mechanism, ribbon running can be adjusted.
Tip: The adjustment on the front side is more effective than that on the rear side.

Ribbon

Ribbon Left-Right Balance
Adjustment Knob (Rear)
W

SA, Ribbon Sensor Frame F
’:SA, Ribbon Tension Shaft F

Unit, Ribbon Sensor R

Unit, Ribbon Sensor - pipp 1 | eft-Right Balance

Adjustment Knob (Front) SA, Ribbon Sensor Frame R

SA, Ribbon Tension Shaft R

CL-S621, CL-S621C & CL-S631 3-46



3-6. Adjustments

(1-1) Ribbon slant elimination adjustment for user (FRONT)
This front side adjustment is required in the following cases:
* Ribbon slant occurs, resulting in ribbon wrinkle.
* “Unit, Ribbon Sensor F” is replaced or reassembled.

1. Turn the Ribbon Left-Right Balance Adjustment Knobs (Front) to the center of the scale.
2. Turn the Ribbon Left-Right Balance Adjustment Knob (Rear) to the center of the scale.

Ribbon Left-Right Balance
Adjustment Knob (Front)

Ribbon <

Ribbon Left-Right Balance
Adjustment Knob (Rear)

3. Turn the Ribbon Left-Right Balance Adjustment Knob (Front) to remove ribbon wrinkle.
4. If ribbon slant is not removed yet, proceed to the next item, (1-2).

(1-2) Ribbon slant elimination adjustment for user (REAR)
This rear side adjustment is required in the following cases:
* Ribbon slant occurs, resulting in ribbon wrinkle.
* “Unit, Ribbon Sensor R” is replaced or reassembled.

1. Turn the Ribbon Left-Right Balance Adjustment Knob (Rear) and remove ribbon

wrinkle.
2. If ribbon slant is not removed, repeat above item, (1-1).

3-47 CL-S621, CL-S621C & CL-S631



3-6. Adjustments

(2) Ribbon slant elimination adjustment (For service personnel)
(2-1) Tension base adjust cam position adjustment (For service personnel)

This adjustment is required in the following cases:

* If the parallelism reference for the user adjustable range needs to be changed. (This
adjustment will be required if ribbon wrinkle cannot be removed with the Ribbon
Left-Right Balance Adjustment Knobs (Front/Rear).)

* “Cam, Tension Base Adjust” is replaced or reassembled.

By adjusting the “Cam, Tension Base Adjust”, the parallelism of the “Unit, Ribbon Sensor

F/R” (movable part) against the Unit base (fixed part) is changed. The user adjustment

using the Left-Right Balance Adjustment Knobs (Front/Rear) is done based on the new

parallelism reference.

Note: The “Cam, Tension Base Adjust” is adjusted at the factory before shipping.
Therefore, it may be off-center when shipped.

Adjustment procedure:

1. Remove the Ribbon Tension Adjustment Cover from the “Unit, Ribbon Sensor F/R”.
2. Loosen 2 screws “A’.

3. Loosen the screw “B”, and turn the “Cam, Tension Base Adjust” clockwise or

counterclockwise. The parallelism of the “Unit, Ribbon Sensor F/R” against the base is
changed.

4. Tighten screws “B” and “A” (2 pcs.).

Shifting the “Unit, Ribbon Sensor F” (Viewing from the front side)

Left side ribbon wrinkles cannot ’ Mechanical center ‘ Right side ribbon wrinkles cannot
be eliminated by user adjustment. be eliminated by user adjustment.
Cam, Base ~ Base
{Tension Adjust @)’m } (SA1, Ribbon Unit Base Plate)
L
D=6k L —’ D __ - o
Q), 29 ) =1} o G ) ——
A L
Supporting point Unit, Ribbon Sensor F
Shifting the “Unit, Ribbon Sensor R” (Viewing from the rear side)
Left*1 side ribbon wrinkles cannot ’ Mechanical center ‘ Right*1 side ribbon wrinkles cannot
be eliminated by user adjustment. be eliminated by user adjustment.
Supportlng point Base
=
: e—— ) pre—
, e TA G S g
A
Unit, Ribbon Sensor F ccw

*1: Shows the direction viewing from the rear side.
CW: Clockwise
CCW: Counterclockwise

CL-S621, CL-S621C & CL-S631 3-48



3-6. Adjustments

Principle of operation of parallelism change with the “Cam, Tension Base Adjust”:
The parallelism of the “Unit, Ribbon Sensor F/R” can be changed by means of the
eccentric mechanism of the “Cam, Tension Base Adjust”.

The “Cam, Tension Base Adjust” has projections “a” and “b”. The projection “a” is inserted
into the slotted hole “a’ “ on the base (fixed part), while the projection “b” is inserted into
the hole “b’ “ on the “SA, Ribbon Tension Frame F/R” of the “Unit, Ribbon Sensor F/R”
(movable part).

As you can see from the figure, the projection “a” is eccentric with respect to the projection
“b”. Accordingly, as your turn the “Cam, Tension Base Adjust” (after loosening screws “A”
(2 pcs.) and “B”), the eccentric projection “a” pushes the slotted hole “a’ “ so that the “Unit,
Ribbon Sensor F/R” itself turns around the supporting point “c”. (The “Unit, Ribbon Sensor

F/R” turns in the same direction as you turn the “Cam, Tension Base Adjust”.)

[In the case of front side]

Cam,Tension Base Adjust

SA, Ribbon Tension Frame F
(movable part)

SA1, Ribbon Unit Base Plate (fixed part)

3-49 CL-S621, CL-S621C & CL-S631



3-6. Adjustments

(2-2) Ribbon guide position adjustment in the “SA, Head” (For service personnel)
By shifting the ribbon guide shaft in the “SA, Head”, ribbon wrinkle on the front side can
be corrected.

Adjustment procedure:

1. Loosen screws “C” and “D”.

2. Shift the left edge of the “Shaft, Ribbon Guide” back and forth to move the ribbon
contacting surface.

[Top view]

D (supporting point)

[Right side view]

Shaft, Ribbon Guide
Ribbon

CL-S621, CL-S621C & CL-S631 3-50



3-6. Adjustments

Removing Ribbon Wrinkles

The following explains the general procedure for removing ribbon wrinkles.

Adjusting points:

* Ribbon tension

* Ribbon Left-Right Balance Adjustment Knob (Front) - Ribbon slant
* Ribbon Left-Right Balance Adjustment Knob (Rear) - Ribbon slant
* Ribbon Guide Shaft (a part of the “SA, Head”) - Ribbon slant

How to check ribbon wrinkles:
« Visual check

Adjustment procedure:
First, adjust the ribbon tension and then the ribbon paths (front/rear) to remove ribbon wrinkles.

(1) Ribbon Tension Adjustment
1. Adjust the ribbon tension on the front and rear sides to obtain the specified value. Refer to
“3-6-3 Ribbon Tension Adjustment”.
2. Proceed to the next item, (2).

(2) Ribbon slant elimination adjustment
Ribbon is fed from the supply side and taken up on the take-up side via the “SA, Ribbon
Tension Shaft R” of the “Unit, Ribbon Sensor R” and the “SA, Ribbon Tension Shaft F” of the
“Unit, Ribbon Sensor F”. (See the figure on the next page.)
1. Adjust the Ribbon Left-Right Balance Adjustment Knob (Front) and then the Ribbon
Left-Right Balance Adjustment Knob (Rear) to remove ribbon wrinkle.
Refer to “3-6-2-(1) Ribbon slant elimination adjustment (For user)”.
2. |If satisfactory results are not obtained, the following adjustments will be required.
* “3-6-2-(2-1) Tension base adjust cam position adjustment (For service personnel)”.
* “3-6-2-(2-2) Ribbon guide position adjustment in the “SA, Head” (For service personnel)”.

(2-1) Visual check and adjustment
Checking the ribbon surface visually is a good way to see whether the ribbon wrinkles or
not. You can find wrinkles by the reflected light on the ribbon surface. Check both take-up
side and supply sides of ribbon. (See the figure on the next page to find the places where
wrinkles may appear.)
Note: For removing wrinkles, front side adjustment is more effective than the rear side
one.

1. Perform test print in self print mode. (Refer to “2-3-2-(2-1) Self print mode”.)
2. Visually check the take-up side for ribbon wrinkles.
Since ribbon is taken up stronger on the shorter ribbon path side, wrinkles appear on
the longer path side. During printing the self print patterns, check wrinkles and correct
the ribbon travel as follows:
 If wrinkles are found on the left side (“a” in the figure), turn the Ribbon Left-Right
Balance Adjustment Knob (Front) clockwise.
 If wrinkles are found on the right side (“a’ “ in the figure), turn the knob
counterclockwise.

3-51 CL-S621, CL-S621C & CL-S631



3-6. Adjustments

+ If wrinkles are found at around center, find the side (either front or rear) and turn the
knob accordingly.
3. Visually check on the supply side for ribbon wrinkles.

Since ribbon is pulled stronger on the shorter ribbon path side, wrinkles appear on the

longer path side.

During printing the self print patterns, check wrinkles and correct ribbon travel as

follow:

 If wrinkles are found on the left side (“b” in the figure), turn the Ribbon Left-Right

Balance Adjustment Knob (Rear) counterclockwise.
« If wrinkles are found on the right side (“b’ “ in the figure), turn the knob clockwise.
+ If wrinkles are found at around center, find the side (either front or rear) and turn the
knob accordingly.
4. Be sure that the adjusted positions in Steps 2 and 3 are at around the center of scales,
respectively.

Note 1: If they are off-center widely or wrinkles cannot be removed, the “Cam,
Tension Base Adjust” position may be wrong. Perform “3-6-2-(2-1) Tension
base adjust cam position adjustment (For service personnel)”.

Note 2: To remove ribbon wrinkles on the front side, the ribbon guide position is
adjustable. Refer to “3-6-2-(2-2) Ribbon guide position adjustment in the “SA,
Head” (For service personnel)”.

Ribbon

(Unit, Ribbon Sensor F) . e (Unit, Ribbon Sensor R)

Adjustment Knob (Front) SA, Ribbon Tension Shaft F )

Ribbon Left-Right Balance
\ SA. Ribbon Tension Shaft R Ribbon Left-Right Balance

Adjustment Knob (Rear)
(2-2) Readjustment of ribbon tension
If satisfactory results are not obtained yet, readjustment of ribbon tension is required.
Repeat from “(1) Ribbon Tension Adjustment” on the previous page.

CL-S621, CL-S621C & CL-S631 3-52



3-6. Adjustments

3-6-3. Ribbon Tension Adjustment

This adjustment should be done in the following cases:
* When ribbon running is abnormal.
* When the “Unit, Ribbon Sensor F/R” or one of its parts is reassembled.

o=

o o

Turn the Ribbon Left-Right Balance Adjustment Knobs (Front) to the center of the scale.
Turn the Ribbon Left-Right Balance Adjustment Knob (Rear) to the center of the scale.

Set the Tension Adjustment Knobs (Front/Rear) to the positions marked with ¥ (Max. tension).
Remove the “Cover, Ribbon Tension Adjust” on the front and rear sides for checking the
lighting status of LED (D901).

Turn ON the printer.

Place the spring gauge on the front side knob as shown in the figure and apply 350 to 380g
force onto the knob. At this time, be sure that the LED changes from ON to OFF.

Place the spring gauge on the rear side knob as shown in the figure and apply 350 to 400g
force onto the knob. At this time, be sure that the LED changes from ON to OFF.

If satisfactory results are obtained, turn OFF the printer.

If not, proceed to Step 9.

350 - 380g

(Unit, Ribbon Sensor R)

(Unit, Ribbon Sensor F)

SA, Tension Sensor

Back Balance Adjustment Knob
Front Balance Adjustment Knob (Center)

(Center)

Tension Adjustment Knob
(Front)

3-53 CL-S621, CL-S621C & CL-S631



3-6. Adjustments

9. While inserting a small screwdriver into the tension adjust screw through the hole, adjust the
screw so that the LED changes from OFF to ON when the following tension is applied to the
knob:

Front (take-up) side: 350 to 380g
Rear (supply) side: 350 to 400g
Note: After adjustment, apply Threebond 1401B to the screw to fix it.

Front Tension Adjustment Screw

/ Apply Threebond 1401B.
/>< Back Tension Adjustment Screw
<

Apply Threebond 1401B.

10. After completion of adjustment, turn OFF the printer.

3-6-4. Maintenance Information - Head Adjust Shim

Depending on the printer, the “Shim, Head Adjust” may be added at the factory to obtain correct
adjustable range of the Media Thickness Adjustment Dial. At the factory, the following adjustment
is performed:

Note: This adjustment is not required for service work normally.

1. Aline is printed with the Media Thickness
Adjustment Dial set to “0”.

2. If the line is faint, one or more “Shim, Head
Adjust” will be added.

[OK]

ING]

(Media Thickness
Adjustment Dial)

CL-S621, CL-S621C & CL-S631 3-54



Cuaprter 4

T ROUBLESHOOTING

4-1 CL-S621, CL-S621C & CL-S631



CHAPTER 4 TROUBLESHOOTING
TABLE OF CONTENTS

4-1. Error Message and Corrective ACHIONS ..........uuuiiiiiiiiiccc e 4-3

4-2. TroOUDIESNOOTING ... 4-5
4-2-1. Problems in Powering Up the Printer............cccoooiiiiiiii e, 4-5
4-2-2. Media-feed Problems...... ... 4-6
4-2-3. Problems in Printing ... 4-7
4-2-4. Ribbon-feed Problem...... ... 4-8
4-2-5. SENSOr ProbIEMS ..cooiiiiiii e 4-10
4-2-6. Operation Panel Problems............cccoooiiiiiiiii e, 4-12
4-2-7. ConNECtOr LOCALION ......cooiiiiiiiiiiice et 4-13

CL-S621, CL-S621C & CL-S631 4-2



4-1. Error Message and Corrective Actions

4-1. Error Message and Corrective Actions

When an error occurs, the error condition will be displayed on the operation panel. The LEDs on
the control panel blink to tell you the error contents.

In case of error (except for abnormal head/motor temperature), the printer enters off line and the

PRINT LED goes out.

Causes/Corrective Actions

PRINT LED

CONDITION LED

ERROR LED

Head open
* Close the head.

OFF

OFF

ON

Media end
¢ Add media.

OFF

OFF

ON j
OFF

Media out (Media not detected)
* Incorrect sensor positioning:

Correct the sensor position to
match the sensor position with
the label/tag’s black mark.

¢ Incorrect Media mode menu:

Match the Media mode menu
(e.g. SeeThrough) and media to
be used.

* Incorrect sensor adjustment
against media to be used:

Enter sensor adjustment mode
([PAUSE]+[FEED]+[STOP]+
[POWER]), and perform sensor
adjustment.

OFF

ON j
OFF

ON j
OFF

Abnormal ribbon feed

OFF

ON
OFF_||_||_||_|I_

ON
OFF_||_||_||_|I_

Ribbon out (Ribbon end)

OFF

ON

orr ILIEL LA
OFF

Abnormal head temperature
* Printing will temporarily stop.
Wait until the thermal head gets
cool.

ON j
OFF

ON j
OFF

OFF

4-3

CL-S621, CL-S621C & CL-S631




4-1. Error Message and Corrective Actions

Abnormal auto cutter temperature
(Optional)
* Printing will temporarily stop.
Wait until the auto cutter gets
cool.

OFF

ON
OFF |_

Causes/Corrective Actions PRINT LED CONDITION LED ERROR LED
Abnormal PF motor or Ribbon Motor
F temperature
* Printing will temporarily stop.
Wait until the motor gets cool.
ON OFF

Abnormal head resistance
* Due to defective thermal
element:
Printing quality will degrade.

OFF

ON
OFF 4

ON
OFF |_

Communication error
* Reception buffer overrun
* Parity or framing error
» Transmission buffer overflow

OFF

ON j
OFF

OFF

Auto cutter abnormality (Optional)
* Jamming, etc.

OFF

OFF

ON

OFF

CL-S621, CL-S621C & CL-S631

4-4




4-2. Troubleshooting

4-2. Troubleshooting

The following tables show possible remedies for various symptoms that might occur. Symptoms
are given in the left column, and the corresponding remedies in the right column.
Notes: 1. When parts are replaced, refer to Chapter 3 "Disassembly and Maintenance".
2. Connectors (J . . .) given in the column of checks and remedies are connected with the
“SA, Main PCB”. For the location of each connector, refer to “4-2-7 Connector

Location".

4-2-1. Problems in Powering Up the Printer

Symptoms

Checks

Remedies

No power to the
printer

1. Check voltage on the input power line.
Acceptable supply voltage:
120V (-10%+6%) for 120V version

220V-240V (-10%+6%) for 220V version

2. Is the fuse F1 on the “Unit, Power

Supply” blown?

3. Is the “SA, Power Cable” firmly

connected between the “Unit, Power
Supply” and the “SA, Main PCB” (J9)?

4. |s the Ope-pane Cable connected

between the “SA, Main PCB” (J7) and
the “SA, Ope-Pane PCB” firmly?

If it is not connect or is inserted upside
down, no LED lights even if you turned
ON the power.

5. Failure in the power supply circuit.

1. Supply correct voltage.

2. Replace with new fuse. If new fuse
is also blown when power is turned
on with the connector J9
disconnected from the “SA, Main
PCB”, the “Unit, Power Supply” is
faulty and must be replaced.

Notes:

- Do not replace the fuse with the
power switch turned on.

- The fuse is provided to prevent
fire, and damage to the “Unit,
Power Supply”. When replacing it,
use the same rating and type.

3. Connect it firmly.

4. Connect it firmly.

5. Replace the “Unit, Power Supply”.

CL-S621, CL-S621C & CL-S631



4-2. Troubleshooting

4-2-2. Media-feed Problems

Symptoms

Checks

Remedies

No media feed

1. Is the connector J4 for PF motor

connected firmly?

. Is the connector J9 for “Unit, Power

Supply” connected firmly?

. Is +24V supplied to the “SA, Main PCB”

(at pins 6, 7 and 8 of J9)?

SA, Main PCB
J9
1C—18 O
/
To Power Supply Unit
[Bottom right of the “SA, Main PCB”]

. Failure in the control circuit or in the

paper feed motor driver.

. Does the PF motor work?

1. Re-connect it firmly.

2. Re-connect it firmly.

3. Replace the “Unit, Power Supply”.

4. Replace the “SA, Main PCB”.

5. Replace the “SA, Motor”.

Irregular media feed
pitch

. Is the connector J4 for PF motor

connected firmly?

. Is dust or other foreign matter on the

platen?

. Does the media feed mechanism work

smoothly?

. Failure in the control circuit or in the

paper feed motor driver.

1. Re-connect it firmly.

2. Remove dust or foreign matter.

3. Check, clean and lubricate
mechanical parts.
Note: Refer to Chap. 3
"Disassembly and Maintenance".

4. Replace the “SA, Main PCB”.

Media jamming

. Is media set correctly?

. Is the media being used within

manufacturer's specifications?

. Check the media feed mechanism and

media path for dust or other foreign
matter.

1. Set media correctly.

2. Use media within manufacturer's

specifications.

3. Remove dust or foreign matter.

CL-S621, CL-S621C & CL-S631 4-6




4-2-3. Problems in Printing

4-2. Troubleshooting

Symptoms

Checks

Remedies

No print

1. Is the head block securely closed?

2. Is the thermal head over heated?

3. Is the PF motor over heated?

4. Is the take-up side ribbon motor (“SA,
Ribbon Motor F”) over heated?

5. Is the interface cable firmly connected
between the printer and the host?

6. Is the print head cable firmly connected
between the “SA, Head” and the “SA,
Main PCB” (J3)?

7. Does the transparent/reflective sensor
detect presence of media?

8. Is +24V supplied to the “SA, Main PCB”
(at pins 6, 7 and 8 of J9)?

SA, Main PCB
J9
1C—18 O
/
To Power Supply Unit
[Bottom right of the “SA, Main PCB”1

9. “SA, Head” is broken.
10. Failure in the head driver circuit.

11. Failure in the control circuit.

1. Close the head block correctly.
2. Wait until the thermal head gets
cool. Printing resumes

automatically.

3. Wait until the PF motor gets cool.
Printing resumes automatically.

4. Wait until the “SA, Ribbon Motor F”
gets cool. Printing resumes

automatically.

5. Connect it firmly.

6. Connect it firmly.

7. To check, see “4-2-5 Sensor
Problems".

8. Replace the “Unit, Power Supply”.

9. Replace the “SA, Head”.
10. Replace the “SA, Head”.

11. Replace the “SA, Main PCB”.

CL-S621, CL-S621C & CL-S631



4-2. Troubleshooting

Symptoms

Checks

Remedies

Poor printing

1. Thickness adjustment is improper.

2. Is +24V supplied to the “SA, Main PCB”
(at pins 6, 7 and 8 of J9)?

SA, Main PCB
J9
1C—18 O
/
To Power Supply Unit
[Bottom right of the “SA, Main PCB”]

1. Adjust the media thickness
adjustment dial to suit to the media
thickness being used.

2. Replace the “Unit, Power Supply”.

Uneven print density

1. Head balance is improper.
Uneven print density may appear either
on the right side or the left side.

1. Adjust the media width adjustment
dial to suit to the media width
being used.

4-2-4. Ribbon-feed Problem

Symptoms

Checks

Remedies

Ribbon is not fed at
all, or is not fed
correctly.

1. Is the ribbon correctly inserted into the
ribbon holders?

2. Is the ribbon path correct?

3. Is the cable connected between J12/J13

on the “SA, Main PCB” and J702 on the
“SA, Ribbon PCB” firmly?

4. |s the cable connected between J701 on

the “SA, Ribbon PCB” and the “SA,
Ribbon Motor F” firmly?

5. Is the cable connected between J705 on

the “SA, Ribbon PCB” and the “SA,
Ribbon Motor R” firmly?

6. Does the ribbon cooling fan work

correctly for cooling the ribbon motors?
If not, check if the cable of the “SA,
Fan” firmly connected to the “SA,
Ribbon PCB” (J706).

7. Do the ribbon sensors on the take-up

and supply sides work correctly?
See “4-2-5 Sensor Problems”.

1. Insert the ribbon correctly.

2. Install the ribbon correctly.

3. Connect it firmly.

4. Connect it firmly.

5. Connect it firmly.

6. Connect the cable firmly.

7. Replace the “SA, Tension Sensor”.

CL-S621, CL-S621C & CL-S631 4-8




4-2. Troubleshooting

Symptoms

Checks

Remedies

Ribbon is not fed at
all, or is not fed
correctly.

8. Do the ribbon drive gears work
correctly?

9. Does the Ribbon Motor F/R work
correctly?

10. Failure in the ribbon motor drive circuit.

11. Failure in the ribbon motor control
circuit.

8. Replace the defective ribbon gear.

9. Replace the “SA, Ribbon Motor F”
or “SA, Ribbon Motor R”.

10. Replace the “SA, Ribbon PCB”.

11. Replace the “SA, Main PCB”.

Ribbon slants.

1. Is the ribbon correctly inserted into the
ribbon holders?

2. Is the ribbon path correct?

3. Is the ribbon slant elimination
adjustment made?

1. Insert the ribbon correctly.

2. Install the ribbon correctly.

3. Adjust it according to 3-6-2 “Ribbon
Slant Elimination Adjustment”.

4-9

CL-S621, CL-S621C & CL-S631



4-2. Troubleshooting

4-2-5. Sensor Problems

Symptoms

Checks

Remedies

Head block is closed,
but head open error
is indicated by LEDs.
(Head up sensor
problem)

1. Is the “SA, Head Up Sensor Cable”
firmly connected between the “SA,
Head Up Sensor PCB” and the “SA,
Main PCB” (J8)?

2. Is the protrusion (metal end) inserted
into the photointerrupter of the “SA,
Head Up Sensor PCB”?

3. Failure in the control circuit.

1. Connect it firmly.

2. Replace the “SA, Head Up Sensor
PCB".

3. Replace the “SA, Main PCB”.

Ribbon tension is not
correctly controlled.
(Tension sensor F/R
problem)

1. Is the cable firmly connected between
the “SA, Tension Sensor” on the
take-up side and the “SA, Ribbon PCB”
(J703)?

2. Is the cable firmly connected between
the “SA, Tension Sensor” on the supply
side and the “SA, Ribbon PCB” (J704)?

3. Is the tension value in the specified
range?

4. Does the ribbon sensor F/R work
correctly?
Remove the ribbon, and push and
release the “Unit, Ribbon Senor F/R”
with your finger tip to see if the LED of
the “SA, Tension Sensor” turns ON and
OFF. (Remove the Ribbon Tension
Adjustment Cover to see LED.)

5. Failure in the control circuit.

1. Connect it firmly.

2. Connect it firmly.

3. Adjust tension according to 3-6-3
“Ribbon Tension Adjustment”.

4. Replace the “SA, Tension Sensor”
on the take-up/supply side.
For the location of LED, see “3-6-3
Ribbon Tension Adjustment”.

5. Replace the “SA, Ribbon PCB” or
the “SA, Main PCB”.

CL-S621, CL-S621C & CL-S631




4-2. Troubleshooting

Symptoms

Checks

Remedies

Ribbon end is not
correctly detected.
(Tension sensor R
problem)

1. Is the cable firmly connected between
the “SA, Tension Sensor” on the supply
side and the “SA, Ribbon PCB” (J704)?

2. Does the ribbon sensor R work

correctly? Remove the ribbon, and
push and release the “Unit, Ribbon
Senor R” on the rear side with your
finger tip to see if the LED of the “SA,
Tension Sensor” turns ON and OFF.
(Remove the Ribbon Tension
Adjustment Cover to see LED.)

3. Failure in the control circuit.

1. Connect it firmly.

2. Replace the “SA, Tension Sensor”
on the supply side.
For the location of LED, see “3-6-3
Ribbon Tension Adjustment”.

3. Replace the “SA, Ribbon PCB” or
the “SA, Main PCB”.

Label on liner or
notch of tag is not
detected.
(Transparent sensor
problem)

Or
Paper end is not
detected.

1. Is the Media Sensor menu setting
correct?

2. Does the Transparent Sensor marker

match with the bottom sensor
(Reflective Sensor) marker?

3. Is the sensor adjustment is performed

against media to be used?

4. |s the “SA, Transparent Sensor Cable”

firmly connected between the “SA,
Transparent Sensor PCB” and the “SA,
Main PCB” (J6)?

5. Is the transparent sensor cable (flexible

cable) inserted correctly (not upside
down)?

6. Is the “SA, Reflective Sensor Cable”

firmly connected between the “SA,
Reflective Sensor PCB” and the “SA,
Main PCB” (J5)?

7. Is dust on the LEDs of the Reflective

Sensor?

Reflective Sensor.

9. Failure in the control circuit.

4. Connect it firmly.

. Failure in the Transparent Sensor or the

9. Replace the “SA, Main PCB”.

1. Set it to “See Through”.

2. Move both sensors to align their
positions for transparent use.

3. Perform the sensor adjustment.
See “2-3-2 (1-1) Sensor
Adjustment mode”.

5. Insert it in the correct direction.

6. Connect it firmly.

7. Clean the LEDs to remove dust.

8. Replace the “SA, Transparent
Sensor PCB” or the “SA,
Reflective Sensor PCB”.

4-11

CL-S621, CL-S621C & CL-S631



4-2. Troubleshooting

Symptoms

Checks

Remedies

Black mark on tag is
not detected.
(Reflective sensor
problem)

Or
Paper end is not
detected.

. Is the Media Sensor menu correct?

. Does the Reflective Sensor match with

the black mark?

. Is the sensor adjustment is performed

against media to be used?

. Is the “SA, Reflective Sensor Cable”

firmly connected between the “SA,
Reflective Sensor PCB” and the “SA,
Main PCB” (J5)?

. Is dust on the LEDs or photo transistor

of the Reflective Sensor?

. Failure in the Reflective Sensor.

. Failure in the control circuit.

. Set it to “Reflect”.

. Move the sensor in the center of

black mark.

. Perform the sensor adjustment.

See “2-3-2 (1-1) Sensor
Adjustment mode”.

. Connect it firmly.

. Clean the LEDs to remove dust.

. Replace the “SA, Reflective Sensor

PCB”.

. Replace the “SA, Main PCB”.

4-2-6. Operation Panel Problems

the “SA, Ope-Pane PCB” firmly?

. Is the Ope-pane Cable inserted upside

down?

. Failure in the “SA, Ope-Pane PCB”.

. Failure in the control circuit.

Symptoms Checks Remedies
Nothing is displayed | 1. Is the Ope-pane Cable connected . Connect it firmly.
on the LED. between the “SA, Main PCB” (J7) and

. Insert it in the correct direction.

. Replace the “SA, Ope-Pane PCB”.

. Replace the “SA, Main PCB”.

No key works.

. Is the Ope-pane Cable connected

between the “SA, Main PCB” (J7) and
the “SA, Ope-Pane PCB” firmly?

. Is the Ope-pane Cable inserted upside

down?

. Failure in the “SA, Ope-Pane PCB”.

. Failure in the control circuit.

. Connect it firmly.

. Insert it in the correct direction.

. Replace the “SA, Ope-Pane PCB”.

. Replace the “SA, Main PCB”.

CL-S621, CL-S621C & CL-S631 4-12




4-2-7. Connector Location
[SA, Main PCB]

To SA, Reflective Sensor PCB
To SA, Transparent Sensor PCB

4-2. Troubleshooting

\

J14

| ——To SA, Ribbon Main PCB

|7 To SA, Head Up Sensor

Co & ]
J5 J6 —13
] %\
J3
SA, Main PCB

To SA, Head

7

To SA, Ope-pane PCB

1

J12

I;I J9
|

To SA, Motor

To Unit, Centro PCB (Option)

Front)>

[SA, Ribbon PCB]

Ribbon Motor R"|:|

Fan

\ To Unit, Power Supply

To SA, Ribbon Main PCB

J701 |, Ribbon Motor F

Tension Sensor R

J705
[ ]u706
J704 J702 J703
Cd = ] [ |
To Main PCB

Tension Sensor F

CL-S621, CL-S621C & CL-S631



CuartER D

Parts Lists

5-1 CL-S621, CL-S621C & CL-S631



CHAPTER 5 PARTS LIST
TABLE OF CONTENTS
Recommended Spare Parts List..........ccooo oo 5-3

Mechanical Section

General Assembly (Drawing NO. 1) ..o e 5-5

Unit, Base (Drawing NO. 2) ......ooiiiiiiiiiiee e e e 5-9

Unit, Mechanism (Drawing NO. 3) .....uuuiiiiiii e 5-14
Unit, Head-TT (Drawing NO. 4)......coo i 5-18
Unit, PF (Drawing NO. 5) ....uui it 5-22
Unit, Sensor U (Drawing NO. B).........cuuuuiiiiiiiaiiiiiiiiie ettt e e e e e 5-26
Unit, Control Panel (Drawing NO. 7) .......uuiiiiiiieee e 5-29
Unit, Ribbon (Drawing NO. 8) ......coiiiiiiiii e 5-32
SA2, Ribbon Unit Fan (Drawing NO. 9).........uuiiiiiiiiiiiiiiiiee e 5-37
Accessories (Drawing NO. 10) ... oo 5-40

CL-S621, CL-S621C & CL-S631 5-2



CL-S621, CL-S621C & CL-S631

Recommended Spare Parts List

CL-S621, CL-S621C & CL-S631

5-3

Chapter 5. Parts Lists

Revision Up List

Sheet No.

Rev. No.

Date

1M

0

Oct. 5, 2010




PARTS LIST for CL-S621, CL-S621C & CL-S631

TITLE: Recommended Spare Parts List

Chapter 5. Parts Lists

Sheet No. 1/1

Rev. No. 0

I[t\le: Location Part No. Part Name 32&/ W:\)/Iriint' Cl(?::ual Remarks @
1 [2-8-1 JM66707-0 SA, Main PCB 1 O For CL-S621 (CSA, CSE)
2 |282  |JM66721-0 |SA, Main PCB 1 O | aray ot (CSACSE
3 |2-8-3 JM66709-0 SA, Main PCB 1 O For CL-S621C (CHINA)
4 |[2-84 JM66719-0 SA, Main PCB 1 @) For CL-S621 (KOREA)
5 [2-8-5 JM66726-0 SA, Main PCB 1 O For CL-S631 (KOREA)
6 |2-33-1 JM66850-0 | Unit, Power Supply (100V) 1 O For CSA
7 |2-33-2 JM66855-1 Unit, Power Supply (200V) 1 O For CSE, CHINA, KOREA
8 |3-14 JM22701-0 | SA, Platen 1 O
9 |3-18 JM66715-1 SA, Head Up Sensor PCB 1 O

10 |4-5-1 JM14705-0 | SA, Head 1 O For CL-S621/S621C

11 14-5-2 JM14706-0 SA, Head 1 O For CL-S631

12 | 5-1 JM25704-0 SA, Motor 1 O

13 | 5-14 JM66730-1 SA, Reflective Sensor PCB 1 O

14 16-9 JM66725-0 SA, Transparent Sensor PCB 1 O

15 |8-5 JM66724-0 | SA, Ribbon PCB 1 O

16 |8-8 JM35703-0 | SA, Ribbon Motor R 1 O

17 18-9 JM35702-0 SA, Ribbon Motor F 1 O

18 |8-20 JM68705-0 SA, Tension Sensor 2 O

19

20

CL-S621, CL-S621C & CL-S631

5-4




Parts List & Location for General Assembly

CL-S621, CL-S621C & CL-S631

CL-S621, CL-S621C & CL-S631

Drawing No. 1

5-5

Revision Up List

Sheet No. [Rev. No. Date
1/2 0 Oct. 5, 2010
2/2 0 Oct. 5, 2010

Chapter 5. Parts Lists



Chapter 5. Parts Lists

General Assembly (Rev. 0)

DRAWING NO. 1

5-6

CL-S621, CL-S621C & CL-S631



PARTS LIST for CL-S621, CL-S621C & CL-S631

TITLE: General Assembly

Chapter 5. Parts Lists

Sheet No. 1/2

Drawing No. 1 Rev. No. 0

Location Part Name Part No. ?J:\)(t/ Remarks @

1-1-1 SA, Top Cover Base JM56726-0 1 | White

1-1-2 SA, Top Cover Base JM56741-0 1 | Black

1-2 Screw, PHT (BH), M3.0x14 E10130-140F 7

1-3-1 Cover, Connector JM56205-0 1 | White

1-3-2 Cover, Connector JM56243-0 1 | Black

1-4-1 Cap, Case U JM56102-0 1 | White

1-4-2 | Cap, Case U JM56114-0 1 | Black

1-5-1 Cover, Connector Case U JM56226-0 1 [ White

1-5-2 | Cover, Connector Case U JM56244-0 1 | Black

1-6 - - -

1-7-1 Cover, Motor JM56225-1 1 | White

1-7-2 Cover, Motor JM56248-1 1 | Black

1-8-1 Cover, Front JM56206-0 1 | White

1-8-2 Cover, Front JM56245-0 1 | Black

1-9 SA, Ribbon Holder JM34710-1 2

1-10 Screw, BH (N), M3.0x6 E00530-060WF 2

1-11 Damper, Top Cover JM59906-0 1 | FRT-C2-CTZ

1-12 Nut, M3 (NI) E40130-000WF 1

1-13 Label, FCC ICES VCCI-A TZ99901-0 1 | For CSA

1-14-1 | Case U 621 JM56227-1 1 | White
CL-S621, CL-S621C & CL-S631 5-7



Chapter 5. Parts Lists

PARTS LIST for CL-S621, CL-S621C & CL-S631 TITLE: General Assembly Sheet No.2/2
Drawing No. 1 Rev. No. 0
. Q'ty/
Location Part Name Part No. Unit Remarks @
1-14-2 | Case U 621 JM56241-0 1 | Black
1-15-1 | Label, CL-S621 JM99958-0 1 | For CL-S621 (CSA, CSE, KOREA)
1-15-2 | Label, CL-S631 JM99959-0 1 | For CL-S631 (CSA, CSE, CHINA, KOREA)
1-15-3 | Label, CL-S621C JM99973-0 1 | For CL-S621C (CHINA)
5-8

CL-S621, CL-S621C & CL-S631



CL-S621, CL-S621C & CL-S631

CL-S621, CL-S621C & CL-S631
Drawing No. 2

Parts List & Location for Unit, Base

5-9

Revision Up List

Sheet No. |Rev. No. Date
1/3 0 Oct. 5, 2010
2/3 0 Oct. 5, 2010
3/3 0 Oct. 5, 2010

Chapter 5. Parts Lists



Chapter 5. Parts Lists

DRAWING NO. 2 Unit, Base (Rev. 0)

1-1

(DRAW NO. 7)

5-10

CL-S621, CL-S621C & CL-S631



Chapter 5. Parts Lists

PARTS LIST for CL-S621, CL-S621C & CL-S631 TITLE: Unit, Base Sheet No. 1/3
Drawing No. 2 Rev. No. 0

Location Part Name Part No. %g{ Remarks @

2-1-1 Unit, Ribbon JM34718-0 1 | White (Ref. Drawing No. 8)

2-1-2 | Unit, Ribbon JM34719-0 1 | Black (Ref. Drawing No. 8)

2-2 Screw, PH, M3.0x6 E00530-060WF 2

2-3 Screw, PHT (BH), M3.0x14 E10130-140F 4

2-4-1 Unit, Mechanism 621 JM49815-0 1 | For CL-S621/S621C (Ref. Drawing No. 3)

2-4-2 | Unit, Mechanism 631 JM49816-0 1 | For CL-S631 (Ref. Drawing No. 3)

2-5 Wire Tie C6701-202# 2 |8432L=100

2-6 SA, Centro Cable JM67725-0 1

2-7 Screw, PHT (ST#3), M3.0x5 E11130-050F 4

2-8-1 | SA, Main PCB JM66707-0 1 | For CL-S621 (CSA, CSE)

2-8-2 | SA, Main PCB JM66721-0 1 | For CL-S631 (CSA, CSE, CHINA)

2-8-3 | SA, Main PCB JM66709-0 1 | For CL-S621C (CHINA)

2-8-4 | SA, Main PCB JM66719-0 1 | For CL-S621 (KOREA)

2-8-5 | SA, Main PCB JM66726-0 1 | For CL-S631 (KOREA)

2-9 Sheet, Main PCB JM44116-0 1

2-10 Screw, PHT (BH), M3.0x8 E10130-080F 7

2-11 Plate, Main PCB 621 JM44122-0 1

2-12 Plate, Parallel IF Cover JN54109-0 1

2-13 Screw, BHT (ST), M3.0x5 E14030-050WF 2

2-14 Washer, EXT.T, 3 (NI) E50730-000WF 3

CL-S621, CL-S621C & CL-S631 5-11



PARTS LIST for CL-S621, CL-S621C & CL-S631

TITLE: Unit, Base

Chapter 5. Parts Lists

Sheet No. 2/3

Drawing No. 2 Rev. No. 0
Location Part Name Part No. CLJJ:Xt/ Remarks @
2-15 Lock Screw (Inch) C6390-049# 2 |HFS-4S-B1W
2-16 Plate, Earth JM54101-0 1
2-17 Sheet, Earth L JM44115-0 1
2-18 Sheet, Earth R JM44114-0 1
2-19 Cable, Ope-Pane JM67900-1 1
2-20 SA, Core JM59701-0 1
2-21 Cushion, Ope-Pane Cover JM59904-0 1
2-22 | Cushion, Ope-Pane Cable JM59903-0 1
2-23-1 | Unit, Control Panel JM56805-0 1 | For CSA, CSE/White (Ref. Drawing No. 7)
2-23-2 | Unit, Control Panel JM56808-0 1 | For CSA, CSE/Black (Ref. Drawing No. 7)
2-23-3 | Unit, Control Panel JM56810-0 1 | For CHINA/Black (Ref. Drawing No. 7)
2-23-4 | Unit, Control Panel JM56812-0 1 | For KOREA/Black (Ref. Drawing No. 7)
2-24 | Nut, M4 E40140-000F 2
2-25 |[Leg,CaselLF JM59902-0 2
2-26-1 | Case L JM56201-0 1 | White
2-26-2 | Case L JM56239-0 1 |Black
2-27 |Leg,CaseLR JM59901-0 2
2-28 | Screw, BH, M4.0x4 (NI) E00540-040WF 2
2-29 | Washer, EXT.T, 4 (NI) E50740-000WF 2
2-30 [ Screw, BH (N), M3.0x6 E00530-060WF 1

CL-S621

, CL-S621C & CL-S631

5-12



PARTS LIST for CL-S621, CL-S621C & CL-S631

TITLE: Unit, Base

Chapter 5. Parts Lists

Sheet No. 3/3

Drawing No. 2 Rev. No. 0
. Q'ty/
Location Part Name Part No. Unit Remarks @
2-31 Sheet 2, Main PCB JM44123-0 1
2-32 SA, Power Cable JM67745-1 1
2-33-1 | Unit, Power Supply (100V) JM66850-0 1 [For CSA
2-33-2 | Unit, Power Supply (200V) JM66855-1 1 |For CSE, CHINA, KOREA
CL-S621, CL-S621C & CL-S631 5-13



Parts List & Location for Unit, Mechanism

CL-S621, CL-S621C & CL-S631

CL-S621, CL-S621C & CL-S631

Drawing No. 3

5-14

Revision Up List

Sheet No. [Rev. No. Date
1/2 0 Oct. 5, 2010
2/2 0 Oct. 5, 2010

Chapter 5. Parts Lists



Chapter 5. Parts Lists

DRAWING NO. 3 Unit, Mechanism (Rev. 0)

5-15

CL-S621, CL-S621C & CL-S631



PARTS LIST for CL-S621, CL-S621C & CL-S631

TITLE: Unit, Mechanism

Chapter 5. Parts Lists

Sheet No. 1/2

Drawing No. 3 Rev. No. 0

Location Part Name Part No. S:\Tt/ Remarks @
3-1 Screw, BH (N), M3.0x3 E00530-030WF 1

3-2 Plate, Cable Guide JM34123-0 1

3-3 Wire Tie C6701-202# 2 |[8432L=100

3-4 Shaft, Head Holder JM42007-0 1

3-5 Screw, PH, M3.0x6 E00130-060F 1

3-6-1 | Unit, Head-TT 621 JM19802-0 1 | For CL-S621/S621C (Ref. Drawing No. 4)
3-6-2 | Unit, Head-TT 631 JM19803-0 1 | For CL-S631 (Ref. Drawing No. 4)

3-7 Spring, Head Up JM13601-0 1

3-8 Spring2, Head Up JM13605-0 1

3-9 Screw, BH (N), M3.0x6 E00530-060WF 2

3-10 Bracket, Motor Cover JM44118-0 1

3-11 Screw, PH (SW+PW), M4.0x16 E00940-160F 1

3-12 E-Ring, 4 E60340-000F 1

3-13 Hook, Head Up Spring 2 JM14112-0 1

3-14 SA, Platen JM22701-0 1

3-15 SA, Ribbon Cable JM67770-0 1

3-16 Unit, PF JM49814-0 1 (Ref. Drawing No. 5)

3-17 SA, Head Up Sensor Cable JM67715-1 1

3-18 SA, Head Up Sensor PCB JM66715-1 1

3-19 Screw, PH, M2.0x4 E00120-040F 4

CL-S621, CL-S621C & CL-S631

5-16



Chapter 5. Parts Lists

PARTS LIST for CL-S621, CL-S621C & CL-S631 TITLE: Unit, Mechanism Sheet No. 2/2
Drawing No. 3 Rev. No. 0

Location Part Name Part No. lQJ:\i/t/ Remarks @
3-20 Unit, Sensor U JM29701-1 1 | (Ref. Drawing No. 6)
3-21-1 | Label 2, Caution Head AH90935-0 1 |[For CSA, CSE, KOREA
3-21-2 | Label, Caution Head (CHINA) AM90901-0 1 | For CHINA
3-22-1 | Label 7, Caution Head AR99902-0 1 |For CSA
3-22-2 | Label 6, Caution Head AR99901-0 1 |For CSE, KOREA
3-23 Label, Head Adjust JM99982-0 1
3-24 Label, Head Balance JM99981-0 1

CL-S621, CL-S621C & CL-S631 5-17



Parts List & Location for Unit, Head-TT

CL-S621, CL-S621C & CL-S631

CL-S621, CL-S621C & CL-S631

Drawing No. 4

5-18

Revision Up List

Sheet No. [Rev. No. Date
1/2 0 Oct. 5, 2010
2/2 0 Oct. 5, 2010

Chapter 5. Parts Lists



Chapter 5. Parts Lists

DRAWING NO. 4 Unit, Head-TT (Rev. 0)

5-19

CL-S621, CL-S621C & CL-S631



Chapter 5. Parts Lists

PARTS LIST for CL-S621, CL-S621C & CL-S631 TITLE: Unit, Head-TT Sheet No. 1/2

Drawing No. 4 Rev. No. 0
Location Part Name Part No. ?J:\)(t/ Remarks @
4-1 Bushing, Head JM11201-0 2
4-2 Bracket, Head JM14101-0 1
4-3 Screw, PH, M3.0x6 E00130-060F 5
4-4 SA, Head Cable (3-Input) JM67711-1 1
4-5-1 [ SA, Head JM14705-0 1 | For CL-S621/S621C
4-5-2 [ SA, Head JM14706-0 1 | For CL-S631
4-6 Spring, Head L JM13603-0 1
4-7 SA, Head Holder Base JM14704-1 1
4-8 Screw, PH, M3.0x5 E11130-050F 1
4-9 Holder, Guide Sensor U JM14211-0 1
4-10 Lever, Head Balance JM14203-0 1
4-11 Spring, Head R JM13602-0 1
4-12 SA, Head Adjust JM14720-0 1
4-13 Cam, Head Balance JM19203-0 1
4-14 Pivot, Head Balance Cam JM12201-0 1
4-15 Guide, Head Cable JM14212-1 1
4-16 Plate, Head Earth JM14105-0 1
4-17 Screw, PH, M3.0x3 E00130-030F 2
4-18 Screw, PH, M3.0x8 E00130-080F 1
4-19 Guard, Head Connector JM19902-0 1 | CE-016
CL-S621, CL-S621C & CL-S631 5-20




Chapter 5. Parts Lists

PARTS LIST for CL-S621, CL-S621C & CL-S631 TITLE: Unit, Head-TT Sheet No. 2/2
Drawing No. 4 Rev. No. 0
. Q'ty/
Location Part Name Part No. Unit Remarks @
4-20 Screw, BH (N), M3.0x6 E00530-060WF 1
4-21 Shim, Head Adjust JM14106-0 - | May be installed at the factory.

CL-S621, CL-S621C & CL-S631 5-21



CL-S621, CL-S621C & CL-S631

CL-S621, CL-S621C & CL-S631
Drawing No. 5

Parts List & Location for Unit, PF

5-22

Revision Up List

Sheet No. [Rev. No. Date
1/2 0 Oct. 5, 2010
2/2 0 Oct. 5, 2010

Chapter 5. Parts Lists



Chapter 5. Parts Lists

DRAWING NO. 5 Unit, PF (Rev. 0)

CL-S621, CL-S621C & CL-S631 5-23



Chapter 5. Parts Lists

PARTS LIST for CL-S621, CL-S621C & CL-S631 TITLE: Unit, PF Sheet No. 1/2
Drawing No. 5 Rev. No. 0
Location Part Name Part No. lQJHt/ Remarks @
5-1 SA, Motor JM25704-0 1
5-2 Screw, PH, M3.0x3 E00130-030F 2
5-3 Screw, PH, M3.0x6 E00130-060F 1
5-4 SA, Main Plate L JM44711-0 1
5-5 Gear, PF2 JM20202-0 1
5-6 Gear, PF Idle JM20203-0 1
5-7 Gear, PF1 JM20201-0 1
5-8 SA, Plate Peeler JM44709-0 1
5-9 Frame, Main JM44101-0 1
5-10 Wire Tie C6701-202# 2 |8432L=100
5-11 SA, Sensor Holder L JM24701-0 1
5-12 Spring, Friction PG JM23604-0 1
5-13 Screw, No.0, PHT (BT#1), M2.0x3 E11920-030F 1
5-14 SA, Reflective Sensor PCB JM66730-1 1
5-15 SA, Reflective Sensor Cable JM67720-1 1
5-16 Guide, Paper Set JM44202-2 1
5-17 Shaft, Sensor Guide JM42008-0 1
5-18 Spring, Head Lock JM43601-0 1
5-19 E-Ring, 2.5 E60325-000F 1
5-20 Lever, Head Lock JM44203-0 1

CL-S621, CL-S621C & CL-S631

5-24



Chapter 5. Parts Lists

PARTS LIST for CL-S621, CL-S621C & CL-S631 TITLE: Unit, PF Sheet No. 2/2
Drawing No. 5 Rev. No. 0
Location Part Name Part No. lQJHt/ Remarks @
5-21 SA, Main Plate R JM44702-0 1
5-22 Screw, No.0, PH (#1), M2.6x6 E01626-060F 1
5-23 Holder, Guide Sensor L JM44207-0 1
5-24 Label 5, Caution Head AK99925-0 1
5-25 Washer, EXT.T, 3 (NI) E50730-000WF 5
5-26 Screw, BH (N), M3.0x6 E00530-060WF 5
5-27 Plate, Friction PG JM24117-0 1
5-28 Spring, Friction SEN L JM23603-0 1
5-29 Plate, Friction SEN L JM24116-0 1
5-30 Screw, PH, M3.0x5 E11130-050F 1

CL-S621, CL-S621C & CL-S631

5-25



Parts List & Location for Unit, Sensor U

CL-S621, CL-S621C & CL-S631

CL-S621, CL-S621C & CL-S631

Drawing No. 6

5-26

Revision Up List

Sheet No.

Rev. No.

Date

11

0 Oct. 5, 2010

Chapter 5. Parts Lists



Chapter 5. Parts Lists

DRAWING NO. 6 Unit, Sensor U (Rev. 0)

CL-S621, CL-S621C & CL-S631 5-27



Chapter 5. Parts Lists

PARTS LIST for CL-S621, CL-S621C & CL-S631 TITLE: Unit, Sensor U Sheet No. 1/1

Drawing No. 6 Rev. No. 0
Location Part Name Part No. ?J:\)(t/ Remarks @
6-1 Cover, Head Wire JM44201-2 1
6-2 Spring, Sensor Frame JM23602-0 1
6-3 Screw, PH, M2.6x3 E00126-030F 2
6-4 Cap, Sensor Frame L JM24210-0 1
6-5 Washer, Plain, 2x5x03 E50120-003F 1
6-6 Screw, PHT (PT), M2.0x8 E10120-080F 1
6-7 Holder, Sensor U JM24205-3 1
6-8 Spring, Friction SEN U JM23605-0 1
6-9 SA, Transparent Sensor PCB JM66725-0 1
6-10 Screw, No.0, PHT (BT#1), M2.0x3 E11920-030F 1
6-11 SA, Transparent Sensor Cable JM67705-2 1
6-12 Cap, Sensor Cable U JM24212-0 1
6-13 Frame, Sensor Holder U JM24150-0 1
6-14 Screw, PH, M3.0x6 E00130-060F 1
6-15 Cap, Sensor Frame R JM24211-0 1
6-16 Tape, Sensor Cable U JM24105-0 1
6-17 Plate, Friction SEN U JM24118-0 1
CL-S621, CL-S621C & CL-S631 5-28




Parts List & Location for Unit, Control Panel

CL-S621, CL-S621C & CL-S631

CL-S621, CL-S621C & CL-S631

Drawing No. 7

5-29

Revision Up List

Sheet No.

Rev. No.

Date

11

0 Oct. 5, 2010

Chapter 5. Parts Lists



Chapter 5. Parts Lists

DRAWING NO. 7 Unit, Control Panel (Rev. 0)

]
| 5
4
>
—
e

CL-S621, CL-S621C & CL-S631 5-30



PARTS LIST for CL-S621, CL-S621C & CL-S631

TITLE: Unit, Control Panel

Chapter 5. Parts Lists

Sheet No. 1/1

Drawing No. 7 Rev. No. 0
Location Part Name Part No. ?J:\)rt/ Remarks @

7-1-1 Cover, Ope-Pane JM56204-0 1 | For CSA, CSE/White

7-1-2 Cover, Ope-Pane JM56242-0 1 | For CSA, CSE/Black

7-1-3 Cover, Ope-Pane JM56252-0 1 | For CHINA/Black

7-1-4 Cover, Ope-Pane JM56258-0 1 | For KOREA/Black

7-2 Switch, Key JM56253-0 1

7-3 LED, Window JM56208-0 1

7-4 SA, Ope-Pane PCB JM66720-1 1

7-5 Screw, PHT (PT), M3.0x6 E10130-060F 3

CL-S621, CL-S621C & CL-S631

5-31



Parts List & Location for Unit, Ribbon

CL-S621, CL-S621C & CL-S631

CL-S621, CL-S621C & CL-S631

Drawing No. 8

5-32

Revision Up List

Sheet No. |Rev. No. Date
1/3 0 Oct. 5, 2010
2/3 0 Oct. 5, 2010
3/3 0 Oct. 5, 2010

Chapter 5. Parts Lists



Chapter 5. Parts Lists

DRAWING NO. 8 Unit, Ribbon (Rev. 0)
5-33

CL-S621, CL-S621C & CL-S631



PARTS LIST for CL-S621, CL-S621C & CL-S631

TITLE: Unit, Ribbon

Chapter 5. Parts Lists

Sheet No. 1/3

Drawing No. 8 Rev. No. 0
Location Part Name Part No. ?J:\)(t/ Remarks
8-1 Screw, PH (N), M3.0x4 E00130-040WF 8
8-2-1 SA2, Ribbon Unit Fan - 1 | White (Ref. Drawing No. 9)
8-2-2 | SA2, Ribbon Unit Fan - 1 | Black (Ref. Drawing No. 9)
8-3-1 | Cover R, Ribbon Unit JM34201-0 1 | White
8-3-2 | Cover R, Ribbon Unit JM34221-0 1 | Black
8-4 Insulator, Ribbon Board JM34120-1 1
8-5 SA, Ribbon PCB JM66724-0 1
8-6 Screw, BH, M3.0x6 (NI) E00530-060WF 4
8-7 Screw, PH, M2.6x3 E00126-030F 4
8-8 SA, Ribbon Motor R JM35703-0 1
8-9 SA, Ribbon Motor F JM35702-0 1
8-10 Screw, PH (PW), M2.0x8 E00620-080F 2
8-11 SA, Tension Adjust Lever F JM34711-0 1
8-12 Shaft, Tension Adjust JM32011-0 2
8-13 Screw, PH, M1.7x4 E01617-040F 2
8-14 SA, Ribbon Sub Adjust Lever F JM34713-0 1
8-15 Spring F, Ribbon Tension JM33602-1 2
8-16 Screw, No.0, TFH, M2x3 (NI) E03920-030WF 4
8-17 Cover, Ribbon Tension Adjust JM34112-0 2
8-18 Screw, No.0, TFH, M2x3 (NI) E03920-030WF 6

CL-S621, CL-S621C & CL-S631

5-34




PARTS LIST for CL-S621, CL-S621C & CL-S631

TITLE: Unit, Ribbon

Chapter 5. Parts Lists

Sheet No. 2/3

Drawing No. 8 Rev. No. 0

Location Part Name Part No. CLJJ:Xt/ Remarks
8-19 Cam, Tension Base Adjust JM39201-0 2

8-20 SA, Tension Sensor JM68705-0 2

8-21 Bush 2, Ribbon Guide Roller JM31202-0 4

8-22 Screw, BH, M3.0x3 (NI) E00530-030WF 8

8-23 Screw, No.0, TFH (BH), M2x4 (NI) E15920-040WF 4

8-24 SA, Ribbon Sensor Frame F JM34702-1 1

8-25 SA, Ribbon Tension Shaft F JM34715-0 1

8-26 Sheet, Static Eliminator 621 JM29909-0 1

8-27 SA, Tension Adjust Lever R JM34712-0 1

8-28 SA, Ribbon Sub Adjust Lever R JM34714-0 1

8-29 Spring R, Ribbon Tension JM33605-0 2

8-30 SA, Ribbon Sensor Frame R JM34703-1 1

8-31 SA, Ribbon Tension Shaft R JM34716-0 1

8-32 Screw, No.0, THF, M2x3 (NI) E03920-030WF 2

8-33 Plate, Ribbon Washer JM34122-0 2 | CC-0205-05B
8-34 SA, Holder R Shaft JM31701-0 2

8-35 Spring, Ribbon Return JM33601-0 2

8-36 Gear 5R, Ribbon JM30204-0 1

8-37 Gear 4, Ribbon JM30203-1 2

8-38 Gear 1, Ribbon JM30201-0 2

CL-S621, CL-S621C & CL-S631

5-35




PARTS LIST for CL-S621, CL-S621C & CL-S631

TITLE: Unit, Ribbon

Chapter 5. Parts Lists

Sheet No. 3/3

Drawing No. 8 Rev. No. 0
. Q'ty/
Location Part Name Part No. Unit Remarks @
8-39 Gear 3, Ribbon JM30205-0 2
8-40 E-Ring, 4 E60340-000F 2
8-41 Gear 2, Ribbon JM30202-0 2
8-42 Gear 5F, Ribbon JM30206-0 1
8-43 Screw, PHT (#2), M3.0x8 (NI) E10130-080WF 2
8-44 Catch, Ribbon Holder JM34203-0 2
8-45 Knob, Ribbon Unit JM34204-0 1
8-46 SA1, Ribbon Unit Base Plate JM34707-0 1
CL-S621, CL-S621C & CL-S631 5-36



Parts List & Location for SA2, Ribbon Unit Fan

CL-S621, CL-S621C & CL-S631

CL-S621, CL-S621C & CL-S631

Drawing No. 9

5-37

Revision Up List

Sheet No.

Rev. No.

Date

11

0 Oct. 5, 2010

Chapter 5. Parts Lists



Chapter 5. Parts Lists

DRAWING NO. 9 SA2, Ribbon Unit Fan (Rev. 0)

té-éﬁrﬂ
ﬁ*@%

L/

A

5-38

CL-S621, CL-S621C & CL-S631



PARTS LIST for CL-S621, CL-S621C & CL-S631

TITLE: SA2, Ribbon Unit Fan

Chapter 5. Parts Lists

Sheet No. 1/1

Drawing No. 9 Rev. No. 0

Location Part Name Part No. ?J:\)rt/ Remarks @
9-1-1 | Cover L, Ribbon Unit JM34202-0 1 | White

9-1-2 | Cover L, Ribbon Unit JM34220-0 1 | Black

9-2 - - -

9-3 Screw, BHT (#2), M3X6 (NI) E10530-060WF 4

9-4 SA, Fan JM68702-0 1

9-5 Bracket, Ribbon Fan JM34116-0 2

9-6 Washer, Plain, 3x8x05 E50130-005WF 4

9-7-1 Cap. Ribbon Cover JM56115-0 1 | White

9-7-2 | Cap. Ribbon Cover JM56116-0 1 | Black

CL-S621, CL-S621C & CL-S631

5-39



Parts List & Location for Accessories

CL-S621, CL-S621C & CL-S631

CL-S621, CL-S621C & CL-S631

Drawing No. 10

5-40

Revision Up List

Sheet No.

Rev. No.

Date

11

0 Oct. 5, 2010

Chapter 5. Parts Lists



Chapter 5. Parts Lists

DRAWING NO. 10 Accessories (Rev. 0)

CL-S621, CL-S621C & CL-S631 5-41



Chapter 5. Parts Lists

PARTS LIST for CL-S621, CL-S621C & CL-S631 TITLE: Accessories Sheet No. 1/1

Drawing No. 10 Rev. No. 0
Location Part Name Part No. ?J:])I/t/ Remarks @
10-1-1 [ Cord Set (UL/CSA) C6009-000# 1 | For CSA
10-1-2 [ Cord Set (OE Straight) C6009-200# 1 | For CSE, KOREA
10-1-3 [ Cord Set (UK) C6009-300# 1 | For CSE, KOREA
10-1-4 [ Cord Set (CHINA) C6009-800# 1 | For CHINA
10-2 Shaft, Paper JM79202-0 1
10-3 Flange, Paper Wide JM79201-0 1
10-4 Ribbon Core $25x114 JM39902-0 1
- Cleaner, Head JM79904-0 1
- Manual, User's (CD-R) JN74924-2 1 | For CSA, CSE
- Manual, User's (CD-R) JN74939-1 1 | For CHINA
- Manual, User's (CD-R) JM74950-0 1 | For KOREA
- Guide, Quick-Start JM74981-0 1 | English version
- Guide, Quick-Start JM74953-0 1 | For CHINA
- Guide, Quick-Start JM74949-0 1 | For KOREA
- Label, Paper (Accessory) JN79902-0 1
- Ribbon JM39901-0 1
CL-S621, CL-S621C & CL-S631 5-42




CHAPTER 6

Circuit DiaGrams

6-1 CL-S621, CL-S621C & CL-S631



CHAPTER 6 CIRCUIT DIAGRAMS
TABLE OF CONTENTS

11 (T @ ] =T 2 o] o PR 6-3
Circuit Diagram (Main PCB 1,2/13) [CPU (1/2)]..eueeeeiieeieiiieeeee e 6-4
Circuit Diagram (Main PCB 3/13) [CPU (2/2)/DAC] ....ccoe ettt 6-5
Circuit Diagram (Main PCB 4/13) [ROM] .....coiiiieiiiiei et 6-6
Circuit Diagram (Main PCB 5/13) [RAMYI......oiiiiiiiiieiee e 6-7
Circuit Diagram (Main PCB 6/13) [CUStOM IC].....uvuiiiiieiieeecee e 6-8
Circuit Diagram (Main PCB 6/13) [CUuStOM [C].......cooiiiiiiiiiiiieee e 6-8
Circuit Diagram (Main PCB 7/13) [Head Control]..........coooemiiiieiiiie e 6-9
Circuit Diagram (Main PCB 8/13) [PF Motor Control].............ueeiiiiiiiiiiiiieeeeeeeeeeieeeeeee 6-10
Circuit Diagram (Main PCB 9/13) [Sensor/Ope-pane]........ccccoeieeeeieeeeeieeeeeeeeeeeeeeeeeeeeeeeeee 6-11
Circuit Diagram (Main PCB 10/13) [POWEI/BUZZEN]........ccoeviiiiiei e 6-12
Circuit Diagram (Main PCB 11/13) [Unit, RIDDON] ......cooiiiiii e 6-13
Circuit Diagram (Main PCB 12/13) [IEEE1284].......ccoiiieiieee e 6-14
Circuit Diagram (Main PCB 13/13) [RS-232C/USB]........ccccuttiiiiiieaeeeiiieeeee e 6-15
Circuit Diagram (Power Supply PCB (120V))....couuuiiiiiiee e 6-16
Circuit Diagram (Power Supply PCB (220V))....ccuuuiiiiiiee it 6-17
Circuit Diagram (Ope-pane PCB) ..........uiiiiiiiiiiiiiieiee e 6-18
Circuit Diagram (Reflective Sensor PCB) .......coouviiiiiiiiiieee e 6-19
Circuit Diagram (Transparent SENSOr PCB) ...........uiiiiiiiiiiiiiiieiee e 6-20
Circuit Diagram (Head Up Sensor PCB)........oooviiiiiiiiieee et 6-21
Circuit Diagram (RIDDON PCB) ...t 6-22
Circuit Diagram (Tension SeNSOr PCB).......cooiiiiiiiiiiiiia e 6-23

CL-S621, CL-S621C & CL-S631 6-2



Chapter 6. Circuit Diagrams

Inter Connection

g | 9 € z
g umelq | ]
P/l __Jo 1eeus | ‘8eg L0886
v e LIINP w ¥3LLND'LINN
worsiney Jaquiny oz
HubZLIONE
uonosuuey el 804 NOSEINYS 4.,-GEL99NT
[CAgqEin_] 90d ¥3LLNO'VS
TR [CAsgsInog ]
4..-GZ899NI
80d OHLNIO'LINN EOETETT N aNos | or
1NONV4 | €2 cuEA | 6 4..-0L686I aNo [ oF
g.SN3S | 22 anod | 8 EREERNTIN) ano | 6
> VSN3S | 1z anod | 2 ano | 8
2 NOLOWA | 02 anod | 9 ano | ¢
& NMoad | 6k anod | s HLLND | 9
¥3LNdWOO [CAEEE] S gd3is | 8l ouveA | v 46716930 dHLNO |
LSOH gua | L odveA | € HOSN3S 133d'vS 11010 | ¥
0L LIINE v d3als | 9 odreA | ¢ 011o1N0 | €
80d NOO vaa | st 0¥SA | A |z
4/ SOINOYLNIO'VS AvZ+ L
zoLr
_N_ LO9ND
LOSNO _N_
_N_ 0-0LLL9NP _
318v0
NOS8IY VS
asn ozezsy H-GTLLONT 4.,-G9L99NI
318v0 O¥INIO'VS 318v0 ¥3LLNO'VS
C ST [z ST zir T oLr
ano [ v N | & ON | ov anNo | 02 aNo | 8 dwaied | v gd3ls | 9 SN3STId | S GND | OF
da |¢ oN [ sz | oN | 2 ON | 66 | omNowu | 61 ano | 2 LNONVA | b gua | s As+ | v ano | 6
wa |z oN [ )z | ON | 1 JELE T ano | sb ano | 9 GSN3S | 0L | vd3is | v JdALYdD | € ano | 8
20A |V oN | gz | ON | o As+ | g viva | 2L ano | s VSNas | 6 vadd | ¢ ano [z 0dAL¥dD | 2L
oN [ zz | oN | 6 NFLOTSU | 98 ano | o1 Az | v NOLWA | 8 ano | ¢ oN |1 HLND | 9
oN [ 1z | ON | 8 Ag+ | se oviva | i Az | o€ nmodd | 2 AEE+ V dH1ND | &
Wia | oz | ano | 2 oN | e ano | b ner |z 1110100 | ¥
ON | 6L | ¥sa | o ON | g€ sviva | ¢l Ag+ V 0110100 | €
ON | 8 | s | s LdALTl | 2 ano | ek e |z
ON | 24 | s | ¥ 0dAL3l | le wiva | 1 Aver |
ON | ok | axy | ¢ ano | og ano | ok
on | s | oa| e LN e | evva | e (VIHOM) 1€9S-10 404 ..-9ZL99NP
o I L (VIHOM) 129S-10 40 4..-6LL99NI
s | sc | wiva | s (VNIHO) O129S-10 104 4..-60L99NF
¢ ¢
o3 [ ge | ovva | ¢ (VNIHD ‘3S2 ‘VSD) 1£9S-T10 404 d,.-LZ/99INM oMo T8 [ ZIvaa [
‘
Asng | 1z | 3gowisu | AMWO <WOV 129S-1D 104 H4,+-20/99INI (APZHTHA | 92 ano |z
‘ (AVZ+)aHA | ST ano L
d0d Ule|N' VS (AvzH)aHA | vz | elvaan | ot
(Avz+)aHA | €z | zalsanu | 6
2] ano | ez ano | 8
vz |2 ZNHLGH | Lz | eatsanu | 2z
Avz+ |9 GND | ¢F | mMsa3ad | 9 9 ano | oz ano | 9
ano [ ano | 1k | a3 | s S S VWHLGH | 61 ano | s
ano | v ano | or | a3aNd | ¥ ¥ v IvVIaHU | 8L [(ApZ+)aHA | ¥
ano ¢ ms3cow | 6 | aawd | e [ CHE As+ | e g4d ¢ LLVaaH | b [(awzeaHa | ¢
ano |z MSdols | 8 Ace+ | e NOWWNL |2 AS+ |z vdd |z M10aH | 91 [(avew)aHA | 2
As+ |1 ms3snvd | 2 AEE+ | Acer |1 Aser |1 vad [1 ralsaHu | o1 [(awesaHa | b
6r 8r o or s 1 er
H.GPLLOND
3180 ¥3IMO VS HSLLLONE 4.,-0069NI 4..-G0BLINI 4..-0ZLLIN HobLLLOND
378v0 SNaS EINVEERTET=e) SNIS vuL'318v0 318v0 (LNdNIE)3T8YO QVIH'VS
dN avaH'vs SNEREENES
¥3L3ANOO LOVNO HOLON
2a/0v
4..-0ZL99NP
80d INVAIdO'VS
g
aNo [ Ma3al |v Hr90LV LA
ano | 1k NG+ | € H.-€0LGTINE QvaH'vs 1£98-10
ano | ob Tid N+ |z HOLOWZ VS
1NdNI OV MS3IAON | 6 Ager | L HuSOLVLNR
MSdOLS 8 4.,°GZL99NP QV3H'VS 129810
FGSBOONI 4GLLIIN MS3SNvd L 90d SN3S ViL'VS Nld
(A002)ATddNS ¥IMOJ'LINN 80d SN3S dNAV3H'VS Msa33d [ 9 a3 |
[EERISISE] S (a3 ]
a3aNo | v
aFNd | e H20L62NT 4.,-0EL99N
e |z N HOSNIS'VS 80d SN3S 434'VS
AEE+ |
[ X MS ]
[ ¥xa31 | .E0L6ZNP
THOSNIS'VS
8 9 _ ¥ € 4

CL-S621, CL-S621C & CL-S631

6-3



Chapter 6. Circuit Diagrams

PCB 1,2/13) [CPU (1/2)]

in

(Ma

ircuit Diagram

Cc

8 L 9 S v €
Ta umeid |
10_19aus |
v ~9ZLIONF/,-61LOGINF/
wosinoy | +6OLIONIT-LZLOONFT-LOLIONT joquiny
‘ ‘
(eLiz') (/1) NdO ‘Od NIVIN Sl -
s P ¢ NOMIONK—57 | i, 9LENLY00
o auu Le 8L | Qu/y10d 13sT1d o
oL LdALYAO 9¢ 5L | Noann/3ann/amnn/eLod 0300N 25k s E 1 9oL
ol 0dALYdO izd 08 | Woa /38 IN/EMIN/ZLOd 1300W 2L
9'g'y  3ENTWNDANT mw -.:m|m NOAN 38N T/AMNT/4LOd st eaEn -
gy 3ETUWOATI cclly <8 | WOQTVIETVEMTT0L0d
5 Svaasu ¢ swuas/edod
S Svoasu ekl g 95 | Svodszadd 1353 T —V1£6010dN R_V
o' >108Nng S10SN8/La0d ON eV
S ENGIY IR & 88 1 3x0as/000d % w1
%100
150/180d o
¥ SOZNONHU Ziilg S 1985/950d WATHAY €1
9 Qyowu ElLLy 9% | QHO0ISS0/550d d43aY
Mﬂ £ yS0/vS0d
9 sovou y—O% | £50/650d ]
9 UMOlu 8011 4 LV_| SMOI/2S0/280d %IPiEe
s SOWVHAsU mm” 1S0/150d LINY e = OHEA oM e (2] HLIND oL
v SOLNO¥U 059/080d 9INY LT dNlgy 1L SN3sTFEd oL
voLLE Ty GINY fe & SavaH . 0
o011 k55| SEV/EHYVd PINY Qb vwmu:lN NOWQVIHA J coiL
oty | zvieHvd £INV 5 = JNLLOW g
2z wez 717N xz oV o6l & v | Sovetivd anv 56 ] dNLaH L
Z2v/9HYd VINY [ NOWdY 6
ey v6le 8Y | \zvisHvd 0INY £6. NOWVHL 6
1oV 2618 67 | govierva 6.
QoY 06, ”__F 6LY/EHYd
Y__68Lg 19 f8ivicHvd
T OULAV/ATENIS/SNOd TR 4
i | ——
SvaTH) 1e
oo 51 ooy By
v___osi® 09 ¢ A
z o £ Livwonod [ bile
v 29 11y
v £9 foly £00L/801/22d yazzna
« 2 mw 6v LEOALNIENYYING/9Ld |LE
z & fev £01L/0£Dd LNI/EONVING/S.d |-S4 L ouLaN
g v 200LZ0Lid (-4 L g 3dALQH
Lg 29 fov 1Z0dLNIZAVYING/ELd |- L g L1LOSNSY
L9 89 oy Z011/020d LNI/ZONYIWNA/ZLd |52 S9L g K 01L0SNSY
v 1ol % 60 |,y 7 €9)
W col® e/ |y
g mw m v LOOL/29dLNV/9d AL 9
95t vely < = 1 LOLNI/99d.LN/99d 0dAL3I 2
Lvelv v TR ST LY/LIdINI/L IV 1OIL/0LOdLNI/S9dINI/S9d LdAL3I zh
8L 3L ovioTdINIOTVe
s PWMdISLODLNI/LEQ/SLHAD 101/000L/55d 3103d g
mn TLONVH <K valg LEL | 0nMd/PLOdINIOEQ/PLHAD IMVVIN/LOOLNIPSd |-O% £9. w 10V30 9
esL e 0L |}y qn1/81adINI6Za/ELHAd LOMYING/0DIL/00Dd LNI/ESd L& LS < 1o3uad 9 ez
n 9 daLs L 110L/ZLadLINI/BZa/Z L Had 00L/28dINI/ZSd (£C 2 o 3> 138U ggzL
€l od1a7 L g VL0171V LINI/LLOdANYZ2Q/L bHAd OMVVING/LSINY/Sd Lrle > 0vOvaH 9
€l 04Sa1)) L 11LdNOL/0L LdINI/OLAdINI/9Za/0LHAd OONVNQ/OSALNI/0Sd |¥E Svle & 003d3H 9
it NMOQd 01aNIL/6AdLNISZA/6HAd e £ G2
I v dals L g-£¢k 1010L/80dNI/v¢Q/8HAd
€l d1INIgn LVl 22l |0,47151/101d LNI/2AdINI/EZQ/ZHAd S2dLNYLOS/SZd 1vaova ¢
9 JININD OVl g Lk 10,aND.L/00+d LNI/OQJINI/ZZQ/9HAd ¥2dINI/LIS/bed aova ¢
ol 1Lnoa K- £bd g 0¢k 1500L/50dLNY120/SHOd £2dINIIMOS/Ed »100va ¢
ob dHLNO SLL | yqdINI/0ZQ/vHAd ZZdINyIaxXL/eed
6 SNISNAH > celg 8Ll | 6QdINI/61A/EHAd [ZdINyLaXy/led
oL oLN0a K- LeLg 1L 15501/20dLNI8LA/ZHAd INN/OZd
9 dINIGH 0tl g vbL || QdINIZLQ/IHAD
9 dINIdO S celg €LL | 5QdINY9}Q/0HAd
6el e 00S/0aXL/ELd
_ sia 0IS/0ax8/Zhd
g Syt ivia LLALNI/OMOS/bLd
g 8011 5/ (zHWeY)S0-0X0d
a 80
d Jo] ke QUINDIONOLS - T mo_ﬂ_wu
a 1 mwl 6a wan €l LS s o < Noxon
o oufvo] o9 ._.l > e
a 66 | 5q o1ass e3EA Y
a 86 | og tass 0Lk €aEN
g 6 15q oLir 8ok |
g 9 1eq x4
[ B
a L& 56 | g 1
a €6 > x £9EN
g Lg €6 foa % %
95y losila <O — a s 3
2 2 vin
o >
omxo\%&uv Rn_uvomxoam—
2 T T 19
L I
8 L 9 g 4 €

CL-S621, CL-S621C & CL-S631



8 A | 9 s ¥ g

g umeiq | B

1o eous | S1eQ

v
uoisiney

«"9ZLI9NI/«-61LOINF/ W
*60LIINI/x~LZLIINIxLOLOINF joquiny oz

(e1/€) ova/ (z/z) Ndo ‘a9d NIVIN

oML

Chapter 6. Circuit Diagrams
t Diagram (Main PCB 3/13) [CPU (2/2)/DAC]

ircui

C

CL-S621, CL-S621C & CL-S631

0.1u/B16
0.Tu/BT6
0.Tu/BT6
0.Tu/BT6
0.7Tu/BT6
0.Tu/BT6
0.Tu/BT6
0.Tu/BT6
0.Tu/BT6
0.1u/B16
0.1u/B16

C15

13
C12
C11
C10
C9
C8
C7
Cé
C5

6-5

ZaN/0s8
SSADSO
N SSAV
SSATId SSAT
89L | ssnl SsA3
85l 1 SsAl SsA3
i mm SSAI SSA3
SSAI SSAT
Lo o WLl ANERYAN o SsA3
S SSAI SsA3
€20 = A Ao | e | efoppppo g SSAT
ity 0y = 61y = amppop
al atova z SEEEEEE
a3SNS3d MM Lt 8 1akd W 1vaova z EPEPPE
NOLOWAd et SV M0 6 3100va z N
NN
o | N opppppp aanoso
gLy = wo|loouy | aaan
1 LY = oy = QaATd aanv
cgen L9V | gani aana
hd L5 1 gani aan3d
SHEA Y€l | qani aan3
20t | qani aan3a
¥8 | qanl aan3a
SS | qanl aan3d
L 9 aan3
SIIA aaAs
ain
AN
T ur Z3N/0S8
= G1H
00
vl o sa
EvL o 1sua
vl ol jaa
174v2« 374 oaa
vz sz ovl
1z Z154d M1004L
0z 6l 0dd 6€L | gnIodL
8L L SWQ 8EL | ov1vaouL
9l Gl A0 LEL |\ y1vaouL
pLo€L _1ag %€l | zy1vaouL
oL ANJOHL _ EEL | ev1vaoul
oL 6 EV1VAaddL | . oo loo [43
s 4 2v1vaouL ALY
o & V1VADYL I = oln
y e 0v.LvaodL NENR
7 M1OOHL
Ir £IEA
eIEN




PCB 4/13) [ROM]

in

(Ma

ircuit Diagram

Cc

Chapter 6. Circuit Diagrams

R umeid | ]
J0_198us | Beq
v «"9ZL99NI/+-61 LN/ w
Uorsiney | 60L99NETs-LZLIONF - LOLIINE oquiny oz
(€1/%) NOY ‘B2d NIVIN
o YOHSLOL.
LI z I
/\ (S)41-1-9-SSANM40G.,/\ 2= en | |,
s T
SiG ob o 71G 918} 0
€10 7 Z1a 820
1Q o0 15 01a
a o o5 a €gEn
o vr 6l <
d ¢ 8l vd
£d v L g
e ool 0a
1 oy st e
6 bl
edEn EERRU/len] o
wm M 2aruWoanT < 3an1uwoan 95T
87lL 9 |l
LCV e ol Y
ELY v 6 Y
K_Vooo_&o“:wmo._aum* 39N0.8AgZEMABZIN v s 8 v
v LY
2aND € L
L Drliane . £ 9 v
9LamL'o 12 7500 oLami'o v o6 o v
P 3 W v e 920 v PEA v
L & ¢ v
8N an edEn 9N v i
iz z 4
i 9% v
v
o
0001410/HY90r62S 39NOLBAEZEMAZIN
1383y am o 3gTwnoa 96T Z dd M Oy 3gTWNoaM 96T
AS/AY 30 pez ayu 9’z g dWddA 9 Pgz Qayu 9T
Ex) SOZWONY z ad 3 p¥ A SOLNOYY z
e 9 s 318 9 vk U7
=48 L2y —oWrzzn | =% N "
v Zzy 1 SrLL ov (EL_bvII® 0."zd ey
v v edeEn VDS v 2€HS 0L
p oV v
00 v o= I v
a1t zq bV Y a1 4q b i
49 €€ o g cv [ a €€ | oq oy v Ww:
d___%¢ 1va 9v ad d___5¢ 1va oy )
a8 | g v v vd 88 | oq N v 918mL 0.
a_0v|gq av v Sa_0v | o oy v 20
a__ v, q 6v v 90 __er | ,q ov v
10 wlegq YV 0Ly a b eq ol kL 0Ly E5EN
89 Xyea by e v a0ty ea 1 2 Liy
48y 00 2 Al d___ctyoia 2 Y
0la__ ¥ey g ELY L A 0la__ ¥e 4 ),q €Ly Y
o€ VLY g oe i~
d___%yzia o %y zia o
d___6Eyeiqg sLy Y d__ 68y eq SLy Y
d___wy 410 oLy 8Ly d___Wy4q oLy Y
nd___E7ygig LY 82 L1y nd___E7y veia Ly kB2 LY
Gla sy v oLk 8LY a sv Sy kLt 8LY
VAT 61Y 6w [9b 6Ly
oow |6 02y oov |6 12V
or VoY or  enL¥ YOHSLOL
vIn von
v z 02V
SN
N 91’0
20
£5EN . .
- R < luwelv 95T
lostla g
Tosra % ose

6-6

CL-S621, CL-S621C & CL-S631




Chapter 6. Circuit Diagrams

t Diagram (Main PCB 5/13) [RAM]

ircui

Cc

| L e z
Taumeiq |
10__jeaus |
*"9ZLI9NI/-6L LIS/
¥"60L99NN/«~LZLIONI/LOLIONF  1oquiny
(€1/S) NVY ‘G0d NIVIN
apL
NVHAS HAIN8ZL 10 NAINY9
M Svyasu z
Svoasu z
M 3anIwNoana 9T
AL IETWUNOATT 9T
110 = M »10sng 9z
A\ N\ 302918ZALGAH 5t hoan TR HHoas ¢
SSA am HMU/AMU z
re 1 ssn el 0 P2t M SONvVHasu z
¥ ssn L sw e Mg
25| OSSA ON = olroen
ol e of of of of © OSSA 0.
o o| ol @ @l Q| @ 9% | ossA \va o a.mmw
3l 2 3 3 2 3 2 2l | pssa ooa ova kg g8 T
S| 3l 3] 5| 3]sl 3] 9 Z | oa 0z oy Ley
e m 700 [RAETAY
S| B = 3 I K 8 551 2daA < €0Q oV
O O] O O 0o O] © DAaA ¥0a LV 2
€7 | paan 8 | goa v W ZE
©aan 0L 1 9pa ev um
aan 100 P
& 22 1 aan d 80a v 8
¥ | aan m Y | 6oa ov w“
1 gorn 0.a S m%M m« ze
eIEN 11.a v | 7150 6 e
Z1La 8y ve 0
¢ €1oa o
£La 05 | y1o0 iy ez L
wm mm sioa ANc&oz% z
G
voin . "
T < levaly 9T
lo:sila b
Tala—<CO” vz
)] g z !

CL-S621, CL-S621C & CL-S631

6-7




Re Umeiq |

10__jeaus |

v

uoisiney

«~9ZL9INIF/-61 LIJNI/

L 138344y
¥ 60L99NI/+~LTLIINF/x-LOLIONF oquiny g'lL'ob K&

ozig

(€1/9) 21 NOLSND ‘GDd NIVIN

oML

PCB 6/13) [Custom IC]

in

(Ma

ircuit Diagram

Cc

Chapter 6. Circuit Diagrams

V-83€-591-rO9¥6590dN VO N

zoL RELEN
zeLzh Emmmocw A\
Zin CI wxm mnw 0zt
oLamLo aal ano [90k
170 ano [ 16
ano wh
YOzl gz 1353 mnw Sy
g
€l 1aX¥aTd ) o ¥ NIdXy ano
¥2Z c0zL X 75 S
R z 0aXaTdK- S 1noaxy ano -2
e olgno |otgmio |olamio |oiamio |giamio
mw o.__,w__w_oom(m 202, m%wo 00 == 680== 80— 80— 980 ==
z Asnadd—Loc: Asng
z 3d—0¢: aNad aan
_ 66 L | oviva aan |96
0vIva 6 7| viva aan |19
v.iva 6 L | 2v1va aan |98
vivQ 26 69 | eviva aan |-S
viva 56 89 | yviva g ad
P1va 6 19| eviva £gEn
viva 6 99| gviva
vLvd <6 9 1 viva ENd asN3Is 1l
z [0:2V1VA (e 2 AYVA o L6 ¥9 | 15313s ZINd |88 06 v SN3S 1
oZviva &) 17NV4UQ_68 €9 1 19Ava INd |46 88 gaa
z Hd mw MM H1d OWd Mm ww vaa oy
z JE0HLSU D —o2 58y 380418
zL IX-Qa1vu 55— 8%y ado1nv
z I O>—E3 Ly LNl UMH
zL NI-LOTSU D, 08 m' NILO313S ami TﬂlA 0
z 10v30 Zh IOYND 381 i 3INWWOANT  §'v'Z
z [JoELSEe] M|9 LOFUND ECRE I IgTUNOATT  §'v'z
z JININOK—— Ok 1 ININO 3OS
8 Q¥ oz ¢ vy
SO g Sovou z
6 a3 118d - 1a31 ol 45 YMOlu z
6 a31aND za31 ayol Qyolu z
6 a3 Te3 mm €031 ALl m Al z
6 MS3SNVd D, £ LS
6 MSa331 o eMs
6 MSAOLS 05— 88y ems 0dO o LSW4d s
6 MS3IAON > a' YMS 1ado 75 7 ZSW4Hd 8
oL 98 ) oms zado HIa3d 8
CEE. S8 ) 9ms £ado |-+ mw 1S¥4d g
FNV_WNN_ 4 om_wm L dLNIdO(—LEE wm dLNIdO 340 N £ d33784d 8
5 5 a¥do 82
SHdo |84
gen L NOAOH NOAOH 1L
e NOAGHK—£2 LLL | NOAGH
7 M10AHR—2 LL 1 y10aH o _
S9 Skt |vivan 1q [-£8 0d
L9 £ ELL{ evLvaH ea & d
SVLVAH €a d
aH c9 Ol 1 yyivaH va |28 3
’ (R TR — 7 YIH grsapu—2 g1SaH gq (-6 va
VYIOH 1v1aHU—22 80l 1 HiaH oq |82 d
z 030vIH Y08 L0\l 65ovaH rog A2 d
z 00343H 0DIYAH 8a [2F g
z dLNIQH ek 1 giNiaH 60 |2 d
oia |22 =
1a w =
? NOMC e Vida Gia [or cig
1510 K500 g bra les a
oglL K wXdd ora lse vla
solL K 3 a .
borl K aXN4d \GE! <> [o:sila S
6 11LOSNSL. H ZINOAd CEP]
6 01L0SNSL—ESH o 0L 1) 1Nodd
s 66 | 3103d R —
% wlE v
wir ] 120 oy (€8 vy
sz 1088 NIM1D LIy g OV
611 > 8Ly .wN|mF<
g x T v . -
eTEN 2 - |§<IAAVV [Lvelv R &

€
[4
5

6-8

CL-S621, CL-S621C & CL-S631




Chapter 6. Circuit Diagrams

t Diagram (Main PCB 7/13) [Head Control]

ircui

Cc

€

Ra Umeiq | K]

0 1eeus | Beq

v

«~9ZL99NI/-61 LI/ w
¥"60L99NN/«~LZLIINI /- L0LISNI Joquiny ozig

uoisiney

(€1/2) T0YLNOD AV3H ‘G0d NIVIN

anL

g-SSaHd-8982¢9

aHA
aHA
aHA
aHA
aNo
CWHL1AH
ano
LWHLdH
1vIaHu
L1vdaH
M10aH
191SdHu
¢1lvaaH
aan
aNo
aNo
€1vaaH
¢d1saHu
aNo
€41SaHu
ano
ano
aHA
aHA
aHA
aHA

PAN

> 3dALGH ¢

Svd

€HEA
%LMOE 0s8/doooL

vvw_ .:vaIrl Vv
czel & o0L'epy X
leeL

MA
ozel X o§NvI 6lcL X 0" 1vd

1

0HSA €HEA

YYZLOHAY.

ol
oLamL’o

aNo

O0A

dNLGH ¢z

aeln

Y2 LOHAY.L

YAC
EAC

i

CACT
LAC

O [N [0

VAL

EAL
CAL

142

058/d000 %«

z STHAVIH K

er

= [N[e[ 0[O0 O [N < 10 O~ 0 (|

Lel

aHA

S0259y
A €

ca
s0csad

SHENA

0589/d000L
€v0

AL

AMA

%M
€4

A _‘_§_ 6ed

%M0€

oLeL

%Py
8¢y

60CL

W3ar1101a

Waviivia ¢ : }
€0

z  NOWQVIHA K

1a
S02sad

D

EHEA

Wy
9ed

W

pAAN sed

199rse
[39]

£

AN 0O ©N |00

AN N

L L L1 0 1 1

O[O ||

LAL

oz
ol

vve

)

£ve

1vIaHu

[A44
Lve

MT0aH

vl

4!

evl
eVl

cd

Ll

NOAOH

NOAQH

veLn

9

9

N[0 (™o~

g1SaHu

ALy
ovd
EHEA

o< fv-+lan

© © ©

CL-S621, CL-S621C & CL-S631

6-9



Ra Umeiq |

10__jeaus |

v +"9ZL99NI/x-61LIINI/
uoisiney | x"60299N/x~LZLIINM/x-L0LI9M Joquiny

(€1/8) TOYULNOD HOLOW 4d ‘92d NIVIN

oML

PCB 8/13) [PF Motor Control]

In

(Ma

ircuit Diagram

C

Chapter 6. Circuit Diagrams

— M=
¥E€. " zou
976-49£6£0dN
i enovert s " DR SZ7AN
1wl z
%LPIEE voLn
09y
2001=Ae5'Z
%I 001 M 65a
95 %LPIEE
]
eJEn edEn
1-53SV86YY
0s8/ML0
590 =% ozl ¢ mmw mnw oL
AR v 3
054/n2Z°0
SENTN
90 £ 1 550y PAN
T glamyo [ e [ O«
%ipie’e | 0sa/doool €90 == SSd = 45y
T
LY 290 W
43 gy geer b oMrzeg << NOLOWAd €
! T > dWLIOW Z
(AESZ)wyodL < 0,004 9L/mol 054/nzz’0
(A0Z'2)WyoNg'L < 0,08 190 |—| 090 .M_m_m_mm.__m gk M n_m._m._mmw__u M
AN Favng b
aon  F18vN3 P
T €l HId kel
HIa4d 9
skbb s o dalSeLr iodd - g s T
SEEE ! Mi/%10e 0| ¥ ioa veel TISNIS  ZSW ¢ ZSWad 9
SEEE A -
alajafs| sramiol Feeo VSN g LSINAd 9 10 e < 13s3™du g0l
SEER % ez X5 oLgmi
H3-898 60 7L [5)
9 wwww MLI%LI0E 0 oz | HISNIS W 11010 X8 15— 6zl
SBBB oLgmi ol €50 cIEN 90
; 0019001 [ 250 az1no 1zzL e oz M Jhodd -
¢ : : [:744 VZ1NO dOA Tzeel ¢l il )
: L€2. z | arino N %cmm_\sﬁo 0SMOOLRS == 0§4/NZZ°0 voin %1PI00Z
1 ? 922, 8l | viino Taan |2 150 050 670 v
* sz B 6. k& T Tofonls
T 007/door 1 I 87D Sin vzzl 1WA %001 By
v
£TEA |
OVEIHAD ML_ ml—u €2zl
SO

058/d000}L = %004

= |_| 190 ord

(8172

6-10

CL-S621, CL-S621C & CL-S631




Chapter 6. Circuit Diagrams

t Diagram (Main PCB 9/13) [Sensor/Ope-pane]

ircui

Cc

8 L S 14 € 4 3
g umelq |
10__jeaus |
v ~OZL99NI/,-61 LOINF/
wospoys | +60L99NFTLZL9OWI s LOLOIWE soquiny
P
(€1/6) ANVA-3dO / YOSNIS ‘BId NIV
VAN
<
2
+008900202€2900 : 0013 VHIO0AN 2
[_3nvd3do | S
VILE-NWAZL B
2
L PRER
oL °Pre [HOSNIs dnavad
g (572 Moo @ I>rHd-gEd 058/d0001
2. M 2.0
L 8e MSISNVd o € T
. z
K 95 peoadd 9 ¢ [TAR Q72 5] » SN3SNAH 2
9
v azano o T comiier
¢ aFEd 9 99
e €8EA
™
£3EA
¥6E A6l NeZEL lLpe  losuesy
101 H H  11LOSNSY
1M 1 H  01LOSNSY
X6E W6l NZZEL ILve Josuesy < VILOSNSY -z
L1LOSNSL 9
1 H M 11LOSNSL WarLoLa
OLOSNSL 9 1 H 1 H  OTLOSNSL veeL €10
H < 0TLOSNSY ¢
N eeelL
+008900£002£2900 o
- 0013 vi300A% seLpiee | Gimioe ] wiHL ] 0ga/d0001
339)H0SN3S 138v1 . w UME SHE wNE 120
1601 -W2ED %LP6E | %Lpl0Z 0g8/d000L " z
o €2 (Y] 0.9 — oon.Worg el Ye P> Nowd3 ¢
521
¢ et > NOWVHL
sozsay o1 Weog
o edEn ¥a £8EA
SHEA 2L02/% IS L 058/d0001
194 90
[32at
994 Y062V 0g8a/do0oL
R_V VII)90SNIS 138V 55A| 8=
31010-5052dHD 8595052
S 0 ovzL ¥ ooz."oed & 7 L T M < 03sNs3d €
v
4 vzl
z
vzl :
918/M1°0x €9EA 09GA
990
085N
8 A S 4 4 l

CL-S621, CL-S621C & CL-S631

6-11



Chapter 6. Circuit Diagrams

PCB 10/13) [Power/Buzzer]

in

(Ma

ircuit Diagram

C

8 L 9 S 4 3 14 !
g umeid | EE]
10_100US | Beq
v ~9ZL99INF/-61 LI/ w
uoisiney | +60L99NM/x-LZLI9NF/x-LOLIINF soquiny o215
(€1/01) ¥3ZZNQ / YAMOd ‘g2d NIVIN -
[¥3733d ]
SMHIESS N\
A
SN3ST13ad w Izl & %I esd ” SN3ST33d 2
ASH | o S0zsad
LdALNdD | 9lzL 8a
ano
oN L £5EN
e 1
0HSA
WaLLOLG 0s8/d000} 058/d000}
980 580
01D .
W S LdALYdD ¢z
— K y3zzna - ”__w....mmm " 0dALYdO ¢
NETNR) Azz | ze
e SMHAE0IS A\ g8Y =ved 1 H bdALYdO
slel! o oL H 1 0dALYdD
08-200YHAdIELINMC anNo 6 CYEA SHEA ¥3133d  ¥3LLNd
9LzEML 1z8 ano b 058/d0001
98y + ano 7 ¥80 ——
IR 0dALYdO 9 vizl AL S HLIND 2
HLLNO N
S 2 0¥LNOQ 2
dHLND b €/2L S v LUINDa 5
odyeA 171101N0 Py LcL ® 9 € S dHLND 7
07101N2 z o/cL X LT <z [4
AvT+ . zlel 8 L
AvT+ Ivd
oLr L ﬁV
Nz = WavLLola
g8y | 60
eden —K 13STAU g9l
GEEEHON MA d
80 69zL £01'""zed ®
89Z1
RV NN
0dbzA
AN Y-H3-gsq
1921 8 m
VQ0EE-0£99XY L]g
058/d000} andeleyng AJHMEVINGLHE aLa/nL 0 ano 9]¢
280 SSA N €80 AN z sy
99zL S aLami S als v, s9zL v e
ans Fwo|_| 20 E oLamzz 0L/NO0L. ZHE 0L8/NZ'Z == SEMNLbx €z
. 4 € 080 6.0 810 110 | v9zl 4
u no, ul - -
9¢ §LISTINL—ggzr LNOA QAA = Z92L 2 R 192 o Rl A\ 09z 1
1en 0zn 61N er
Me'e SYENA 1
08y » g 08SA  OMbZA
SHIA Sozsad Sozsad
SHENA 1a 9d
8 L 9 S v € 4 |

6-12

CL-S621, CL-S621C & CL-S631



Ra Umeiq |

]
J0__1994s | “aed

v «"9ZLI9NI/«-61LIINF/ W
uoisiney | *"60L99NF/x-LZLIONI/xLOLIINI joquiny ozis

(€1L/L1) LINN NOGQIM ‘92d NIVIN

anL

Chapter 6. Circuit Diagrams

t Diagram (Main PCB 11/13) [Unit, Ribbon]

ircui

Cc

916-496£0dN €ZLOHAVL
oLamL o el aLamL o g IN®
160 T 069 T
3 +A or O0A
29N ovin
e3eN e3EN
JZONTE
1O silresa << TIONYS 2
98zL
gezL %
MA,
%Lptee’ | 058/d000} >y dnisd e, M g6
164 = 680 976-49€6£0dN
AN, H o —_
¥8ZL KT PR AR S
AR S 7
%LPIEE goin
N\ 6
(IYNSIS)LINN Nogard 0001=AES ¢ m
%ML *~ 00 "eed ]
z6 %IMEEE
(93MOJ)LINN NOgard 168 [
81-SSdS-a80Nd AN WW aTSNIS o N480HSZ egEN eIEN
8 e VSN3S o by < T8zl
s i wmoad 7 oseLt €ZLOHAY.
S 9 g d3Is ¢ . en Y10 < 13s3ddu g'o'ol
5 oLamLo D
14 g 8da 9 880 olami
¢ 14 v d3lS e X2 9 —— 180
z € v a9 xoned (-9 oo
_ ¢ £den
i 0o g < odlaN  z
eIr 1 5 vl
09GA 04PZA zir /Tl <% 1 %tpooz
e3EN arin = o6y
SHEA
8 L s ¥ z L

CL-S621, CL-S621C & CL-S631

6-13




Chapter 6. Circuit Diagrams

PCB 12/13) [IEEE1284]

in

(Ma

ircuit Diagram

C

3 | L 9 g v £ 4
R
10__jeaus |
v ~9ZLI9NF/+-61LOINF/
worsinoy | +60L99INF/x-LZLIINE-LOLIGI soquiny
(€1/21) 8213331 ‘G0d NIVIN
apL
1 H H  ldALAl
H T H  0dALAl
¥8213331 NV1  ON
N\ LLdb8zLIad
s ano
AN,
2 0eL o Lyt G0IY WW SET ¢ be | 32
90€L S TRY] Sl ane
xez | wez ob
[EIAEEE] oLy Foiy
oLa/ML’0 ==9LaMmoL =
123} SN 960 560
£den _
. ov w 378v0_00A
wn 68 [ GZLOLLOHVYL mm S1EVO DN
13s3u | 5E goeL X [z 1383¥0u oTel 81| 9on
NG+ . 7
NI-LOSU WM 9LamL 0, Fen 1 1 aezn
AG+ b6 1 60 5= | €JEN 09SA
oN s [ | odsA T
oN 09SA
LdALl wm 0GHO/AG
0dALTI o8 60
ans
N 62 | _ .
N oz voeLl & xE'e
17nv4u Iz cocL & oLy
1X-a41vu P zocl X
ETEn oz roel X
1018 e oocL X 09SA
ans ¢z
X
3d a 66cL L1dv8zLiad
ano 'z .
>m_m_.w 0z 86eL V.mm HIH  OHTH {———x < H1d 9
61 " 110 11V NIFLOTSU g
OINMOWU 7621 oz €z
o gl 9 910 obv (£ INIEAY g
Ao 1L AR ££y 510 shv L2 IX-Q4LVu g
9l ) riv " W 38041SU g
aNo | gy %021 OHId  IH1d Q6 S6cLT 0017001 > lodviva g
9vlva v6cL & 0€ 6 lo:2lviva
vl g 8V m
ano ol . z€ | g v L V1va
Gv.Lva c6cL® | ¢ 9 ov1va
NS zl £ 1 og ov
b 2 € lsg v (¥ SY.LVQ
YYLVa AR o8 € YVLVQ
ans o 578 i EVLva
6 " € 1eq gy [-C L
eviva ° 1621 _ 8¢ | 7q A Zv1va
ans i . o | Vg v [6 LV1va
N<n.__.um 9 o6zl mV SLA Y w 0v.vd 1nv4u o
S 2 V1 2ZLA 1434 107S 9
Lv1va 6821 [ S
NS v A TN LY 3d o
¢ 0LA oY ASNg 9
ov.Lva z g8z X 97 | 61 oy & oSV o
ans ! v an ke
380Y1Su PR 8v i
vir mW
0SHO/dGL veen €YEN
260 T < yIago 9
g . 9 S v € z

6-14

CL-S621, CL-S621C & CL-S631



Chapter 6. Circuit Diagrams

t Diagram (Main PCB 13/13) [RS-232C/USB]

ircui

Cc

8 L 9 S 4 €
ETE]
“3)eg
v «9TLIINF/-61 LI/ w
uoisiney | +"60LI9NF/ - LZLIINF/-LOLIONI oquiny o215
(eL/el) asn/ Ozee-sy 'O NIV ZELoHAY
9La/mL o 71°
851_|
=1
€g6n 392N
318sn
zyvyag-asna
S o %LPOE 0g/dee
e b m 6L ==2010
20 ¢ |__ONDTESN OEELR 21020 4 8iiN dan g
Wz dd 6eELS  Cl0Z/ve gy LLLd MWW wan s
2on ) Q 8cel®  Zl0z/ve 9Lk "
OOA8SN Zeel X 10z/0 " GLid LA
orr 9zeL
ZELOHAYL ZELOHAYL
- ol
gzel
R v._H_. 906 N.._H_. 8 D> diNign g
A5 | ezel v
ey = a9zn 09zn
ZELOHAYL
[4
2619 ae [T . TS {Nogsn ¢z
W3rLivia zL
ZL0 v9zn
N £IEN
€HEN
31 0zezsy
A
1zeL X 0 "y
R%Eomm zAVSZT
zd1 \)O
M Wwv AdI1ezeel / N\
¥ )
o o aNO
o ot 8 ¢
FO O.HMA > ZON NQHS 13s3you  9TT
v /\ L0 0z
vee. $HI0 0g [0 I S FoN N =
oLy kLo oft A 12 ozy 0¥sal
Ol bl ] ¥sa 0zeL S 0 yp60ld T 6LeL® 6, Iy Oy |0 04SdT W |aXyuaTd ¢
PHGA 0 S S1D gleL X 0. 801 ETM S 00X 9
15 & € ozl 1zl 4 041a1 z
X w 4
Lo ol S LiEL 0. """ 01 | oreL 87 511 nllbe 0410 M 0axL ;
LTS ol¢ axy Giel X ] Il € 0axL
v ol< axt cleLX 0 PLEL,
0HSA N L AEE oLa/my 9 M oia/mi
904y 101D | - 0040
o W ol N A - a—TE ]
1d1 PHSA 49 0LEL,
S oL/ v M aLa/mi
= 660 860
moﬁH e Ml
29,
YHSA Ner
gzn oLami
169
eHEN
8 L 9 S 4 €

CL-S621, CL-S621C & CL-S631

6-15



Chapter 6. Circuit Diagrams

Circuit Diagram (Power Supply PCB (120V))

I © I o I
333
82222333
+ 500606+ + +
<
<
S
o |2z
2 H
8 S
R N o [ ]
= ©|a)
4n96 ASE ~ 515
. = 215
120 =) 2|0}
(¢
4nZZ ARG
i x
220 o
oSt Mz/L >
WA -
623 o
AL MZ
8ed an1'e AES ) u°la
AL MT it @
A €29 | o
Y 181 A9 [TTRER]
ey ek =2[s H
5
- r4
M maﬂ e ANBAES  IGL (o)
Lz wg o
3> s22 sed
2 .
. 3|,
= d S %ee LIA AT 23 K]
z < 2 VYW W\ YW @
SEays ;[ 5 e AL 9y
3 8Y¥8 8 o
£€ | R €
Wy A9
an1'e AES A
1 €y
4neest ASE 02
4
<
ANLOAES el
o1 1k A
i+ Wy
g8l ASE e we
%
iy AL
st aneesi A9l <
< 1ed
810 AT°Z M2/L Lid
Y
Wy ol
S oed RN 2601
8=sc m<;9 SVIEPILYL
&3 S23= (VBIHSOL)
@ P
W ™
% 5 £
8<% g oTs <3
3 £ © £
3 8 % 1S
] 33 E 39
& N 23
s g5 B 8
@ o o
ol8 83 1° g
RS 3 . e
oT I 8
3
8
b
b
ey 9
< | o Q o
E 4deeg| AQSZ b3
i us N
920 = S
(NOMLO) €84
= £OLY3H
2.3 Vi A8 Hg L AnEE ASE
SY3TE +
o188 2 = 9
oz ¥ S
9022 M2 oL ME zzeme
4deeLy AOES 1k WA WV
it el szy €2y
9 001 £e
W\ W\
82T M2 z2y 12y
Wy
13 anzze'e
m
i+
nazvzwmz I
n
o FLIN-FE
i+
5 [k}
g
20z
~Lx
Eer
ol
M
L1y
(NO¥103¥)
£01¥3H
ol Vi AGOZ
A >
WY bt
81y
€ Ay
M
Z1y N8 AEY
m
(SvSan3y) e
ABEE ABEE 1-9: A8 4nZZ B AE9
M M MA it
‘e i
€3 v 1az 63 6
A
ANIBAES €LY e
m A
i+ Wy
¥10 [T
(duvHs)
€213d o
[7!‘1 400G 1 ABST F
it N
X022 MZ/1 02T MZ/1 V:1id 1€9 =
W\ VWV +ad
83 oLy
4NBEE N8BT ANOEE ABOT
M P
) E)
178 z e N
& %Q
S _ W W &
g §.18
8 <
LANE 34 w0
¥38 3 3 2
FY-H b b
§23 & &
° 9-zee88rn 9-+0£2520 s
. v
U = U = v Uiy
5 5 1 E]
S x - < > ' 23
3 yis 928 | 238 o7 ~z8 : 93
? 2 . ' R
N N ve 9’1\/1\93I '
AL LS ’ T -
(enr 14 LMS
Eal il N
o | o

CL-S621, CL-S621C & CL-S631

6

L
o




Chapter 6. Circuit Diagrams

Circuit Diagram (Power Supply PCB (220V))

) | o | @ | <
I3
82222333
+ 0060606+ + + <
o
3 Y Y Y Y li 5
EHES o 2
—~|2z
L1l s Ss @
§ =)
N s
N ]
~ ™
4n9g AGE = 3l
“ 1= | S
) = @] (]
12 o] i
[S)
AnZZ AGS [14
9 + d - b
220 o
esl /L >
MA -
673 o
AZ | MT o
A =1
o€ 4An1'8 AE9 (2 8
AT | MT EQS |, §
hhdd AL a9 wies =
ey MA—e—MA =53
Wy W\ E
- ovd 14y
A . ANBAES gl (o]
L2y ug o
o= 34} sed
&
d S 10 LAA AT
2 | < 2 W VW W
a8all o 783 AL oey
SESy> @ ¥
z58Y¥8 & .
g S €
iy %99
4n1 e Aes M\
i £ed
4neps L ASE 620
a19 MNIBAES VBl
I+ A
4neeg | ASE e oy ©
+ "
st 4nees i A9l [
o 1y
610 2T Me/ Ld
M Y
Ll
> ocy alig el
8= SVIEYOLVL
T3 (vaiHsoL)
w =
§ g
LT F 3
Q T I
3 8 s
o é I ]
© RE o 3
w g2 2
P §
& 3% O e
8 83 2
| R g 8
S=% 2 4 2 0
3 ™
8 =z
o
T
= - g o
« T o o N Adaaglt ABSZ EN
P4 ” N
820 b —
(NOMLOZ) €84
< 2 L83
o8 4nge ASE
sy é% E 20 i
ezl 1 S
Jdezz M2 el ME zze Mz
4deaLy ABES it W AW
mn €10 g2l x4 <
99 (YAIHSOL)BLBEYST ool 6€
[~ V6 1006 M- AV
A iy zzy 12y
Y i nzze'e
AE'e mn
82T M2
61 rones
s (svsanay) M
\=L2ZH
L z10
bl b
20z —_—
L Sl
) 5822 &g
AV 8 g h o8>
= 2
L1y S|OBREET
(NOYLOR)
50 L3H NIF d
ol vi ABeT a0y ™
M >
LI €a
Ay
Wy
71y dne A9
1k
(svsana) oo
A0€E A0€E \-ezzH 1z’ 4nzzZ'0 A9
W W e W it
€d v 1z 63 6 —
Wy
anenes EH see
I+ A
i+ Wy
¥12 Ly
(davHS)
€219d o
v z
4deegt ABST
0y i =IN ~
%82 MZ/1 462 MZ/1 Viid 1€d
M M
W\ W\
23 oLy
4NBEE NOBT ANBEE AGBZ
£ E2y
17e [aNS] )
&
I
o & Y N -
2 8 8
8,18 .
I8 s > @
232 I
And ~ «
83
9-z8€88rN 9-v8€2520 oL
. AW
e s ] Y e N
S N - : §
b7y s S i 4 -~
] BESY ¥ | 238 s [zZR ' £n
Q i
z S S 2 g : 9 23
R N VG1'EL AGST '
[SS=Sy 19989, e - 7
ene 4 LMS
Al il
IND
o [3) | m | <

6-17

CL-S621, CL-S621C & CL-S631




Chapter 6. Circuit Diagrams

(Ope-pane PCB)

ircuit Diagram

Cc

8 L 9 S 12 € 14
Ag umeid |
10__jeaus |
v «0ZL99Nr
oy “oquiny
1INDJ¥ID ANVd-3dO
apL
05/doooL w
10€0 T
GEL-0L-9L-MSL € [
YO0SMS 809122
80€Y
SYEA
[so1s ]
[3snvd ]
0s/doooL w
90€0 T 05/d000}
S0€0
GEL-0L-9L-MSL € [ |_|
c0EMS  809LMiZT GEL-0L-9L-MSL €
L0ed zoems  809LPice
90ey
€YEA
CYEA
o 0g/doook w
y0€0
z T
GE1-0L-9L-MSL € [
LOEMS 809LMce
soed
[EER
SHEA
AN\ YILE-NWEZL
zL
L
oL
0s/doook 0g/dooo} 05/d000 3AQ0W 2 m
€060 == 20€0 10£0 —/ dO1S z J
3SNvd X 9
a334 X ps
[CERREE] X v
d31aND X ¢
1doLe 1AOLE 1aole 1doLe a31Lad x z
L0€Q Ay, Y0€A Ay, €0ea A, 20€Q Ay, |
1 L0er
yoeL ™ eoel ™ zoel ™ LoeL EHEA
¢hoe/ooe z102/09€ | 2L02/09€ | 2L02/09€ |
Loed yoed = €0ed = z0ed =
SHEA
[(@=¥) youeA |
(N3349) ¥3amod [ (@ONVHO0) NOILIANOD] [ (NIZHD) INId
8 L 9 S 4 € 4

6-18

CL-S621, CL-S621C & CL-S631



Chapter 6. Circuit Diagrams

Circuit Diagram (Reflective Sensor PCB)

8

L

Ra Umeiq |

=]

213

J0_jesus |

€002-70]

FZ_—%eq

v

uoisiney

«0EL99NI

Jequiny

w
ozig

L1INDYIO YOSNIS JAILOFH4TY

oL

dINOOO00} Ld
10GdL

i

=
R
dNONWOOLT®  —7

¢0sd

AN

AR

dINONINOOL 1O N

Losa

AN

1010-506LdHO

- N ® < ©0

LOSNO

CL-S621, CL-S621C & CL-S631

6-19



Chapter 6. Circuit Diagrams

Circuit Diagram (Transparent Sensor PCB)

° I ° I o I
<<
E s
D |2
O 2
4 .
o 3]
x 78%]
le) 5[5
3 2L
P4
w
(]
=
P4
w
|
5|
wn ©
Z 528
< [ES S
Eé 3
|
© o < |8
& R
g2
B '
Fo
]
x|
ol
>
'y
=
- o
1) 1%}
3 cao |2
° %)
=
w
@
o
[=) | [$) | %)

CL-S621, CL-S621C & CL-S631 6-20




Chapter 6. Circuit Diagrams

Circuit Diagram (Head Up Sensor PCB)

I ° I o I <
<
5
I
oc
= 5l&
& [2/9)
s}
o —
(]
1%}
4
w
n |
a | ¢
g;%‘é
< ES[S ™
DEL
~
F §}§E
_R
o o —
O]
o wn
€ NS 12
77 o
N
v z
NQ.
|( ©
I\
=&
§¢ L
|(
I\
<
(s
@
X
I
S Q.
2| rwe | 2 -
o »
N
-
%) [ %) [ <

6-21 CL-S621, CL-S621C & CL-S631



Chapter 6. Circuit Diagrams

(Ribbon PCB)

ircuit Diagram

C

8 L 9 S

™

Rg umeiq |
v/l __jo_jeaus | $002- 01
v 0-¥2299NM
wosiey Jsquiny
g90d NOogdld
opL
[N ]
3¥HJ-828

1-535¥86YY
ALSSEY 70 ane
ro.a 1dd ano mm:
08SA o3un
(o)
osod aLamL o | % ris'L 529 €8 lo]mo7
. i e agr 989 [1146IH
evil S bPAE wlpus! WpuIme;
A $ CIEN [vwlpuss | [vwlpumay |NMOQd
9L/mo} 054/nzz0 aLamy o Lm0
D M 9620 8.0 juaLnd Jojo Uoqay
Bo—7 *
ha g don  TEME 07 £EA |—| |_|
£EA dalsdL 57108
aLamio aLamio 7l OvLL
vEL0 €610 MUHIZZD go|casNas ke
9Lami0 8
[Joow puss ]
SiHd-gya |3SN3S
oy B
90ZMLZIN -
1. 3 00179001 119220 az1no selL
JOSUSS opIS puas. X v ¥ g J 9€EL. L
v ¥Z1N0 don )
ANHd-ara VoL 7| aiino  zaan |2 camLo
sozr T 6.1 8l | viino “aan 2 5210
VIZMIZIN t ZI (4 6L /\
V 5> asnas 001/d00t. 1 1€220 voIn fy 41-SSUS-H0ZNS
€ Vv x HLNgY 0z
Lm0 1eLL 62LL P o HLNGY
f79%) oy o LNONVS
£8EA 1-S3SY86VY 11010 o & i g SN3s
£8EA 0samLo €01 v SN3S
120 ==X gerr 5 o9 N [t NoLwA < o NOLWA
N VAN TTa 3 b NMOGd
02L0 o3un 9zLL o g dals
90ZMLZIN 22 7 Sson s g dia
A . ZI0EPSe oy X ezl v aLam o’ | %lpe it v d3ls
JOSUBS OpIS pUIMdY bl 99 NG 6120 6024 oL v ¥Ia
SSiHaara e veoin 13y T —12 ane
3 La¥any 1 H ASEF
osaones e 9L/moL 054220 ﬁE:S&:V&WEsS FE A P
- g X ‘ an
» v SNas oL 940 sk [ 510 eEn K ano
atamio T qon  Favie B $ |—| |_| it H ano
€0 TuIa L EYEN € AvT+
dalsdLL ot : AvT+
£8EA [oiow pumaey ] D SHL vhLL Ave+
SHHI-898 casNEs s NEH e NS+
g 1 Z
4 T D) HLNEY HPZA 05A
I
r eden ESNES
SEMOOL z
90L0 ZZ == 0Sd4/N2Z0 L 001/d004s %7020 gz1n0 S0LL
S0.0 [ ) 80/l VZL1NO 4ON
T OLL Tozr 0L 7 | aiino  zaan 2 camL0
iy 1 90L1 8L viino Caan 2 €020
* 20L1 B 6l
aar-T z0 00173001 12020 10N fy
0VE9HAO ml__ GAf 2 ou
1020 098/d000L = %00}
N |—| 1020 Lozd
0xveA
8 L 9 S 14 € Z l

6-22

CL-S621, CL-S621C & CL-S631



8 L 9 S 14 €
“Ag umeiq | ETE]
171 Jo waus | 002-AON-2Z__-@1eq
«"GVL9NI w
mmmmmm m Jequiny oz

g0d YOSN3S NOISNAL VS

SRL

Chapter 6. Circuit Diagrams

Circuit Diagram (Tension Sensor PCB)

1dOLE-TWS
N
L (zroz)oes 206 L06d Y 206d
SUEA 1060
» n
095S1dD M S dooot 0001 L4
L061d ANZON 2060 —— 1060 —— €
2
w - L
LOBND
SYEA
(moL/L)
(8091)%L 022
1064
UEA

CL-S621, CL-S621C & CL-S631

6-23




APPENDICES

AP-1 CL-S621, CL-S621C & CL-S631



APPENDICES
TABLE OF CONTENTS

A, External Size Diagram .........ooouuiiiiiiii e AP-3
B.  MoUNtiNG DI@gramS. ......coeiiiiiiiiiiiiiiiiiiii ettt nnnnne AP-4
B-1.  Main PCB ... AP-4
B-2.  Power SUpPly PCB (120V) ..uuuiii e AP-5
B-3.  Power SUPPlY PCB (220V) ...ttt AP-6
B-4.  RIbDON PCB..... AP-7
B-5.  0pe-pane PCB ... AP-7
B-6.  Transparent SENSOr PCB..........cooiiiiiiiiiie e AP-8
B-7. Reflective SENSOr PCB ..o AP-8
B-8. Head Up SensorPCB..........cooiiiiiii AP-8
B-9.  Tension SensorPCB ... AP-8

CL-S621, CL-S621C & CL-S631 AP-2



A. External Size Diagram

A. External Size Diagram

Unit: mm (inch)

— 0000000000000000000000—

Approx. 263 (10.3)

L | -

o 0o

t
Approx. 289 (11.4)

1 o = =4 )’

Approx.231 (9.1)

AP-3 CL-S621, CL-S621C & CL-S631



B.  Mounting Diagrams

B. Mounting Diagrams

B-1. Main PCB

] Al

olEZRs1

¢]
1 23
000000000007 @z
2I]I]I]I][II}Ii]I]I]I][[Il-—l B

24

DA A A

R A

CL-S621, CL-S621C & CL-S631 AP-4



B.  Mounting Diagrams

Power Supply PCB (120V)

B-2.

€]
RZTRM Clé . R FBZ
E CAUTION: o o~ (8 250V
OE FOR_CONTINUED PROTECTION AGAINST RISK ._ _<_ @ @ @ _w Om SRR == Sy RI @ Q
(207 ] OREE (PRAGE QLY WITH SA'E TP - IR SIS s 3
c4LKr1o2m | AND RATING OF FUSE. \ |5 o 3
o -~
o R62 IC32
O B:t]| [k 7 o GO 2 | Eman M~
B = . (o [t0ad]eav| 2 - 2 m S
g | ~ 0. 22uF v [224d]e3v] A @mn SIS
Q o |8 | ey @ 2523046 uJBB302-G R ﬂm.,_ N (752911-G 102 m
R || o g e mwg REV:x &) s
o Ji = . R33 VR1
@ HER103 R36
Tz 71 B e UL MARK
e L4 7 18 ———— HER103 ——7
Swi L3 P RIB (loo) — | [% IC31 FAQVT . EEE)
c s Ry mvma Reo (25 [104u]63v
+ w || ol
I R 7 ™ = 5|\Y 47 r29 5 R (303D
! S > 28 12 \2/(23
< S it - V84 gy m m 63v[104J | 5
= |S rl G (2)
3 3 R36 @
2 39@@ C752305-G (o Ry
& - |% .
=1k
2 o R27
_ 2 n ” (5.1 T i -
L ¥ ~
_ DSt f S
w
G 200V 330uF B
| s
HS1
[ W con o — A N Lo oV S vt VIS D oo sy N -
3.5x3x1.3 ©
Ho2 BPR26 0.220J ) 0z
Q Q — 3878 alRr19 200L 7 Q
O - EASTERN CO.LTD MADE IN CHINA 2cz47A

CL-S621, CL-S621C & CL-S631

AP-5



B.  Mounting Diagrams

Power Supply PCB (220V)

B-3.

[0, ] CAUTION: R v
OE FOR_CONTINUED PROTECTION AGAINST RISK ._ _<_ @ @ @ _w KX152M & @ Q
H OF FIRE_REPLACE ONLY WITH SAME TYPE -
c4l_kH1o2M | AND RATING OF FUSE. —= o 2
= EN _GN
O 2/ i3 3 iz [oadlgs| = | EEdon ™
o Io &N R2 Iy} R30
o ey (o [1040]e3v| < - m -
2 9 - 0 BauF 9 [eead]eav| ~ g|Rr12 all=
N | 3 Ic1 24
Q 3 mm 275V @ CZ52304-G Cmewome R9 @ ﬁNwNG\_\_lm 102 m
A | 0. 47UF - 701 IINmo wms REV % =) N
O U 7 s . VR
T lis 71 2 HER103 UL MARK R33 R36
[T w o
e - L4 8”\ 11 s . JER103 |xw%§
SW1 L3 % R (1000) — % _mwa O!| 032
At oY 25 [104J]63V
¢ % @ w |FeEoER L
I *%% 7 o =5 8K rao (3039
o m % ZA 1/2 23
s S it - V& m\.' i al 63v[ 104J | 5 ©
s |3 EINETD @
3 S 1044 |20 o
3 w3 3w o ros [104J]C A %
B 39@@ CZ52301-6G 0 m%@
- ! i (20
O 215
9 @ R27
& I 5.1 T A
3
<
DSt 0 ; S
200V 330uF g -
| : A g
»n
HS1 4
N_ O\ oy 1000 oL | kxisew L) pyg \100) | - 3
. o
2 BPRZS 0. 220 |R2 S E 1800UF S
@|R19 2000 Q N
k3878 ©
Q O - EASTERN mo LTD MADE IN CHINA C 2C747A 7 3
-~
_ o
-
(9V]
©
@
-~
O



B. Mounting Diagrams

B-4. Ribbon PCB

JMB6 <::> :
JME6306-00F E
PWB (RIBBON PCB) Rev0.0

B-5. Ope-pane PCB

[Parts side] [Solder side]
D301
S
T
o
Se) ;
=
~__ D303
7 (KISS 17
MOS CAUTION | () ONC &
. . . &

[PausE]
FEED
STOP

MADE IN JAPAN

WWoyd—

| 2@

- =
® O
© % MODE N

%

AP-7 CL-S621, CL-S621C & CL-S631



B. Mounting Diagrams

B-6. Transparent Sensor PCB

B-7. Reflective Sensor PCB

sls[sE

A A EF
D501D502 O
O O O O O

CN501

B-8. Head Up Sensor PCB

B-9. Tension Sensor PCB
[Parts side]

P902 ©  R90DIRY02 ' ’
©4©©©@@EE//
CN901C902 P901 ©

[Solder side]

© 0000 E%

CL-S621, CL-S621C & CL-S631

AP-8




CITIZEN SYSTEMS AMERICA CORPORATION
363 Van Ness Way, Suite 404

Torrance, CA 90501. USA

Tel: (310) 781-1460

Fax: (310) 781-9152

http://wwwcitizen-systems.com

CITIZEN SYSTEMS EUROPE GmbH

Mettinger Strasse 11 Park House, 643-651 Staines Road
D-73728, Esslingen Feltham, Middlesex, TW14 8P A
Ger many United Kingdom

Tel: +49(0) 711 3906 420 Tel: +44 (0) 20 8893 1900

Fax: +49 (0) 711 3906 405 Fax: +44 (0) 20 8893 0080

http://wwwcitizen-eur ope.com

CITIZEN SYSTEMS JAPAN CO,, LTD.
6-1-12, T anashi-cho, Nishi-T okyo-shi

Tokyo, 188-8511. Japan

Tel: +81 (0) 42 468 4608

Fax: +81 (0) 42 468 4996
http://www.citizen-systems.co.jp



	GENERAL CONTENTS
	CHAPTER 1 SPECIFICATIONS
	Contents
	1-1. General Specifications
	1-2. Printable Area
	1-3. Printing Position Accuracy
	1-4. Adjustable Sensors

	CHAPTER 2 OPERATING PRINCIPLES
	Contents
	2-1. Operation of Each Mechanism
	2-1-1. Locations and Functions of Motors, Sensors and Thermal Head
	(1) “Unit, Ribbon” section
	(2) Printing section

	 2-1-2. Media Feed Mechanism
	 2-1-3. Label/Tag Detection Mechanism
	 2-1-4. Printing and Ribbon Feed Mechanism
	 2-1-5. Print Head Up/Down Detection Mechanism
	 2-1-6. Head Balance Adjustment Mechanism
	 2-1-7. Media Offset Adjustment Mechanism

	2-2. Operation of Control Parts
	2-2-1. Configuration of Printer
	(1) Filter & power supply section
	(2) Main PCB
	(3) Operation panel
	(4) Thermal print head
	(5) Sensors
	(6) Motor
	(7) Serial I/F (RS-232C)
	(8) USB (Universal Serial Bus) I/F
	(9) Parallel I/F (IEEE1284) (Option)
	(10)  Ethernet I/F (Option)

	2-2-2. Operation of Control Unit
	(1) Block diagram
	(2) Memory map
	(3) Sensors
	(3-1) Head up sensor
	(3-2) Transparent sensor and reflective sensor
	(3-3) Tension Sensor F/R
	(3-4) Head temperature sensor 
	(3-5) PF motor temperature sensor 
	(3-6) Ribbon motor temperature sensor 

	 (4) Drivers
	(4-1) PF motor driver
	(4-2) Ribbon motor driver
	(4-3) Head driver
	(4-4) Buzzer driver
	(4-5) Fan driver

	(5) Other circuits
	(5-1) +3.3V/+1.5V circuit
	(5-2) Reset circuit
	(5-3) Clock circuit
	(5-4) Ope-pane circuit
	(5-5) USB I/F control circuit



	2-3. Operation Panel
	2-3-1. External view
	(1) Keys
	(2) LEDs

	2-3-2. Operation using the keys
	(1) Normal operation
	(1-1) Sensor adjustment mode
	(1-2) Menu setting mode

	(2) Test mode
	(2-1) Self print mode
	(2-2) Hex dump mode

	(3) Factory/Service mode
	(3-1) General
	(3-2) How to enter the Factory/Service Mode
	(3-3) Factory/Service Mode menu table



	2-4. Interface
	2-4-1. Serial Interface
	(1) Specifications
	(2) Signal line and pin assignment
	(3) Protocol

	2-4-2. USB Interface
	(1) Specifications 
	(2) Signal line and pin arrangement

	2-4-3. Parallel Interface (Option)
	(1) Specifications
	(2) Signal line and pin assignment
	(3) Parallel port status signals when an error occurs
	(4) Compatible timing specification


	2-5. Power Supply
	2-5-1. Block diagram
	2-5-2. Block A (Noise filter circuit and rush current preventing circuit)
	2-5-3. Block B (Current smoothing circuit)
	2-5-4. Block C (Converter and driver circuit)
	(1) Converter circuit
	(2) Driver circuit

	2-5-5. Block D (Output circuit)
	2-5-6. Block E (Control circuit)


	CHAPTER 3 DISASSEMBLY AND MAINTENANCE
	Contents
	3-1. Maintenance Precautions
	3-2. Cleaning
	3-3. Lubrication
	3-3-1 Lubrication frequency
	3-3-2 Types of lubricant
	3-3-3 Quantity of lubricant
	3-3-4 Bond

	3-4. Maintenance Tools List
	3-5. Disassembly, Reassembly and Lubrication
	3-5-1. “SA, Top Cover Base”
	3-5-2. Case U 
	(1) Removing the Case U without detaching the “Unit, Ribbon” (Normal way)
	(2) Removing the Case U after detaching the “Unit, Ribbon”

	3-5-3. “SA, Fan”
	3-5-4. Ribbon Gears
	3-5-5. “SA, Ribbon Motor F/R” and “SA, Ribbon PCB”
	3-5-6. “Catch, Ribbon Holder” and “Knob, Ribbon Unit”
	3-5-7. “Unit, Ribbon Sensor F/R” and “SA1, Ribbon Unit Base Plate”
	3-5-8. “SA, Ribbon Tension Shaft F” and “SA, Tension Sensor”
	3-5-9. “SA, Ribbon Tension Shaft R” and “SA, Tension Sensor”
	3-5-10. Main PCB Block, “Unit, Power Supply” and “Unit, Control Panel”
	3-5-11. “SA, Main PCB”
	3-5-12. “SA, Ope-Pane PCB”
	3-5-13. “Unit, Mechanism” and Case L
	3-5-14. “SA, Platen”
	3-5-15. “Unit, Sensor U”
	3-5-16. “SA, Head Up Sensor PCB”, “SA, Transparent Sensor PCB” and “SA, Transparent Sensor Cable”
	(1) “SA, Head Up Sensor PCB” and “SA, Transparent Sensor PCB”
	(2) “SA, Transparent Sensor Cable”

	 3-5-17. “Unit, Head-TT” and “Unit, PF”
	 3-5-18. “SA, Head”
	(1) Head SA block
	 (2) “SA, Head”

	3-5-19. “SA, Head Adjust” and “Cam, Head Balance”
	3-5-20. “SA, Motor”
	3-5-21. “SA, Reflective Sensor PCB”
	3-5-22. Gears
	3-5-23. “Lever, Head Lock” and “SA, Main Plate R”
	3-5-24. “Frame, Main”, “SA, Main Plate L” and “SA, Plate Peeler”

	3-6. Adjustments
	3-6-1. Transparent/Reflective Sensor Position Adjustment
	(1) Sensor position adjustment (factory mode)
	(2) Sensor sensitivity adjustment (maintenance mode)
	(2-1) Preparation
	(2-2) Adjustment procedures


	3-6-2. Ribbon Slant Elimination Adjustment
	(1) Ribbon slant elimination adjustment (For user)
	(1-1) Ribbon slant elimination adjustment for user (FRONT)
	(1-2) Ribbon slant elimination adjustment for user (REAR)

	(2) Ribbon slant elimination adjustment (For service personnel)
	(2-1) Tension base adjust cam position adjustment (For service personnel)
	(2-2) Ribbon guide position adjustment in the “SA, Head” (For service personnel)


	3-6-3. Ribbon Tension Adjustment
	3-6-4. Maintenance Information - Head Adjust Shim


	CHAPTER 4 TROUBLESHOOTING
	Contents
	4-1. Error Message and Corrective Actions
	4-2. Troubleshooting
	4-2-1. Problems in Powering Up the Printer
	4-2-2. Media-feed Problems
	4-2-3. Problems in Printing
	4-2-4. Ribbon-feed Problem
	4-2-5. Sensor Problems
	4-2-6. Operation Panel Problems
	 4-2-7. Connector Location


	CHAPTER 5 PARTS LISTS
	Contents
	Recommended Spare Parts List
	Drawing No. 1 Parts List & Location for General Assembly
	Drawing No. 2 Parts List & Location for Unit, Base
	Drawing No. 3 Parts List & Location for Unit, Mechanism
	Drawing No. 4 Parts List & Location for Unit, Head-TT
	Drawing No. 5 Parts List & Location for Unit, PF
	Drawing No. 6 Parts List & Location for Unit, Sensor U
	Drawing No. 7 Parts List & Location for Unit, Control Panel
	Drawing No. 8 Parts List & Location for Unit, Ribbon
	Drawing No. 9 Parts List & Location for SA2, Ribbon Unit Fan
	Drawing No. 10 Parts List & Location for Accessories

	CHAPTER 6 CIRCUIT DIAGRAMS
	Contents
	Inter Connection
	 Circuit Diagram (Main PCB 1,2/13) [CPU (1/2)]
	 Circuit Diagram (Main PCB 3/13) [CPU (2/2)/DAC]
	 Circuit Diagram (Main PCB 4/13) [ROM]
	 Circuit Diagram (Main PCB 5/13) [RAM]
	 Circuit Diagram (Main PCB 6/13) [Custom IC]
	 Circuit Diagram (Main PCB 7/13) [Head Control]
	 Circuit Diagram (Main PCB 8/13) [PF Motor Control]
	 Circuit Diagram (Main PCB 9/13) [Sensor/Ope-pane]
	 Circuit Diagram (Main PCB 10/13) [Power/Buzzer]
	 Circuit Diagram (Main PCB 11/13) [Unit, Ribbon]
	 Circuit Diagram (Main PCB 12/13) [IEEE1284]
	 Circuit Diagram (Main PCB 13/13) [RS-232C/USB]
	 Circuit Diagram (Power Supply PCB (120V))
	 Circuit Diagram (Power Supply PCB (220V))
	 Circuit Diagram (Ope-pane PCB)
	 Circuit Diagram (Reflective Sensor PCB)
	 Circuit Diagram (Transparent Sensor PCB)
	 Circuit Diagram (Head Up Sensor PCB)
	 Circuit Diagram (Ribbon PCB)
	 Circuit Diagram (Tension Sensor PCB)

	APPENDICES
	Contents
	A. External Size Diagram
	B. Mounting Diagrams
	B-1. Main PCB
	B-2. Power Supply PCB (120V)
	B-3. Power Supply PCB (220V)
	B-5. Ope-pane PCB
	B-6. Transparent Sensor PCB 
	B-7. Reflective Sensor PCB
	B-8. Head Up Sensor PCB
	B-9. Tension Sensor PCB





